et

S—

, ©

X1

Haryana Police Constable 1 Nov 2021
Goods which are consumed together aré called

(A) Consumer goods

(B) Substitute goods

(C) Capital goods

(D) Complementary goods

World Water Day is celebrated every year on
(A) 22 March (B) 22 February

(C) 30* May (D) None of the above

Some boys are sitting in a row. P is sitting
fourteenth from the left and Q is eighth from
the right. If there are six boys between P and
Q, how many boys are there in the row ?

(A) 28 (B) 30

(C) 26 (D) 27

Recently, a new digital payment mode was
adopted which is person-specific and purpose
specific payments system. It is

(A) e-RUPI (B) BHIM
(C) CLASS (D) e-RUJU
Dog : Kennel :: Horse : ?

(A) Shed (B) Aviary
(C) Farm (D) Stable
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Morning (13} Paper) ot
L T H1Y @9
(Aﬁnﬂmaﬁﬁ' Bl i
(B) Nfcreermaa aeqd
(C) Ysft awqd
(D) 3y FEq¢
2. ﬁamﬁmmmmmmg?
A) 229 B) 22
(©) j;a; & (D) Sem & 3 7
8. FIBWF FURANRE IPaALT o w
IR | ad =
%nggﬁaﬁﬁ,a}ﬁggﬂ?g{?mgz
(A) 28 (B) 30
© 26 D) 27
4. T H, & T Rsfledt a1 adsn g
wﬁ%sﬁwﬁ%ﬁr&maﬁmﬁﬁmm%l
I8
(A) e-RUPI (B) BHIM
(C) CLASS (D) e-RUJU
5. W:Qﬁl—m::tﬁ?ﬂ:?
(A) 3 (B) u&ftene
(C) B (D) 3=

The far point of a myopic person is 80 em
in front of the eye. What is the nature and
power of the lens required to correct the
problem ?

(A) +1.25D, convex lens

(B) —1.25D, concave lens

(C) +0.8D, convex lens

(D) —0.8D, concave lens

KYC compliance is a mandatory exercige
under the prevention of

(A) Money Laundering Act, 2000

(B) Money Laundering Act, 2001 >
(C) Money Laundering Act, 2002 %L A
(D) Money Laundering Act, 2003 .

Consider the following statements a i
Health Card Scheme. bout Soil

a. Itisa Gment of India’s scheme
promo Y C e Department.of .
and Co-operation under the mmmre
Agriculture and Farmers Welfare,

b. It is used to assess the current statug of
soil health and when used over time, to
determine changes in soil health that
are affected by land management.

(A) Only the statement a is correct
(B) Only the statement b is correct
(C) Both the statements a and b are correct

(D) None of the above

6. =9 % guy U e gfee Ay goa =ufd &
fag 80 @. . ? | swm i W 1 & forw |
o i wpla i iR 7 @ 7 |
(A) +1.25D, 391 &4 ‘
(B) —1.25D, 37aqe o |
(C) +0.8D, 30 o™
(D) —0.8D, 3Tl oY

7. %.9%.H. e i l
|
P

A & ded T AER NI R |
(A) Ty AffEm, 2000
B) TNy AfrfEm, 2001

(C) wmsiyw rfrfem, 2002

(D) w=mYT Iffgy, 2003

8. TR WREY TS ol & 9N & fFwferiad HAl
mﬁwﬁgﬂt 3+ s gt o0
. TR sieta
: w@ﬁmﬁga@%mmﬁ

T 71 .
b. ﬁg‘mﬁmaﬁaﬁm@ﬁm@ﬂ

IR FEY ¥ I JAN 9v=g Ja e
i it Y % fora, S o T
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Che L |
(D) I 4 A g 7Y
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9.

10.

; 11,

Directions (12 - 14) : Read the following
information to answer the questions given below.
Eight students A, B, C, D, E, F, G and H are
planning to enjoy car racing. There are only two
cars and following are the conditions :

i

I1.

III.

IV.

12.

18.
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A boy rode his bi
18 bicycle north

::frtned left and moved 1 km and :;; ds, thep

: and rode 2 km. He found himaelllt} o

ne km west of his starting point, He Xactly

did he ride northwards initially 9 k.

(A) 1km (B) 3km
© 2km D) 5km

CMOS stands for
(A) Cathode Metal Oxide Silicon

(B) Complementary Metal Operating Silicon
(C) Cathode Metal Operating Silicon
(D) None of these

Within the meaning of provisions
Section 41 C(1) of the Crfminal Proclelggf':
Code every State Government shall establish
a Police Control Room (PCR) in

(A) Every district

(B) State level only

(C) Both district and at State level

(D) State Secretariat only '

One car can accommodate maximum five
and minimum four students.

A will sit in the same car in which D is sitting
but H is not in the same car.

B and C can’t sit in the same car in which D
is sitting.

F will sit in the car of four people only along
with A and E but certainly not with G.

IfE and A are sitting in the same car, which of
the following statements is true ?

(A) B is sittingin the same car

(B) Five students are sitting in the same car
(C) G is not sitting in the same car

(D) Fisnot sitting in the same car

Which of the following statements
is superfluous for the above sitting

9
arrangements ? ®) Only!

A) Only II
EC) Only IV @y oy i

EERE

RwfdEw 12 - 14) - R A B g i
ey offt = fw eyl & I At
e faeneff A, B, C, D, E, F, G 3 HFR e

:ﬁgﬁaéﬁﬁmw%% | Sheet &1 i & 3R Rrferiaa
|

II.

111,
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g o 1 e, . <7 SRR and s o fo o
el | 36 T AT I e % ofeem F
w .. I | S IW A R et =
arfeRd ? =
B) 3 &,

) 1fmH.

©) 251 D) 5 5.,

CMOS & foTe o 3

(A) U Tea s ey

(B) Hiciet Heat TR Risfiei

(C) FHte Hee ATRET Riefwia

©) T A HE T

%g fshar afear it 9rT 41 & (1) & q8q yrausi
F o7 & Harld, TS T §&N i
& gfera Frmor et (defom) il woft |

) | =
g}%ﬁ FHC
L)

(B) %adl T &
g

10.

11.

(C) BT forer R Teg ' W
@) Fa TF Gfeare™

A DEBE HRCEG

L. o %R H stftepan aie afk =gan ww foereff an
T § | “

A 34t R H =3 fored D o1} g H I FR
LR

B 3 C uep ot o 3 e o wr) o D 3 |
FaR & arefl s 3 93 Sae A 3iE & a1y
A R s d 6 & e |

R E 3 A s @ wwd 8 €, Peafafaa § @
FH-T FYyT e B ? 4\;:5’\”’\1

@ BRiTRAdmAR  ©
(B) gteli faremoff st s A 43 & ~

©) GIfimrAadida1 2.

(D) F 3t %R & 7 A1 8

IR Yo gy gay A FERied § A HH-T
T Affe R ?
(A) e 11

(C) Faer 1v

(B) ae [
(D) Fae 1
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IfH and G are sitting in the the same car ?

other two students sitting in

dD
(A) Band C (B) Ban
(©) CandD (D) Eand B

India’s tax system is regressive with heavy
dependence on

(A) Loans

(B) Direct tax

(C) Indirect tax

(D) Commercial tax

Find the value of X.

(A) 299
(C) 298

(B) 399
(D) 308

The sides of a triangle are in the ratio
111

and its perimeter is 104'cm. The

2 3 4

length of the longest side is

(A) 52 cem (B) 48 cm Egam
(C) 32 cm D) 26 cm %}:‘]

South Asia Seas Programme (SASP) wasg
adopted in

(A) 2000
(C) 2010

(B) 1995
(D) 2001

The long ridges of deposits of glacial till ig
called as

(A) Moraines (B) Eskers

(C) Cirque (D) Drumlins

“Climate Change 2021-The Physical Science
Basis” presented by

(A) Intergovernmental Pane] Climate
Change (IPCC)

(B) World Trade Organization
© UNESCO
(D) UNICEF

14,

16.

16.

17-‘

18.

19.

20.

Mg g,

T A e -y, iy
(A) B3R ¢ (B) B
(C) c3D (D) Em
‘ﬂmiﬁaﬂ'm______'q;m
Frofear & w1y srgm 2 |
(A) =
(B) ToI&1 T
(C) TR T
(D) arforyes
xamm:lsﬂazvj\f[
. %
%> 4 |
o & &
Yol fat
3 §° »
299 - |
(C) 298
T By & yeieHt @ siguE : *
THH! TRATY 104 At R | Gord) el g ) ke ;
(A) 52 st ®) s8¥l {
() 32 A D) 26% |
<firon v T v g A ?
TG ° g | ;
(A) 2000 B) 199 |
(© 2010 (D) 2001 |
Rt % et o et sy e €
&) Hrrsg ®) ;
©) b @) F
“FAEHE T 20212 Rpsfiape AR AT —
(A) TR e gl (T A
B) 73 33 AArfamsivm
(C) UNESCO
(D) UNICEF
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21.

unit performs the arithme Bong
operations on the data made aVallable

(A) Input unit

(B) ,StOrage Unit
(C) Output unit

D) ALy

In this question, two statementg gy, givs
followed by two conclusions. Chooge thz
conclusion(s) which best fit(g) logically.
Statements : X
1. Some plants are trees
2. Some leaves are trees
Conclusions :

22,

\: @ruﬁa‘“
I. Some leaves are plant
II. Some plant are not tree
(A) Only conclusion II follows
(B) Only conclusion I follows
(C) Neither conclusion I nor II follows

2 (D) Both conclusions I and II follows
0|

23. The eighth term of the G.P. \% f
3v2,3J6 s Q_I—ﬂf 26
@A) 2742 ®) 96
© 276 ) 27

Mass of living matter at a trophiclevel in an
area at any given time is called

24.

(A) Primary productivity
(B) Secondary productivity
(C) Standing state

(D) Standing crop

Who was known as the founder of the
Mamuluk ?

(A) Ala-ud-din-Khilji

(B) Iltumish

(C) Jalal-ud-din-Khilji

D) Qutub-ud-din Aibak

ggificatio?
Which of the following i8 not a ctl:boal' i7
tronic whi )
of the interactive elec

(A) Touch-based whiteboard

26.

26.

(B) Pen-based whiteboard S hi
(C) Wii Remote, IR pen- -base -
(D) Flat bed whiteboard

21.

22.

23.

24,

25,

26.
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3 4% |

2. gwﬁmq&!%p
e

1. $ ufeai A E |

I1. %5 MY g& 71 & |
(A) Faa fresd 11 g
B) Fad frehd I 1gawr wwar

(©) 7 fsehd 19 & 11 erge e & :

(D) A Freard [ o 1T orgerw a8 =
GP. V2, %/g» 3J2, 36 ® EEi W& 2w
r

o Feegr=g NRXE
A) 272 ®) 9\/6

©) 276 ) 27

et fow v v A o 87 @ @ wOw S
9aref &1 R R

(A) i Ieqreen

B) fedtae searemrar

(C) Tuwft feufa

(D) et waet

BN AT % e & w7 o 7
(A) e-3Ig-fea-figesh

(B) segfim

(C) vieTTer-3e-fem-faesit

(D) Fge-3e-fod Uurep

Frafifaa § @ A19-2 T SR gl
¥ 15 o i T E 7
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30. What is liberalization of foreign trades ?
A) The removal of trade barriers and
restrictions set by the government on
foreign trade

The introduction of barriers and
restrictions set by the government on
domestic trade

(C) The introduction of barriers and

restrictions set by the government on
foreign trade

(D) None of the above

81. In Cyber Law terminology ‘DDeg’ means
% (A) Distant Operator Service

None of these

Modem ig
(A M

32, acronym fop

odification — de-modiﬁcation

217,

28,

29,

30.

31.

32.
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33. The port which is also®fiown as

‘Deendayal Port’.

(A) Chennaj
(C) Kolkata

(B) Kochchi
(D) Kandla

54 2.70x 2.70 4+ 4.30 x 4.30+8.60 % 2.70 5

270+ 4.30
@) 638 (B) 7.0
) 76 D) 8.5

35. Which enzyme de grade the Cellulose ?

(A) A?tnylases (B) Cellulases
(C) Lipases (D) Lactases

identifies the text, links and
other content in the page and stores it in the
search engine database’s files. So that the
database can be searched by keyboard.

36.

(A) Table

(C) Indexing
RRE
37.

A technique in which the results of virtually
all previous studies on a specific subjeci_; are
evaluated together

(B) Inbox
(D) Draft

(A) Systematic analysis (B) Scoping analysis
(C) Realist analysis (D) Meta-analysis

38. The number of straight lines that ;ar};i bﬁ
formed by joining 20 points no three4o ghein
are in the same straight line except 4 0

which are in the same line

(A) 183 (B) 186
(C) 197 (D) 185

89. Viticulture or grape cultivation is a speciality
of the which of the following region ?
(A) Temperate ®B Meda:terTanean
(C) Arid (D) Semi arid
538621 7

. 421
40. Inthe series 6412287 £ successive

1413286howmanypairso e
numbers have a difference of 2 eac

A) 4 ® b

o) 7
(C) 6 go

83, dg seUTe PR dHedTe SeUR ¥ A A oft ST

S@re | .
5 (A) ¢ (B) wife ’V%
& © FITRT (D) e a
2.70%2.70 + 4.30x4.30+8.60x2.70
8 2.70 +4.30 -
(A) 6.8 B 7.0
(©) 7.6 D) 85

85. FI-T1 TSEH VogeisT T Wi H FaT & 7

3

A) THTZES (B)
EC;H@H (D) gggq
36. U | 2w, fore ot arg ammft €
! TEEH FaT & 3R T S5 Seed i GiEe
# HeTRa StaT § A1f Sered #i FiaiE gr @ie
ST |
(&) 2 ®) FEiE
©) F=fRT D) TR

87. uh Uelt e Forad et RifRree Rreg s e

ﬁaﬁmm&mm@mm
R smar @ |

38. 20 forgelt =t et @ = vt e Yot
S, ST Q 4 ) S i o v A 8

T O wfteft Y o e &
B ®) 186 -
(0) 197 D) 185 C//-‘.\QK\
3. Nmem
ARHadt o A g ay ¢
I fadtear 2 7 1
(A) wqsfigivor B) HHETHY iz
Vs ©) % g .
40, iﬁmulzzs7glﬁ&62
: 1714132
869wt wmed &
A4) 4
C) g ®) 5
D) 7
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47.
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jon more Joans

t
e pan what the

a
Commercial Banks 8 i i
and advances 10 the pu

economy needs. It lead
(A) Currency inflation
(B) No inflation

(C) Credit inflation |
D) Deficit-induced inflation

s to

The animals which havelthe ability
to change the colour t0 hide them
from their enemies (camorgﬂagG)
This protective coloration 18 called

(A) Adultry B) Comn;nentry

(C) Mortury (D) Mimicry

The Keoladeo National Park is in the State of
(A) Gujarat

(B) Himachal Pradesh

(C) Uttar Pradesh

(D) Rajasthan

Sickle cell anemia is due to

(A) Mutation (B) Evolution
(C) Recombination (D) Transformation

is the In-charge of a zone, which
comprises few ranges.
(A) Inspector General of Police
(B) Deputy Inspector General of Police
(C) Senior Superintendent of Police
(D) Superintendent of Police

is used to communicate with the

computer by pointing to locations on the
monitor screen.

(A) Pointing device
(B) Wireless device
(C) Network device
(D) None of the above

Gradual increase in the average temperature
of the earth’s lower atmosphere is known as

(A) Ozone depletion
(C) Greenhouse gas

(B) Deforestation
(D) Global warming
The Constitution of India was adopted on
(A) 26" November 1949

(B) 26 November 1952

(C) 26* January 1951

(D) None of the above

(A) T31 whify
(B) THy T
(C) = whife
(D) =1r-3w whify
12. T fia o gt (o) & o 3
R R | 5
A) i (B) Fdt
(C) wigh ) P
43. e T ITH fra T iR ?
(A) TSR
(B) fewre yeu
(C) I T
(D) TSIed™
44, %Wﬁmal
45.
46.
47.
45, TEF
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’”ﬁa"i?;fxilﬁgﬁ ¥ N 49 ’f502 3,71,114, 1857
49- 15; Jy T, 1 1, ] )y 4 W ! ! M
Which numbell(' Qwill come in the place of .2 5 8 F T WA - gegy a7
questions mark ! A) 256 ®) 299
B “(DE )] 33? Ec; 351 D) 581
v s 3 ooy RO e R o |
50. Reproduction through spore formation is 50, —— e
common in @ . (B) Waian "
(A) Fungus (B) Protozoa © D) e 6
(C) Bacteria (D) Arthropoda e
51. The world’s oldest existing books printed 51. = m@ﬁﬂﬂ?ﬂﬂﬁﬁﬂﬁﬁfl]ﬁhﬁﬂtﬁﬁ@ /%
with movable metal type NISED oy {ﬁ?ﬂ\—§ 9{
(A) Emaki (B) Ukiyo-e (a) T h <,
(C) Biblia Pauprum (D) dJikji (¢ fafseran argw™ @) <1
52. If 22.5 meters of a uniform rod weighs 52. afe 22.5 W TH GHIH ©S I I 85.5 ‘%ﬁlﬁ?lﬁ /CT :
85.5 kg, what will be the weight of 9 meters 2, it 3 YR &F g IABS H aﬁlﬂg:;m g
of the same rod ? - (B) 38.4 /1
k (B) 38.4 kg (A) 42 .
%)) ﬁzgkg (D) None of these (©) 34.2 fm (g) AT e
|
53. POP stands for 58 POP _% ferq amar &
(A) Post Operation Protocol (A) UL AT mai:ﬂa
(B) Post Office Protocol (B) Tz 6w SeFhTe Wi
(C) Proper Online Protocol (C) SR ATTeET S rAC A
(D) Post Online Protocol (D) G AT 41 G Al
54. The term Secularism is first used by the | 54, Fugmfgn wss F WM gavem fftw AE®
" British writer in'1861. : Y 1851 % e o |
(A) George Holyoake (A) TSt Breftatih
(B) C.S. Lewis B) . vy, dfe™
(C) Kazuo Ishiguro (C) Fraf IR
(D) E. M. Foster O®) §. T, BRA
<5, ‘Which shows maximum catenation Property * | - 55, @ia_qy yiftrers et I w7
(&) Si (B) Se T (A) Si @®) Se
© ¢ (D) Te ©) ¢ ) Te
! - form a cube, 5 aﬁ%ﬁqtﬁgw
56. When the given figure is folded to foriZ.{ 6. S T T ?
which number will not be adjacent to 2’ ? 2 ay ﬁq_:?ﬁ' ‘o 3 HEA ﬂﬁiﬁ'ﬁ !
-5""| E:.I HY H
4|2 Eﬁa 2 a
] 1
3|6 E 6
3
A) 6 ®) 3 @ 5 ®
©1 @ © 1 @) 6
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The surface area of 8 8Phere ie 164

volume of the sphere is

8
A) 1437%01::.3

2
— cm
(B) 1793

e
© 359% cm? (D) None of thes

____ connectsthedifferent exwmﬁ‘g:‘z
peripherals, expansion slots, /O ports
connections to the rest of the computer.

(A) Internal bus (B) System bus

(C) External bus (D) Data bus

The Article 324 of Indian Constitution
provides for an Independent

(A) Public Service Commission
(B) Election Commission

(C) Finance Commission

(D) Planning Commission

Petaloid bract present in which of the
following flowers ?

(A) Adhatoda (B) Bouganinvillea
(C) Palms (D) Banana

“Ain-Deeh-Sala” land revenue

system is also known as

(A) Military system (B) Zabti system
(C) Religious policy (D) Zat.system
Chemical formula of hydrated copper
sulphate is

(A) CuS0,.5H,0 (B) CuSO,.6H,0
(C) CuSO0,.4H,0 (D) CuSO,.3H,0
In a certain code_, ‘MONEY’ is written as
‘513141525’. How is ‘BLACK’ written in that

6XAM =\

code ?

(A) 1321112 B) 1321012

(C) 1213112 (D) 1231112
‘SVEEP', recently seen in the news, is related ¢,

(A) Voter education

(B) Spreading voter awareness
(C) Promoting voter literacy
(D) All the above

In a group of persons travelling in g
6 persons can speak Tamil, 15 can splz;‘ii
Hindi and 6 can speak Gujarati. In tha
group, none can speak any other lan i
If 2 persons in the group can speg tsf ;
languages and one person can speak g]] tho
three languages, then how many People :
there in the group ? e

0 2 D) 24

) 21 (B; 22

b8,

59,

61.
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65-
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e (D) 317
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WEMT_ HIIEYASEe |

B)

(C) gamh

(D) AT AT

P 2 v e 2 deeiiee e g A 7
(A) JETrET ®) swfafafern

(C) = (D) el

| o SOTeht “X- e -Are” el &

(A) & et (B) it gomedt

) enfife fd (D) S et
Wﬁmmmmﬁmqg%

(A) CuSO,5H,0 B) CuSO,.6H,0
(C) CuSO,4H,0 D) CuSO,.3H,0 :
‘ SR 513141526 forar S E,
< L% ﬁ%’ér‘%é?
) 1321012
(D) 1231112

aﬁaaﬁﬁwsvmpmﬁéﬁﬂmﬂ%?
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66. Shri Ramlg] 6‘(‘ 58 \
b mial purch,
and speaker Rs. gggdoanTt\; Set for Ry, 12,500 66 aﬂwﬁuﬁ; &t de =i %125 \:7»\
ﬁe&segl?(i}ton installation. At 3E:€°lmtion and : qfeged T 3. 300 3R qgiﬂ@ﬂa R
e :
3 S0 as to earn an overa]] profit of?g.}jalg fraT |SA R 15% & g;amaﬁawg‘g:ﬁ
TG (A) 14,560 ®B) 14,375 32 7 fFa I AT A 7 ferg
| ' \\eS,
(€) 15,640 D) 15.375 g i;,zig g) 14375 LS
67. Hi-tech and Ultra Modern Ory ‘ : ) ) 16315 5
Hatchery is the only project inalrgental Figh | g7, & 3N 37 H@Wﬁmmm I
approved by the Govt, in orth India 2} ek T TR o SR 00 i 2
(4) Chandigad (B) Jhajjar @A) wETg (B) ¥R
\): Ktk (D) Sonipat ©) T’ (D) Hrigg
68. The Article of Indian Constituti . .
the Anteridiant of tha Const]i.i‘,\::; ;elatedto 68. sm?ﬂ'q_ ﬂmﬁéﬁa??aﬁq—-m TR wwm
(A) 238 (B) 224 '
(A) 238 B) 224
(0] B4 (D) 368 (C) 346 D) 368
69. Recently launched PM-KUSUM Scheme | ¢ iyt £
aims to help farmers to access reliable " 31;[ m ﬁwﬁwmﬂiﬁ
(A) Solar Power @) Fﬂ'{m’f— R
(B) Water (B) ST
(C) Drinking Water (C) W =&
(D) Liquid Petroleum Gas (LPG) D) foferre Wiform g (et dt.sh.)
70. Rivet popper hypothesis was proposéd by 70, gtré 99 qRehegET LB LSLIEG]
|
(L Haman ® & Ilhmwdt ) wE (B) T af gaiee
(C) Paul Ehrlich (D) Convel (©) v srRf D) Fha
; th Jetter o
7L Which letter is 7% to the right of e 1 * 71 ol 3 o SR Y 18 ool @ 73 W
from the right end of the alphabet ! X TR ? (j
®) O R ® O I8
A) K D) R - © P D) R
CLE o aded ot 17| T2 e o s 17 e RO
72. The number which when w94 : pafORS
times gives 162 as result, 18 (A) 7162 mm%’ agw%_‘f‘bl . 11
®B) 8 ®B) 8 14— T
(é) 7 ) 10 i ” ©Sr9 D) 10 —(’ﬁj \ /k
o ingscary itV® - R g e
13. The hormone produceddur o 1% j—
in animals is @A) wfgfery waal éi’:; <3
(A) Adrenaline (B) Atadteifm vk
(B) Oxytocin (©) srmifRe jf/sﬁ%
(C) Thyroxin f D) gr2-smeemriamg 48 A
(D) Tri-lodothyronin® ople® | T4, Wi mﬁ
ve an €%2 » TR R wfva wem
T4.  Music, dance a.md fine arfs . o L
institution catio?
Soci ®) o omi€
(A) Social s Ecot Ak

(C) Expressive
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Winter Olympics unveiled its official motto
EX M,

(A) TOgethell for sports

(B) Together for a shared future

(C) Together for healthy environment

(D) Together for healthy future

Which one is not the language of internet ?
(A) Perl (B) HTML
(C) XML (D) COBOL
Rahul told Anand, “Yesterday |
defeated the only brother of the

daughter of my grandmother’. Whom did
Rahul defeat ?

(A) Son (B) Father
(C) Brother (D) Cousin

The HCF and LCM of two numbers are 8 and
48 respectively. If one of the numbers is 24,

then the other number is

Df s
A) 48 (B) 36 7 i
(C) 24 D) 16 mHiE

In a row of children, Hari is eleventh from the left

and Manjula is seventeenth from the right, When |

they exchange their places Hari will be thirteenth
from the left. Which of the following will be in the
new position of Manjula from right ?

(A) Eleventh (B) Twenty ninth
(C) Twenty first (D) Nineteenth

The moment of inertia of a thin uniform rod of
ma‘ssMandlengthlaboutanaxisperpendimﬂar
to the rod through its center is I. The moment of
inertia of the rod through its end point is

|
(A) 3 B) E
©) 21 D) 41
The Head Office of SAARC is located at
(A) Delhi (B) Dhaka
(C) Kathmandu (D) Colombo
Rhizobium fixes
(A) Neon (B) Nitrogen
(C) Argon (D) Hydrogen
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75. fim ifsRmm A el amd aw =
arTE fém
(A) FhEER W
(B) TN Bt T a8 T
(C) Tha B A THaTITz

D) it 3fod W

76, FH-MTTRAITHAAL 7
(A) Perl (B) HTML
(C) XML (D) COBOL

77. TG A A B Fe, “He A A A0 I A G F
Fhelta 9T 1 T | Ug A 6l w2

@) ®) fa
(C) 9§ (D) = 9§
A gl 1 WEWW ®ENEds I HEd
gHIEE w9 8 3R 48 8 | Al T wE 24 7,
digEt wem 7R ? wg 2
(A) 48 B) 36—
(C) 24 @y 16
79. ==t o ue ufeR H, Bt and & mweat ® oK wegen

It & oEd] ® | 99 9 9 T T 950 &
\ W el and & degei g | Fefetd § @S-
m;\ N | WA & A T B 7

B) IEat

(C) sl (D) Feat
A M 3R ST | 1ef] U Yae! HF S8 6

TEal Tocd TS F 3 | 70 waad T JA W I
2 | g aifew foig & gae e TR @

78.

80.

¢
® 7
(C) 21

I
®) 5
D) 4l

e & e el flm R ?
@) fe@t
(C) FIBHIE

81
B) BT

(D) i

82.
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8. iSpirit ig CMMS -S3
(A) A think tgn) for the Ing;
Productg industry 140 80ffy gy g3, omfafe?
(B) A think tank for the 4 I RGY mamammw*ﬁﬂ%
Products industry € Americg, . ftwas £f Eﬂﬁ ﬂ%ﬁu(ﬁﬁi &5)
(C) A think tan ] OB R o oo A & Ry
h&l‘dw nk for the Amel‘.'ican qg:é;i? Eq;)
ware products industyy () g: gi{iiﬁ’f m:{u\:ﬁ%m
(D) A think tank for the Indig Hew (fore &) & 13s
Products industry D hardway, (D) Wt BIEAM IS Iy %fm@m
The Ung : Hed (fre &)
B4. e United Nations declared the )
® year2020as | 84, HZH U A T 2020 i e w4 e gy 7
e International : :
(B) The Interna:'o 1Ye£lr SRl e (4) ST T;'ETQ'EF (3%, 9md.m.)
45 it fona Year of Pulses (IYP) (B) el mf@ﬂ ay (o7, T,)
q Yei) I_Ill)tematlonal Year of Plant Health ©) g‘m F:)lm 1 FaUT af (3771,
0d.
(D) None of the above (D) S0 & @ IS T&T
86. This Haryanvi sportsman received Dhyan [ 85 Bra st feerd i Il & forg e
Chand Award 2020 for wrestling &R 2020 firer ?
(A) Om Prakash Dahiya (A) 3719 e afean
(B) Netarpal Hooda (B) AR g ).
(C) Satbir Singh Dahiya (C) Wit figg afeam '12";;5,
(D) Jagminder Singh o ;? ;:Tﬁ?ﬁi:; . “ﬁ\
5 . 2 ?
86. How many odd days are there in 302days? | A o ﬁ:lr(‘%B). 3
3
e B e S B
; : ized i : ™
87. The Reserve Bank of India Nationalized I* A
the year sndb (4) 1954 (B) 1949
(A) 1954 ((Bpg None of the 8bo%® (©) 1956 ) 7 AFE T
(C) 1956 — puma gurd’ 88. %‘_’Zﬁﬁ%ﬁ “TQT ﬁ, ‘dew xas huma sura',W ad
88. In a certain language, g, ‘dew t»_ﬁ'P" \ €18 eating mangoes’, ‘dew tepo qua &l
means ‘he is eating ma"?"eand gut ti0° ‘% he sells toys’ 3 ‘sut time sura’ ?
R Qua’ means ‘he sells tO};zs,l Which W"fﬂs ‘I like mangoes’ | WTST & -8 T& A add
ﬁ sura’ means ! 111;131@ ge, and ‘mangoe’ : he’ 3 ‘mangoes’ ? ’
4 in the language e 4epo0 (A) ‘xag’ 3R ‘sura’  (B) ‘sura’ 3N ‘tepo
(A) ‘xa¢’ and ‘sura’ ®) ‘:as’ and ‘de¥ | 8 © ‘dew’ 3 ‘sura’ (D) a8’ 3N ‘dew’
(C) ‘dew’ and ‘sura’ ® 4.9i8 99054, 1.8, 36 3R .9 w1 HEw GHTEE
8. The HF.C.of 0.54, 1.8, 36 275" @) 18 ®) .18
(A) 1.8 ®) 8 - © 018 ) 18
(C) .018 ® urve at lﬁ? * SMC 9% AVC 5 ®t @ @ AVC TH &
%. the AVC _grom ¥ — fgwerdil
e e o E S | T e
i Ma L ©) e ‘
e ) Litveut o M=y O e fs ety e
v © Mid 18- Q\Dﬁ Ras hom g SyfFe - 3 X1
o5 j— de) epe quo — e seMs \;oa _—
| ‘\ﬁx?@-&fﬂ ,_3..%_%0 )I%la: s oo g Sex dwme Sufu- ) Al we Mg

S T s, SRR
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English Langu2g®

. ical
The following sentence contain® gmm}l:l E::: to
error or jdiomatic error in it Youd:hoose
find out that part of the sentence a2
the alphabet of that part as your answer.
I don’t know whether Karthik is
equally good as Sanjay.
(A) Idon’t know
(B) whether Karthik
(O is equally good
(D) as Sanjay
Fill in the blank with appropriate form of the
verb from the alternatives given below them.
By next July, we living here
for two years.
(A) shall have been
B) will
(C) will be
(D) shall be

Give one word substitutes for the
following from the alternatives
given below them.

Not large enough in amount or
size, meagre

(A) Sovereign

(B) Solemn

(C) Slander

(D) Skimpy

Add suitable question tag to the following
from the alternatives given below them
He isn’t a strong man, 2

(A) does Ele (B) doesn’lz he
(C) wasn’t he D) is he

In the following questions, you age required
to give the names of the placeg where the
noun subject is kept, grown or ma
the following with the help of the al
given below them :

de answer
ternatives

Provisions are kept in the
(A) Zoo B) Pantry
(C) Aviary (D) Kiln

96,

97.

98.

99.

100.
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&) T

(B) Hfyy

(©) Y

(D) 9 @ ¢

I 1 T GeTaR H 31 3

@ wgafm

B) A+ @

(C) sgfa g

(D) ¥7H A HK 78

foo & o w9 @ faum =@ i G

FAYNTRE, W FEde |

(A) Tt

®) 4

(C) ar=a

() ¥ & I et

e a1 T & Freet t forg ot fafd
HEAr £ |

Riter e
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______is an unat wnz. progr
which functions from inside what seems
to be an authorized program, _thereby
concealing what it is actually doing.

(A) War dialer (B) E-mail

(C) Trojan (D) Spam trap

If in a certain code, 'ELEMENT lﬁ

written as ‘ELEMTNE’, then how w1

‘OXIDE’ be written in that code ?

(A) OXDIE (B) XOIED

(C) OXEID (D) XOEID

Consider the following

statements about Secular

State.

L. A secular state is one that does not
establish any one religion as official
religion.

II. Indian secularism practices an
attitude of a principled and equal
distance from all religions.

(A) Only the statement II is correct

(B) Both the statements I and
IT are correct

(C) Only the statement I is correct

(D) None of the above

The average salinity of Indian Oceanis

(A) 70% B) 36%

(C) 35% (D) 30%

India ranks in fruits and

vegetables production in the world. 55 ,%

(A) 1 (B) 4 [

©) 3 D) 2

Nmn g)%?) counting dmﬁn from 32, Sumit
ting upwards the bers

t num

fh%ré‘é‘f ﬁ‘0m 1 ant{J was calling out only

n
ol umbers, What common number
were ¢

(%} %g ng out at the same speed ?
©) 22 ey will not call oyt the same number
D) 21
E‘hezn element of the sequence
3 -y = LEETTY PN lﬂ'
@) (-1p goa ®B) 2
(€) on D) 2

out at the same time. if they

2-

oup "Ha;aanae}wﬁsam%ﬁ%a%

(A) TR SFIEH B) §-iy
(©) A (D) T 3y

afi o 72 § ‘BLEMENT 53 ¢

ferr 1 8, 51 37 7z & gy TN
feran ST 7 R
(A) OXDIE B

© OXED () O

maw%aﬁﬁﬁw%ﬁmm

I Waﬁﬁtﬁawaﬁ'%aﬁ%ﬁ@mm
aﬁmﬁwﬁaﬁ%mﬁwﬁaqﬁ
FAT 2|

1. ety dfcderan asft ot @ o3 dgifes
S T T 7 gfeepior e a2

(&) Fo= 1T 9t 2

{(B) a1 e 1 3R 11 o &

(C) =y ] &gl 2

(D) SWidd § & ¥ e

f&e weraTR &t 3iad eaom 3
(A) 70% (B) 36%
() 35% (D) 30%
g et o weslt % e

A FTEF T2 7

@) 1 (B) 4

(€ 3 4B 2 19

i 2.8 A3 3 e 0 G
FHTRAMITE w@%zﬁ

qusr

Bem

e e @ o) 4fe d F
@ﬁﬂmaﬁﬁ*‘ﬂmﬁﬁ
A) 19 ;
éﬂié@ﬁmﬁw
(C) 22
D) 2112 B i 1 n @ 9 ¥
W.—, y T

n on-1 (B) 2“”
Eé; ;-“1) i (D) 2
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(A) Motion sie
(B) Syndrome
©) Hydrophobig

(D) Altitude sicknegg

The point on th
which is the fil?s é%urface of the earth

knegg

efitrthquake waves one to experience
EC; IF%OCUS (B) Caldera
ypocentre Epicen tre

A alone can make 10 b
askets in 6 days
and B alone can make 109 basketsin 12 days.

In how many days can A g
make 100 basketg ? nd.Bogethss

1
(A) 3 days B) 3“2‘houra

(®) Q%hours (D) 4 days

_ converts AC power from an
electrical outlet to the DC power needed
by system components.

(A) SMPS (B) Memory

(C) Bus (D) UPS

How many 6's are there which are
preceded by 3 but not followed by'8 ?
8436790638479368694136042
A) 2 ®) 1

© 3 (D) None of these

button reloads the_ current
document that the user is viewing.

(A) Back (B) Refresh
(C) Stop (D) Address bar

The first meeting of Constituent
Assembly was held on

(A) 11* November 1946

(B) 9t December 1946

(C) 11t December 1946

(D) 9*» November 1946

Which of the following banks is the Central

Bank of India ? .
(A) State Bank of India

R
St

13.

i dia
Corporation Bank of In
%; Reserve Bank of India
(D) None of the above

-3-
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15.
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VAR VNI e S—

(B) Hereqor

(C) St

(D) F=m Heieht sregesyar
Ewﬁmmﬁﬁgﬁﬁiﬁqﬁmﬁ
FIIE T T Ve T M
() % (B) w2 B
(C) wruHe D) Iuhdy =8
Amsﬁﬁﬁloow'amm%

B 3@ 12 feqi § IOOWWW?:

A 3R B firee fhas f=i #
b ¥ 100 Zrfat &

A) 3f& B) S%é%
Q) zéa’% D) 4f

U faga smeecie @ AC ifF 1 fireey
HZeh 3 difwd DC vifea & ufafda s 2|
(A) SMPS (B) muR
(C) =g (D) UPS
U8 foraa 6 € e geet 3 2 &fa amt ame
g ?
8436790638479368694136042
A 2 B) 1
©) 3 (D) 378 & &I§ e

< 9d9H SEEs l §: TS F 8
SIRCICTIRC R e B

(A) ¥ B) fosa

(C) wig (D) TgH TR

wiferer T o Ul S e e A TR o 7

(A) 1199 1946

(B) 9 fegs 1946

(C) 11 fagsr 1946

(D) 9 Ta 1946
frforRaa 3 9 g dep e o1 P A E 7
(A) I R e

(B) IaIeH s 317 i

(C) WRd R o

(D) S H | IS e

X20
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In which type of ovule the micropyle, chalaza
and funicle ave in one straight line ?

(A) Anatropous (B) Campylotropous
(C) Amphitropous (D) Orthotropous
Which day of the week will 27 February 2016
be, if 2" February 2016 is a Tuesday ?
(A) Monday (B) Saturday

(C) Wednesday (D) Tuesday

18 a situation whereby a court
of competent jurisdiction has declared a
person or other entity insolvent, having
passed appropriate orders to resolve it
and protect the rights of the creditors.

(A) Bankruptcy
(C) Insolvency

(B) Currency crunch
(D) Bad loans

is the most common way for
individuals who used home computers
to connect to the internet.

(A) Leased line (B) Dial-up
(C) Cable Modem (D) ISDN

The instrument used to measdre the
atmospheric pressure is

(A) Barometer (B) Ceilometer
(C) Hygrometer (D) Anemometer

In which type the ovary occupies highest
position on the thalamus ?

(A) Mesogyny (B) Perigyny

(C) Hypogyny (D) Epigyny

In this question, two statements are given

followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements :
g
(o7

1. All trees are plant.

2. All fruits are tree.
Conclusions :

L. All plants are tree.

L. Some plants are fruits.
(A) Only conclusion 1T follows
(B) Both conclusions I and II follows
(C) Neither conclusion I nor 11 follows
(D) Only conclusion T follows

?

g

CMMS _g,

F fstie o WigwIaTEd,

SRRV AN S )

A) TATGITE (B)

Ec; (D) Mg
17. af 2 wEd 2016 F FIEER B, @ 27 gy

gowﬁmwﬁ'—l—mﬁqﬁ'ﬂ

(A) HFET (B) wiEw Fism

(C) FITR (D) TTeER ?%c:

o el & STET O HaH sifrmays,

AT U SAfFd ST 37 80 A Ry

B T B 3R g6 I T Horemy

& AR o1 18T o fIe IUZHd A yri

TH | .

A) feaferamm (B) HsT 8

(C) 0T e SFEHar (D) T
farat & o gatfees ammy

T 2 S 3etie @ oA & fom 8w

HR FT T A B

(A) TEFA @ (B) S5@-3"

(C) %A |/EH (D) ISDN

20. a@ﬁgﬁqmﬁmﬁ%mmm%

18.

19:

(A) STfte (B) Hidnfiex
(C) Trgumie (D) wigdiex
21. T8 YT A sierr ddtwe wgeeg o
@arg ?
(8) eI (B) Affrf
(C) Trgmfiey (D) ufufich
22 TR, 8 o fn s e @
R e ¥ 3 fregg .
YU
L. ¥t gay dig
2. Al ot g 3
Fremd
L a4}
At
1T 3oy
B) = I3k 17 m;a%
D) S L3 IT Sty e &
(D)%ﬁaﬁmla@ i
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28. If the sum of n terms of an AP is 2n%+ 3n,
then its n' terms is

(A) 4n
(C) 4n + 2

(B) 2n + 4

D) 4an+1

In ancient times the term Usara was used
to indicate

(A) Fertile soil

E% (C) Waste soil
[Gria

24.

(B) Sandy soil
(D) Sterile soil

25. Choosethewordoutofthegiven alternatives,
which cannot be formed from the letters
of the word ‘CONSULTATION’.

(A) CONSTANT (B) STATION
(C) SALUTE (D) NATION

Who won a Gold Medal at the 2021
World Cadet Wrestling Championship
in Budapest, Hungary ?

(A) Bhavina Ben Patel
(B) Priya Malik

(C) Kseniya Patapovich
(D) Marykom

27. RAM stands for
(A) Rapid Access Memory
(B) Register Address Memory
(C) Register Access Memory
(D) Random Access Memory

26.

o

28. If ‘A’ denotes ‘—', ‘B’ denotes <, ‘C’
denotes ‘=’ and ‘D’ denotes ‘+’, then
343C7D52A3B12="

(A) 137 (B) 102
(C) 65 (D) 107

29. World Wildlife Crime Report, 2020 is

published by

(A) Interpol

(B) United Nations Office on Drugs and
Crime (UNODC)

(C) Ministry of Home Affairs,
Government of India

(D) None of the above

CMMS - S3

23. MG TH AP n 9&i 19 2n2+ 3n R, &t 5=
n”érfq'c:?f"ﬂ
(A) 4n (B) 2n+ 4
(C) 4n+2 (D) 4n + 1

STl 1el § FHET 3158 N WA F41 Gfa w1
& fore 3w o <ten o1 ?

(A) 39S T (B) Tefteft fogh

(C) o il (D) e firdh

fau e faedi @ € vz gw =it wise
‘CONSULTATION’ & 318l @ & s =
HqhdT |

(A) CONSTANT (B) STATION

(C) SALUTE (D) NATION
foraa geniwe, &1 | fava ¥ Fedt wioew
2021 d vs @l gg= Sfiar ¢

24.

25.

RAM % fore 3ymar 81

A) s vy 98

(B) ot g ant

(C) e waeg BAm

(D) Teu vFEw A

28. ‘A’ & HawE ', ‘B’ 1 Haws X, ‘C’ &

TaeE T D’ o waes 4, @
343C7D52A3B12="?

27.

(A) 137 (B) 102
(C) 65 (D) 107
99, dFS ATETE T HiEH e, 2020 fFesh 510
WERTITE &1 ST & 7
(A) T
(B) @ US 150 W HIH g hdTed
(eI

(C) & HATEHE, WA WHN
-@vﬁ D) 39E | @ 18 7=t

st X20
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30.

31.

32.

33.

34.

35.

36.

37.

EyE

X20

Which one of the following amendment
is related to Urban Local Government ?
(A) 44w (B) 73+

(C) 24th (D) 74

has various provisions

and safeguards in relation to detecting,
preventing and penalising corporate fraud.
(A) Companies Act, 2013

(B) Indian Contract Act, 1872
(C) Income Tax Act, 1961

(D) Indian Penal Code, 1860

Cnidoblasts are present in

(A) Porifera (B) Cnidaria
(C) Annelida (D) Ctenophora
Find the missing number.

m 124 2

(A) 900
(©) 999

Haryana ranks
roduction in the country.

{)A) 10 (B) 13

(C) 12 D) 11

The case in which the Supreme Court

gave a decision that there is a basic

structure of Constitution and nobody

can violate the basic structure

(A) Unnikrishnan case

(B) Kesavananda Bharati case

(C) Golakanth case

(D) A.K. Gopalan case

World Health Day
year on

(A) 7"October  (B) 7th Apyi]
©) 9" March (D) None of the above

Out of 100 kids, 50 are members of Team
X and 75 are members of Team Y. If 40

[=];

.
=

(B) 1099
(D) 949

in vegetablés

18 celebrated every

hoyv many of these 100 kids belong to
neither of the twq

teams ?
(é) 10 (B) 40
(©) 35 D) 15

&
[z o

30.

31.

32.
33.
VB

34.

35.

317.

coM
=F:

36.
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frefafad 3 ¥ -1 wyiyy
BRI SN T Tapy

A) 444 B) 733
© 243% 5 (D) 745
ST 5 5 g s
U &1 e

(&) FF R, 201

(B) ¥R 31gay Aferfay, 1872
(C) M 3ifirfrmm, 196,

(D) WRH g wfga, 186

ﬁs’lmnﬂ@g}mg

(A) WS (B) frerfe i
(C) wiferer § D) Fer 3
A T 91 F|

(A) 900 (B) 1099

(C) 999 (D) 949

<1 ¥ wfesi o geara 1 e fg wem w7
(A) 10 (B) 13

(C) 12 D) 11

I8 e, S wats =maww 3§ fidy fan
o wfum =1 uw g g & o o
AT BT T Ieered TE FgED

(A) I=FSH HHEm

(B) FTEHT It e

(C) TeTeTd HrHen
(D) T. %, MU T

e e R s ad | @

ST 81 o

(A) 7 3T B) 7

(C) 9w (D) Iuad | & FiE
100 st 8 &/, 50 919 X % gaeg & ok 75¢M
Y % vee 81 aft 40 7= A1 I & wem £,
T @ e == 1 | @ el ot Fw &
e !

(A) 10 (B) 40

(C) 35 D) 15



sy

38. Stﬂndardjsin

& s s .
Organisms jq Eallllsdndmmg of living
(A) Nomenclagy,y.,
(©) Diversity (B) Standardisation
39. Sustainab] (D) Identification
- see?{ ‘el‘(ieVEIOPment should lead to
(A) x’inﬂzlidilrtle gl%zceloq alternative sources.
resourceg Pietion of non-renewable
(B) Have €qual acces
St
(C) Protecting th, envlr?nr;?jzuices
(D) All of the above n
40. Food and Acy; .
founded in Sl Organigation was
) October 1944 By gpyp 1950
(C) October 1947 (D) October 1945
41. Usually the emai] address ig in
(A) Lower case (B) Ubper esiso
(C) Proper case (D) All of these
42. Select the correct mirror image of the
given figure when the mirrop is placed
at line AB. A
FURNITURE E B f
B , %W\V“O
@ auaTaus (0
(B) HAUTINAUA
(C) HAUTIU AT
(D) HAUTIVIAUT
43. Bovina spent Rs. 44,668 on her air

tickets, Rs. 56,732 on buying gifts for the
family members and the remaining 22%
of the total amount she had as cash with
her. What was the total amount ?

’%"% (4) Rs. 28,600 (B) Rs. 33,800
"¥(0) Rs.1,01,400 (D) Rs. 1,30,000

44, M_]_htary exercise of AUSINDEX is associated
between India and
(4) US

(C) Australia

(B) Japan
(D) China

2

39.

40.

41.

42,

43.

44.
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(A) Fagfy
(C) Tafarean

Tad feemm =)

(B) FETHA 7 T wde )
(C) ufaTor &Y oy
(D) 39 &+t

Qe UF HY G137 3 Tomaay
(A) JFEW 1944
(C) 3ra¢=t 1947
AT T et
(A) B &) A (B) 52 awi &

(C) qga s | (D) 2 g
ﬁﬂﬁmwaﬁa&mqﬁﬁagﬁqwm

I IWVAB W @ ST
A

— 9%

(B) H¥gw 1950
(D) 3R 1945
o gt 2

'FURNITURE E

B
(A) AUATIVISIUT
(B) HAUTINAUT
(C) AAUTIVIU AT
D) AAUTIVIAUT

AT ¥ 3 79T el W s 44,668, TfEn
& Hawil % fore 3vem @l w %, 56,732 @
TN 8 TR 3T T et T 7 99 22% TR
& T 7 ST ] et kot 7

(A) %. 28,600
(C) ¥. 1,01,400

(B) %. 33,800
D) %. 1,30,000

AUSINDEX # &8st qrg ain
& gafem 2l
(A)

() wreferan

(B) ST9H
(D) =H

X20
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46.

47,
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49.

50.

51.

52.

X20

Join Telegram Group "HaryanadJobs.in"

If we divide the National Income of
country by total population then we get
(A) Personal disposable income
(B) Per capita income

(o

(C) Personal income
(D) Private income

Complaints to Magistrates contained in
(A) Chapter XIII of Criminal Procedure Code
(B) Chapter XVI of Criminal Procedure Code
(C) Chapter XV of Criminal Procedure Code
(D) Chapter XIV of Criminal Procedure Code

National Animal Disease Control
Plg'ogramme for Foot and Mouth
Diseases (FMD) and Brucellosis
(NADCP) Scheme envisages
to eradicate them through
vaccination by the year

(A) 2030 (B) 2035
(C) 2050 (D) 2040

The sum of series, (—~1000) + (—900) +

(—800) + .....+ 1100 + 1200 is
(A) O (B) 1200
(C) 2200 (D) 2300

Under unfavourable condition§’ many
zooplankton species in lakes'and ponds
are known to enter
suspended development.
(A) Conform (B) Diapause

(C) Migrate (D) Dormant
Material culture consists of man-made
objects which are In nature.
(A) Tangible (B) Concrete

(C) Abstract (D) Both (A) and (B)

, a stage of

5 of a number exceeds its : by 8. The
number is 8
(A) 30 (B) 90
©) 75 (D) 60

The largest gas by volume in Bio-gas 1s
(A) Methane

(B) Hydrogen
(C) Nitrogen
(D) Carbon dioxide

-8-

46.

47.

48.

49.

50.

51.

52.

CMMS-_S3
afd & TG 3T %5 ey
FARAT e T
(A) S T 317
B) wia =afaa sy
(C) SufFas a1y
(D) F=ft ey
aforegel w1 R wmfirer 3

U 3 @ (FMD) wa gireitferg 7 1

: q T
W] T R R (NADCP) e 17 s
g T SIRTRTOT ZRI ST S 2|

(A) 2030 (B) 2035

(C) 2050 (D) 2040

<l T8 G (-1000) + (~900) + (-800) +
...... + 1100 + 1200 =7 I 397 &0y 7

A 0 (B) 1200

(C) 2200 (D) 2300

wfoge witeafa & ol ofn qemt § #
SeAuTed STt , Frcifea em & @
T § YA A B

(A) TR (B) Iwfd
(C) a8+ (D) Y&
S e SR 8
(A) TfE® (B) 3™ o
© "R (D) (&) (B) @ A
ExsiRstEe éw& 2 & 8w

: ) 3
2 SR TR
(A) 30 B) 90
C) 75 D) 60
;@ﬂﬂﬁwﬁﬁﬁm A
(A) HieH
(B) TEEIH
(C) TEgrsH
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54.

55.

56.

o7.
58.
39,

60,

61,
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frft @ #1 A% 150 Ferenfa

Two towns A and B + A| 53. TEEARBEO
school has to beaguilt t:;l Z‘Zﬁg 1k5n3 ;Eﬁieims 3t B % 50 farenfefai £ gaT fere vk fererera
Eftt?wd? t?i] 50 St};ledents of town B. If the ST ST € @ 200 ferenfelat g)a a'z;-;ﬁ EIE|
ota S5 e to . ; 2
students is to be as ;ﬁ;i]lgcsl Egsg}{)]tehethgg Freft g4t FgaH a1t =nfew, o faarerd el sl
where should the school be built ? ’ L M =T =R,
(A) In town B 12 (A) wEl B q
(B) 45 km from town A V\}k"‘ﬁ B) Fa A?.E.f 45 6 1.
(C) In town A {, 0,,5(\ (C) &= AH
(D) 45 km from town B (D) Fe BH 45 fap 1.
i ' Al
18 Non-Aligned Movement (NAM) Summit 54. ISQWWW (TITTH)
was hosted by A 5 ;
(A) Azerbaijan (B) Sri Lanka (A) HHEST (B) AT
(C) Bangladesh (D) Pakistaii ©) m (D) TR 5
Ifthe 25 of Augustin a yearis Thuisday, 5 e T 7
then number of Mondays in that month is EAi")l EIBI B) 6
(A) 3 ®B) 6 ( o) 4
(C) 5 D) 4 (C);
Thermal decomposition of lime stone 56. :in;?mﬂaﬁﬂlﬂ HATH SeTfed
roduces
e i i ouben (A) R = (B) = 1 !
(A) Quick lime (B) Lime wa © @ ) T
(C) Marble (D) Slaked 11mel - ’3”“{?; = i3
In open groups mobility of members 18 . o “ILBIE GRSl rferefierdT
(A) Restricted (B) smEFd .
(B) Relatively difficult g .
(C) Possible D) (A) 3 (B) '
(D) Both (4) and B tors | 58. ALLAHABAD &3 3 gpafard
The number of permutations of the lette eth ot
of ALLAHABAD is E . @ 9 ® 9
A) 9! (B) __!_3_1', GEAL] 324 N
2(1) o o 2
& 31 & 59. et 1 HIE FEeTal ol
is called the brain of the computer: (A) g (B) I
(A) CPU (B) Register (C) wetaTd () FEH
(C) Motherboard (D) Memory 60. 9:8:: 16 : ?
; A) 14 B) 27
9:8 2187 B 27 EC) - D) 18
A) 14 ( o
© 17 (D) 18' 61. ?ﬁml S Fomet
The British brought the Police A'c;l'IT{ L B) F
Commissionerate System first 1r11uru A) s
(A) Delhi ) Beng2 ©) —_—

(C) Kolkata

-9-
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62.

63.

64.

65.

66.

67.

68.

69.
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A triply ionized beryllium (Be?**) has the
same orbital radius as the ground state
of hydrogen. Then the quantum state n
of Be® is

A n=1 (B) n=4

{J) n=38 D) n=2

How many delegates participated in the first
session of the Indian National Congress ?
(A) 15 (B) 84

(C) 72 D) 43

India’s first ‘experimental’ smog tower

has been set up to purify air in a 1 km
radius around the structure at

(A) Varanasi (B) Mysore
(C) New Delhi (D) Chandigarh

In a row of boys, if A who is 10t from the left
and B who is 9™, from the right, interchange
their positions, A becomes 15% from left.
How many boys are there in the row ?

(A) 23 (B) 31

(C) 28 D) 27

In a mixture of 60 litres, the

ratio of milk and wateris 2: 1. If

the ratio of the milk and water

is to be 1 : 2, then the amount of

water to be further added is

(A) 20 litres (B) 60:litres

(C) 40 litres (D)~80 litres
provides the highest quality

text and images for personal computers.

(A) Drum printer v&h

(B) Daisy wheel printer 9@»’\

(C) Laser printer {’O

ORAD

ST

(D) None of the above
It is one of the important outcomes of the
globalization process
A) Outsourcing
Industrialization
C) Disinvestment
None of the above
The minimum percentage of deposits that
needs to be maintained by commerci
banks in the form of liquidY assets, cash,
old,cgovermnent securities, etc, refers to
?%; ash Reser\_:e Rate
Statutory Liquidity Ratio
C) Reverse Repo Rate
None of the above

-10-
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62.

63.

64.

65.

66.

68.

69.
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qunqgvnamﬁ%%ﬁﬁm(}gea)ﬁwﬁq
Freen wsgior 1 aefta iy e 2, ) s
#Haared fan 2

@) n=1 B) n=4 La3
(C)n=3 (=g
mwm%uﬁamam
yfafaferat 3 s femm o 7

(A) 15 (B) 84

(©) 72 (D) 43

W T W&ol ‘WIEifies @i ofat
;‘mm%aﬁ%ﬁn%ﬁn‘rﬁwﬁ‘%g

ﬂ'—!ﬂgl o

(A) FrRE (B) #e

(C) 7 faeet (D) =ErTg

eI Y U ufdd § afe A St & @ 1047 3ik

BEd @ 9af 2, 371ud & I weerd 8, at A
¥ 1537 8 St B ofFa o frad e B 7

(A) 23 (B) 31

(C) 28 D) 27

60 Tt 3 fermr & 2o 7R awft o1 arguma 2 13

afe gy 3R U 1 IgUE 1: 2 B R @ u
&t 9T Y SR et s s 7

(A) 20 e (B) 60 X
(®) 40?ﬂa.

, i
®9 § 50T & ¥
TR 91T &R 1 STavaeha] &
E%gmmfaaat

YT T T
C) fed =

(D) SWi=d | & 18 72
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E;.:i

. In O .
70 nl;tio(l-‘t'o;)er, 2021 world’s largest Khadi
(A) L]? flag was inaugurated in

eh :

= B) Chandigar
C ( andigarh
( )E&arnfﬂ ) D) Jammu
: is often used if the ore i «
in some suitable HOIVe;t_he ore is soluble
(A) Benefaction
(C) Dressing

71.

(B) Froth flotation
(D) Leaching

Which pattern most
st clo .
the following pattern ? sely resembles
N ﬁmé
ULA

72.

o

e fc?fh

A) c B) d
(C) b (D) a
If on a marked price, the difference on

selling prices with a discount of 30% and
two successive discounts of 20% and 10% is

Rs. 72, then the marked price (in rupees) is

(4) 3,600 (B) 2,400 gy

(©) 2,500 D) 3,000 fszﬁﬁ?e

Cyclical changes during reproduction in

dogs are called

(A) Asexual cycle

(C) Sexual cycle

When did Mammals evolve on ear

(A) 400 million years ago

(B) 50 million years ago

(C) 500 million years ago

(D) 200 million years ago

What is Disguised Unemployment refers to?

(A) It is a situation wherein the .
number of workers 1n a job is less
than required to do the job

(B) It is a situation wherein the .
number of workers 1n a job is mol
than required to do the jo

(C) It is a situation wherein the -
number of skilled workers 1n & tJ %
is less than unskilled workers to

the job
(D) None of the above

73.

74.

(B) QOestrus cycle
(D) Menstrual cycle
75. th ?

76.

5 B

70.

71

72.
| et

73.

74.

75.

76.
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atFzer 2021 #, 3T & wad 92 @rdl T
a1 %1 IgUTEA el 5T 74T ?
(A) =@ (B) =EiTEg
(C) +HATA (D) ST9]
=y war @ afe oraws Rl

;gaa%ﬁmmﬁﬁmaﬂaﬁm%l
(A) 3UR (B) = foaE
(C) wfter D) Frerem

2t 4 3 emiEfe # W, = Inepfa g frad
wea T gl & /amfed R

JC ]

| a b

)

(A) < B) d

(Cyb D) a

afe 3ifka ged W 30% 1 e 3R 20% T 10%
61 B FATTA T & W IR g T AT E. 72
£ 41, oifrd g (vagi #) FE 7

(A) 8,600 (B) 2,400

(C) 2,500 (D) 3,000

Tl § o % N i TR

FEdTd 8
(B) $qza 9%

(A) STATTF =5
(C) e 9% (D) BT dh

qeaf] qT ST o forehTd e AT ¢

(A) 400 fafeaT a9

(B) 50 firfera ad

(C) 500 a9 gd

(D) 200 fafera ad o

T SSATRY T 37 FTE 7

(A) T8 w e T @ o e W F
Ry Tt & siferen o) TG FETHA
Wﬁ%@ﬁ%ﬁmﬁ 1 FA

B) I8 TF T FHE

( )ﬁ ) 4 i 1 6
mg}g%ﬁr%ﬁaﬁ el #

C) T Th

( )aﬁﬁﬁma@aﬁqﬁaﬁﬁw

(D) I F & N T

-
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Direction (77-79) : Study the given information
carefully and answer the questions that follow :

L.

IL.
III.

IV.
V.

717.

78.

79.

80.

81.

82.

83.

X20

A,B,C, D, E, F and G are sitting on a wall
and all of them are facing east.

C is on the immediate right of D.

B is at an extreme end and has E as his

neighbour.

G is between E and F.

D is sitting third from the south end.
Immediately between which of the
g;]ilowing pairs of people is D sitting ?

AC (B) CF
(C) CE (D) AF éﬁ%
Name the person who should c%ange
places with C such that he gets the third
place from the north end.
A) E (B) D
C) G (D) F

Which of the following pairs of people
are sitting at the extreme ends ?

(A) FB (B) AB
(C) CB (D) AE
The difference between the value of exports
and value of imports of goods of a countts
in a given period of time is known as
(A) Balance of trade
(B) Capital account
(C) Current account
(D) Balance of payment
The number of significant figures in
11.118 x10 ¥ is
@A 3
©) 5

B) 4
D) 6

The standard protocol used for sending
e-mail is called
(A) http

(C) telnet

(B) SMTP
(D) ftp

When money supply exceeds available

goods and services, it leads to

(A) Inflation (B) Paraflation
(C) Hyper deflation (D) Deflation

Join Telegram Group "Haryanadobsin”
Forw”
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Sy (77-79) : & T Mt A sreras e
FrfrRad e T I SR

I.

I1.
I1I.
IV.

V.

11

78.

79.

80.

81.

82.

83.
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A, B, C, D, E, F 3R G 0% fam w g 4
v g w0 33 8|

C,D & gid ad g
B TF OR W 8 3R E 35T yeid 2|
G, ERFF R
D efaoft St @ diag )
ﬁ )
(A) AC (B) CF
(C) CE (D) AF
34 SR 19 FA15C S C F 9T 3G THR D A
SaeTal 8 foh 97 I B @ feR M W )
A E B) D
© G M) F
frfofaa & & S 1 ®F-11 g0 B w
w3r ?
(A) FB (B) AB
(C) CB (D) AE
T U e aHg 4 v 39 Sl et & fata e
T F Yoot § R FEATA S |
(A) IR HgaH
(B) It @
(C) =T @
(D) T Hger
11.118 x 105 H Heeaqul 37! ol G &
(A) 3 B) 4
©) 5 (D) 6 E}gg
399 9N & oY aEe e
FEATT B |
(A) http (B) SMTP
(C) telnet (D) ftp
& AT Iuerey qegeAt S Haadi & wf
g ar Bt B
(A) gERhifa (B) wrEife
(C) ¥ aroehifey (D) Ry
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84. Whtj] improved the theory of Copernicus ? 84, gRIET & foraia o fera gy fean ?

c(g)) P (A) S 3
an
_ \ g AB) 2fAH
(© Michael Angelo 7, 5. pn8H % W ()t iftrem
(D) Jackot Nufer (D) Sfiehte TH
g5. The H-C-zF- OO+t x4 and (- Tyis | 85. (x7+xP+x+ 1) 3 (x — 1) 1 HEwH
(A) x*-1) x2+ 1) guIIades 8
B) G+ 1) (x4 1) (x4 1 (A) (- 1) ¢+ 1)
© x+1)(x2+1) (B) (x%+ 1) (}g + 1; x3+ 1)
C) x+ 1) &*+ 1
(D) (X + 1) (X2 — ]) (D) (X + 1) (X2 - 1)
86, ——— is an electrom hani . I 0l ST
g 1?11110“’3 the Joer toefze?;g?;nf st e e & W@m g ﬁs@wg‘zw & forg wfae
into the computer . . ? .
and to give commang; ?on?ﬂﬁségin“ﬁ,fgf 5 1 3l & 3T g Y ST (FATS) <t 31
(A) Memory device Barel: (A) #RT gfF
(B) Output device (B) SiTae gfad
(C) Input device A58 () omaw
(D) None of the above HE (D) SRR @ 18 T
87. Selectthe correct qombination of opposite 87. T4 a‘?gﬁ 311‘3—;"% &1 U U9 & B ¥ FﬁETGTHT‘%,
faces, when the given figure is folded to at fortia St =1 GE GHeE g
form a cube.
6 6
[1]5 [1]5
2 2
34| 3[4 |
A 1,6 B) 5,3 (A) 1,6 3B) 5,3
© 3,4 (D) 5,2 : (©) 3,4 (D) 5,2
88. Which of the following States has launched | 88. ﬁm%%aﬁﬁﬁwmﬁamﬁqmgﬂaﬁ ?
sur vatan Prem Yojana’ ? .
0] /
0 (4 Haryana  (B) Punjab e &) ¥
¥ (0 Gujarat (D) None of the above i3 S (I, e i
8. The primary memory is also called the 89. TR AW _ sfrwEar )
(A) Secondary memory (&) fadftas it
(B) Virtual memory (B) et AARY
() Main memory (C) T K

; (D) Registers o .

% If the radius of the base of a cone is | 90. Hﬁﬂ:}fﬂ?%:ﬁﬂmﬁﬁmﬁmmﬁm
halved, keeping the height same, what S, T FEE i FHH T g, R §E NE F
gthe ratio of the volume of the reduced I %1 AT I o AT B ST 41 B4 7

Ne to that of the original cone ? .
4)1:9 B) 2:4 A) 1:2 B) 2:4
2: © 1:4 D) 1:3
© 1.4 M) 1:3

X20



91.

English Language

In the following question a sentence has
been given in Direct/Indirect speech.
Out of the four given alternatives. Select
the one which best expresses the same
sentence in Indirect/Direct speech.
Aparna said to me, “I have been dancing
for two hours”.
(A) Aparna told me that she has been
dancing for two hours .
(B) Aparna told me that she was dancing
for two hours
(C) Aparna told me that she is dancing
or two hours
Aparna told me that she had been
dancing for two hours

In thesequestion, there are fouralternatives
following a word or phrase given as the key
term. One of the alternatives best explain
the meaning of that word or phrase, spot
the correct alternative,

FLIMSY

(A) Sturdy (B) Fly

(C) Firm (D) Weak

Fill in the blank with right form of,

92.

93.

the word (given in bracket) from the |

alternatives given below it,

A united effort is a condition for the
of success (achieve).

(A) achieve (B) achisgable
(C) achievement (D) achieving
Fill in the blank with suitable concord
from the alternatives givén below it.

Not only the principal but also the
students laughing.

(A) am (B) was
(C) were (D) 1s
The following sentence containg
grammatical error or idiomatic
error in it. You have to find oyt
that part of the sentence and
choose the alphabet of that part
as your answer.

He complained about headache after

reading the article.
(A) He complained
(B) the article

(C) after reading
(D) about headache

94.

o
95.

Join Telegram Group "HaryanadJobs.in"
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&=t v
9¢. FATdl wee 8 FEd € 7
(A) Iea1 3¢ SHaTe yreet &
(B) ﬁqm%%ﬁmﬁi‘fgﬁﬁ
(C) THHY TEHATA Y1=a] )

(D) T8 & IS 7 gfﬁ‘
97. __ H EAWI o) G gad g 3

(A) W11 THTEHT

(B) g few sameraon

(C) Te=dt seraity =Tty

(D) 55 & 1 7
98. T, e, fagmw aik fmam wieg fom, e
PR % S7yW Wwy weed §|
(A) =TS
(B) FTe
(C) &R
(D) ¥4 & *¥E 7
‘99;@%+m=aﬁmhéﬁmm%l
PR @)
B) 71
©) 7fg
(D) 398 9 =1 7

100. ‘e garr TR F e g
(A) "R Fm farmg 27

(B) =gd Yar

(C) ga g

D@,‘

R

(D) 9 8 =1 75

X20 L
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Haryana Police Constable 1 Nov 2021 Morning (3rd Paper
4 7

The Cold War began after
(A) Disintegration of Soviet Russia
(B) Second World War

(C) Establishment of League of Nati
(.D) First World War

ons

If the diameter of the base of a cylindrical

pillar is 4m and its height is 21 1, then
the cost of construction of the pillar at

Rs. 1.50 per cubic metre is

(A) Rs. 410 (B) Rs. 400

(C) Rs. 396 (D) Rs. 420

The Autobiography of Nelson Mandela is
(A) Walking with Wind

(B) Freedom in Exile

(C) Long Walk to Freedom

(D) A Testament of Hope

The most unique mammalian
characteristic is the presence of

(A) Mammary glands

(B) Eyes

(C) Feet

(D) Heart

Development that meets the need of thﬁ
present generation withoutcompromising
the ability of the future genera@@on to
meet their own needs is known.as

(A) Natural Conservation

(B) Sustainable Development

(C) Ecological Balance

D) Environmental Gradation

1+ _1 -0
1
1+—'I
1+=
3
4 4
= 9=
(A) 37 (B) -
4 4
=2 i
©) 17 (D) -

AUKUS partnership is between
(A) Australia-Russia.-U.S.
LB‘r' Australia-Ukrain-U.S.
(C) Australia-U.K.-Russia

(D) Australia-U.K.-U.S.

-
W 2

1.

g TE 87
Yﬁag&w a1 faeed

(C) aneforr-
(D) Irreferen-gah-ud

CMMD — =~
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11.

12.

13.

14.
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Select the correct mirror image of the given
figure when the mirror is placed at line AB.

A
Mg
.” ~
B
ME SY

B
m"}é{f ®) ’/‘E

Ja

(©) ﬁ D) ‘F‘l

Nitrogen fixing legume-bacteria is
(A) Rhodospirillum (B) Rhizobium
(C) Anabacter (D) Plasmodium

Scheme to remove physical interaction as
much as possible for income tax payers is
(A) Tax-X Scheme

(B) FAME-II Scheme

(C) Faceless tax scheme

(D) FAME-I Scheme

An extended family tree outlining familial
relations across generations is terméd as

(A) Sigillography Gene_.@lpEy
(C) Epigraphy (D) None of these
Simple intereston a certain sum for 6 years

is —;—501‘ the sum. The rate of interest is
@A) 8% ®) 6%%
© 8% % D) 6%

MIDI stands for
Memory Instruction Device Interface
Memory Instruction Digital Interface
(C) Musical Instruction Device Interface
(D) Musical Instrument Digital Interface

Which number come in the place of
question mark ?

mr9’18 15, 45, 41, ?
(B) 65

) 195 D) 74

LA D JH

l%%
N

8.

10.

11.

12.

13.

14,

CMMS - S3

& 8 sttt wd oy afafaa g @ m
%1 @1 AB W 1@ S 2 |

Wwﬁ%mwﬁmm@
‘q’%rézﬁﬁzﬁam%
(&) - X e
(B) FAME-IT TSl
(€Y TErRfEd A
(D) FAME-I Fis1
T afam 38 1 fifet & T ==
ﬁ%m% gl 9l 8|
(A) Raffreromd (B) Femas
(C) W@ (D) T & FE T

we Fafsm Of¥t w 6 9t & fog, amam s 3

T %ETW% ) I SR 7

1.
(A) 8% B) 6% ‘

2

© 3% ADT 6% ed
) [ Y ﬁ
wagEeTe (MIDI) % fo aman 21

(A) AR} SR Sy e
(B) At fega feforeet seche
(©) A feamu sao
(D) e fefree o

e fg % o e - we s ?
11,9, 18, 15, 45, 41,7

(A) 164 () 65

(€) 195 (Dy 74
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15.

16.

3.

18.

19.
20.

21.

22.

23.
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If 10 be added to four times a certain
number, the result is b less than b times
the number. The number is

(A) 25 (B) 20

W15 (D) 35

Shaving soaps contain a gum called
is added while making them.

(A) glycerol

(B) trisodium phosphate 0]
(C) rosin o
(D) borax )

Consider the word TRICHOGENOUS, on
reversing the word above and taking the
4t gt 8t and 10" letters and forming the
word using all of them, that word means

(A) far (B) near

(C) long (D) inquire
Borrowing by the Government of India 18
defined under of Constitution
of India.

(A) Article 29 (B) Article 293
(C) Article 14 (D) Article 292

Which Section of IT Act deals with u%f
legal recognition of electronic records.:
(A) Section 6 (B) Section.é\
(C) Section 4 (D) Sea@@Q
Which of the followi is
example for Cypsela of

Dry indehiscent fruit ?

(A) Wheat (B) Rice

(C) Marigold (D) Oak

The English word ‘Caste’ is derived from
Portuguese word

(A) Casta (B) Casto
(C) Cast (D) Casti
The fraction for the recurring decimal
0.535353.... i8 7 -0
x 28 @ 2 CE
( 53 53
53 26
99 D) 73

performs a power on self

test that checks the hardware devices
are present and functioning properly.

(A) South bridge (B) North Bridge

W

1

(C) North chipset BIOS

e CMMS“SQ
Y +_\0 - :
- 1 10 S
ﬁ@aﬁ@'ﬂ‘aﬁwﬂ“ _
5. ;ﬁ‘ﬁ d@ﬂ%g,gmﬁswﬁm%m
HF‘“?; (B) 20
(A) 29 (D) 35

c 16 o g g
© 2 et awgdl T TG B Y,

() feade

16. @ mﬁ%aﬁmmﬁmm1

) 7@ R %“fg
(C)frfa:l v HI "kl

(D) S 7
0OGE OuUS 7=

17. 'FR;C% éaﬂm o SR B

A A ¥

(A) far

-

rnIny

(B) nearr (5]
(D) inquire -,

long g P
il £y g v A F

Hm r a8
" Dgﬁmmﬁqﬁﬁﬁﬂ|
~Qra) 739 29 (B) 7 293
& (R D) T
>O19 ﬂ\éﬁeﬁﬁiﬁwﬁﬁﬂ*ﬁﬂ?ﬁmﬁﬁ?ﬁ
ﬁﬁﬁgﬁmﬁﬁﬁm% ?
(A) 9T 6 B) 9T 5
(C) mr 4 (D) &1 2

(&) T B) =&
(C) Fmes {DE IqH
21, 3N ¥Is8 ‘Caste’ gﬁ"ﬂ?ﬂ s
o T R
(A) Casta (B) Casto
(C) Cast (D) Casti
22. a:na?ﬁammao.535353m%%'q&a{r@'
28 217
g \ S
A) =3 ® =
53 26
—_ m —
©) 99 D) =
23. TRE | T freqifeg
ﬁaﬁm%ﬁmgmw@ﬁ%ﬁu
w3 FE F R R .
A) zfaor fors (B) I o
(C) IW (D) BIOS

4
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24- :\[Jl")liceman = . -
Boesstraight 7k
then turns right anmggoe; SIS'S?;I:?E;?S 24. @‘ﬁjﬂaw#‘mt 9 #Y s 7 freft 3
ar} :;‘llfflrf I‘iﬁht again and goes stralgl?z fibe E‘TE qea R e 1 ':; foph ﬁ‘lm aa:f{yﬁ%mﬁ
- whi R . =1 o -
skartiy pointc? rection is he from the I 2 qe %‘\ﬂ’[l TR T g e — -
T = L[ {a?éﬁ 3,1—'-]—.1:” fag“q]_? 9
(A) North-East (B) North-West !
' ‘ es (A) 3TC-v B) Tt
,.[,Cf}’S'Euth-West (D) South-East (C) feor-nfyy ) ?fa%r:; i
25. International Day of Democracy is| 25 AFAT T B
Tacy 5. &1 ; s )
Celebrated every year on ‘\ﬂ'l'ﬂ'[% ? W ﬁa}'{ AT Fe LEIv
(A) January 26t o
(A) 26 el
(B) September 15t :
(B) 15 firdan
(C) August 15 Y
(D) Noce or (C) 153
; ) .one of the above D) quﬁﬁﬁﬁ%é‘-ﬁ‘f
6. Identify the odd one out. 26. v &} wgEm 5 f
0 (A) Papa}’a (B) Cabbage LAr)/‘:lTﬁaT fBJ i - _ ?::"
(C) Cucumber (D) Brinjal (C) D) :;_r::- 7
27. A bike covers a certain distance at the | 27, u% agw 8 5 64 frft /i £ @ :_?: o
speedof64 km/hrin 8 hours, Ifabikewasto i g 7 = 21 3 0w A Y ’
cover the same distance in approximately Y T 6 52 B FaFE o i i
6 hours, at what approximate speed B9 '
should the bike travel ? Gl i 2 7 e o
(A) 75 km/hr (B) 85 km/hr (A) 75 Tt /e m ferft /e
(C) 70 km/hr (D) 90 km/hr , (C) 70 ot feren (D) 90 foeft /2y
28. Wilkinson catalyst is a complex\” 28, T 30 s = = I 79
used for the hydrogenation of alkenes! T sfed 21
(A) Ruthenium (B) Platinum (A) wefmm (B) Eﬁﬁ‘-r‘q
(C) Rhodium (D) Palladium (C) TfeTm (D) ?W’ar
Direction 29-31 : Read the followinginformation faenfdw 29-31 : Rerffias ger 1 o2 4 oz o
carefully and answer the questions that follow : Tyl & I A
I. Five friends P, Q, R, Sballmnd T @ra}xgellli{ea%ato R D e —
five different cities to Chennai, Ko ; : ) @ D, il
Dglhi, Bangalore and Hyderabad by five lcrer, fogft, Shreik afv devae aammr; 4,
different modes to trgnspc%:‘t th%u& El‘_ams TS, T SRS, T ST A1 2 s & A 2
Aeroplane, Car and Boat from Mumbai. T s AT E e
II. The person who travelled to Delhi did not | L. fegt s 3 3k Q e TE T
travel by boat. 111, R%FR g draan Y Rl IR
III. R went to Bangah’fre by car and Q went to e | . -
Kolkata by aeroplane. 1 % R S T Y g
IV. S ::)ravelleg by boat whereas T travelled by | IV. ij:;lm L
V. lti?l;:}li}ai is not connected by bus to Delhi v, gad, s g R offt 99 § 7€ 9
and Chennai. . ‘ -
ot frefafga | @ sufaa o anm w1 & -
29. Which of the following combinations of | = 29. e sl
person and mode is not corref\t ! " A) R—¥R ABY T - T S
(A) R-Car (B) T-Aerop Wi (C) S .7 D) P_ww
(D) P-Bus ey ©F
(C) S—Boat g _—
-5-
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The person travelling to Delhi went by

30.
which of the following modes ?
(A) Aeroplane Mmin
(C) Car (D) Bus
31. Which of the following combinations 18
tryeHfor S 7

) Chennai — Boat (B) Chennai — Bus
(C) Datainadequate (D) Delhi — Bus

32. Inthisquestion, two statements are given
' Choose the

['((Jljowr:d by two conclusions.
Conclusion (s) which best fit (s) logically.
VAL
M
O/ - %ﬂ?j
Conclusions : HRE
I. No man is lady.

/é‘I/SOme men are not woman.
) Neither conclusion I nor II follows
(B) Only conclusion I follows
(C) Both conclusions I and II follows
, (D) Only conclusion I1 follows
33.\ A sum of Rs. 6,240 is paid off in
O 30 installments such that each installment
isRs. 10morethanthe precedinginstallment.
The value of the first installment is

Statements :
1. No man is woman.
2. No woman is lady.

(A) Rs. 60 (B) Rs. 30
(C) Rs. 63 (D) Rs. 36

34, In a marchpast, seven persons are
standing in a row. Q is stapding left to
R but right to P.O is standing right to

N and left to P. Gimilarly, S is standing
right to R and jeft to T. Find out who is
stapding in the middle ?

) Q B) R

€ O D) P
If a person gets infected with
SARS-CoV-2 virus 14 days after the
second shot of the vaceine, it is called as

(A) Break even infection
(B) Break back infection

(C) Broken infection
Breakthrough infection
to

—.366 Bears undergo a period of
& escape stress during winter.

)
‘ifé (A) Migration (B) Aestivation
(C) Sporulation (D) Hibernation

35. the

-6-

X15

R

31.

32.

33:

34. Th

35.

36.

ﬁfﬁ.’:;?amﬁ’frr%waﬁ%l
II. gﬁgaﬁﬂaﬂ'{ﬁﬁgl
A) qﬁrﬁﬁﬁlﬁﬁﬂmm%
(B)aﬁﬁﬁﬂélmﬂﬂ—mwé _
(C)aﬁﬁﬁélﬁmmﬁﬁmﬁ%
@)mﬁﬁﬁna@a@rm%
6,240m%ﬁ0ﬁ1$f€'ﬁ”30%ﬁﬁ€:
mﬁmm%ﬁﬂﬁwﬁmﬁﬁwﬁ@ﬁﬁw
% 10133:%@@%%@@%
(B) %. 30
(D) % 36
o g qaﬁfrﬁ{ﬁ@@?l@g_ R
S pFadal O, N HICE*

B e
, 3N

(A) %. 60
(C) %. 63

(B) S A HhHT

(C) S FHHT

(D) Sy GHAY

wey aféat & g @ s efow

%) 1 afty Fred 8

(A) Ya&T (B) ey R
(D) Mk

(C) sfismmoperst

o (U RS "}

-t
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38.

39.

40.

41.

42.

43.

0
|lB

44.

45.

P Control unit

r;f\
— " v
ATy

Where we find

Adai-dinka-Jhampara
mosque ?
(A) Ajmer (B) Agra
(C) Janpur (D) Delhi

Some amount out of Rs. 7,000 was lent
at 6% p.a. and the remaining at 4% p.a.
If the total simple interest from both the
fractions in 5 years was Rs 1,600, the

s nt at 6% p.a. was
4&%500 ol

. 2,000
(C)' 3,500 (D) none of these

In a given Url http: //www.xyz.com/tutor/
start/main.htm, www.xyz.com is a

(A) Path ,{«B)/I')omain name
(C) File name (D) Protocol
5:3b::

(A) 11: 55 (B) 9: 45

(C) 3:24 Py 77T

In October 2021, World Bank has

approxfed a USD 150 million loan program
for which of the following States ?

(A) Punj?.b (B) Rajasthan

(C) Tamil Nadu (D) Haryana
Which of the following countries will host
the second United Nations World Geospatial,
Information Congress in the year 20222,
(A) India

(B) Afghanistan

(C) Sri Lanka

(D) None of the above

In Denmark, the movement has been so
successful that practically every farmer
is a member of which type of following
farming ?

(A) Co-operative farming

(B) Truck farming

(C) Viticulture

(D) Mixed farming

According to Human Development Index
of 2016 the rank of South Korea was
(A) 25 (B) 18

(C) 14 (D) 130

_ unit accepts instructions and
data from the user with the help of input
devices,

(A);s,tf;ragc unit (13) Output unit

(1)) Input unit

in, Te ‘Group "
e B T

=
Z5 A

37.

%%@% (A) FHei

38.

39.

40.

41.

42.

43.

44,

45.

agqgs.in"
ool

jwfoo ﬁ« CMMS - S3

2 AUD°

s - fam w1 -zreurm ofese #=f w fem 2 7

(B) =TT
(C) s|qe. (D) feg
7,000 77 18 FF ufnrFr g o wfaad F1z g
v femn e an 3 moaR) 4y, ufs 1w
vt fen Ty o) afe 5 o of e wmaEon ST
1,600 ®I0 Y 2, A 6 %, wfa ad £1 27 @ 7w
& 8w of
(A) 5,000 (B) 2,000
() 3,500 (D) =74 & % 7
U few o Url htt,_p:!!www.xyz,cnmftut.nrf
Startfm_gin‘htm, b www.xyz.com TF

|

A) T B) 48

%Cg H1Ee M (D) s
5:356::

(A) 11:55 (B) 9:45

(C) 3:24 D) 7:77

s 2021 ¥, foa & 7 Frforfas = 7 B
g dfu 150 faferm smteh s % #=
R P R AR 7

NREIC] (B) TS

(C) dfreg (D) wfeEmn

¢ 2022 # Freffas # & FH-T1 2 W
T o Tk e B ] e T
(A) v

(B) HEMHEH

(C) et

(D) 39ad | & IS T8l

IS § FH-T1 AR I THA 7 2
TR & 8 T U fhEm e 5 8 o T
FEA TSR ¢

(A) wEemTl et

(B) 7 @l

(C),_.giTgaﬁ@'rﬁ

D) s @l

a 2016 % WA ferehTe qEeHF F HE A
e a1 T Y
(A) 25

(€) 14

(B) I8
kl‘” 130

e e o TS w1 e
A oTmTa it ) werwan ¥ wlenr war R
(1 frfa g

(1) T §eTS

X156
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46,

47.

48.

49.

50.

Bharat QR - 4 QR (ode-based digital
Payment mechanijgm developed by

(A) State Bank of India

(B) Reserve Bank of India

(C) NABARD

(D) None of the above

o software enables users to query
e llnfiex and that usually returns
results in term relevancy ranked order.

‘&;)(Dntabase
Indexing software

(C) Search engine mechanism

(D) Spider

[t is an approach or perspective used to
study the society in a class angle

(A) Behavioural approach

(B) Dialectical approach

(C) Holistic approach

(D) Integral approach

Which of the following is/
are the Fundamental Raght/s
provided by our Constitution ?
A) Right to Freedom
C; If{igg]};t to Equalﬁty :
1gnt against Exploitation
A]_F the above P

Reserve material in prokaryotic cellstare

stored in the cytoplasm in the forinof
(A) inclusion bodies

(B) galactic bodies

(C) golgi bodies

(D) intrusion bodies

/5-1‘.\ A cube of volume 64 cm? is cut
|\ into two smaller and identical

15

cuboids. The faces of dimensions
4 x 4 of one of the cuboids are
painted with black color and
the rest of its faces are painted
with yellow color. One pair
of adjacent faces that do not
include any face of dimensions
4 x 4 of t%e other cuboid are
painted with yellow color and the
rest of its faces are painted with
black color. Now each of the two
cuboids are cut into 32 smaller
and identical cubes. How many
of the smaller cubes have exact]

two black and one yellow faces °

(A) 4 (B) 6
(C) 5 (D) 3

47.

438.

49.

50.

51,

e

CMMS -84

SREE
(B) S2fn e
(D) ¥1EET

it & efed @ G 1 AR F 5

o e 2
(@) R g2
& S
(
ﬁqﬁfﬁga(maﬁiﬁﬁﬁq /8 gAR wfy
el mu.‘i‘?‘:
e AHER R/ 7 .
(A) T &1

B) @@ &
gcg,iﬁwéiﬁmmaqﬁw
D) 39Tt g+t

)

N T mwey
B T L

& T pe
(C) et fpmai
(D) Fgs ferrart
64 cm?® IAAH F TH U FI 3 I 7 7
BT H 1T STAT 8 | U 9T 3 4 x | W
T TS B B R T R
9 931 ) 41 @ G 2 7
4 x 4 AEHR T fFE o g F o
el R C EURE I g
Tl T1 R T M1 21 3t Q1 ey & 8 7F
I 32 B 3 THA o1 & e oy w21
ERRRRCEE R c R SR
Y3 offelt g 7
(A) 4

©) b

B oy

3 :.-fr’

.
=]

(=143, (=1

B) 6
(D 3
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52.

53.

54.

55.

56.
)

(§

J

o7.

58.

59.

Partnership for Clean Fuels and Vehicles

(?{A)f’)’initiative by
«A) UNESCO

(B) UNDP
(C) FAO
(D) UNEP

When did Mohammad-bin-Quasim
invaded over India ?

(A) 718 C.E. (B) 714 C.E.
(C) 719 C.E. (D) 712 C.E.

In a row of ten boys, when
Rohit was shifted to two places
towards the left, he became

seventh from the left end. =]

What was_his earlier position

from the right end of the row ? =77
(A; Fourth Second
(C) Sixth First

Allen’s rule is with respect to
(A) Fishes (B) Mammals
(C) Urochordates (D) Invertebrate

Insert the missing character.

(|Z S |19 j W, K
R 9
? C

?
o
. G

(A) WLI (B) UOI

(C) VKJ _DY"WKJ

National Bank for Agriculture and
Rural Development (NABARD) came
into existence on
(A) 12 September 1994
2 July 1994
(C) 12 July 1982
(D) None of the above
LCD stands for
(A) Liquid Cathod ray Display

(B) Liquid Crystal Display
/Geﬁ;quid Color Display

(D) Liquid Code Display

The largest tributary of the river Indus is

(A) Chenab (B) Ravi
(C) Sutlej (D) Yamuna

3

el
ofiol

52.

53.

54.

56.

57.

58.

b69.

CMMS - S3
AT BR Tl e iz A (POFY)
0 3NN fohay
(A) UNESCO
(B) UNDP
(C) FAO
(D) UNEP

Aiere - fo - e 3 e o 3 sy o o 7

(A) T18 C.E. (B) 714 C.E.
(C) 719 C.E. ‘ (D) 712 C.E.
6 T o1 U il o, 1@ 1z ) 21 e A

T"@wﬁmW,aEEm'mﬁmame|
ufed & 318 7d B 391 fmef feafa 2 o 7

(A) =it (B) zt
(C) B3 (D) weeft
(A) q@‘%’q‘? (B) &4l
(C). qaiEar (D) Tl
Jq< e = gAY
1z T2 [s e
R |0 |? 3%‘5
? |ag |[cC
(A) WLI (B) UOI
(C) VKJ (D) WKJ
e qa‘ﬁ IR g fTEm §F
(NABARD) _ # sif@w
TR T |
(A) 12 fasR 1994
(B) 12 o 1994
(C) 12 TS 1982
(D) IWa | § T T
TeE (LOD) % fgaman?
(A) fofaars Fene 1 foest
B) fafers frmea feet
(©) fafare wew feve
(D) ffdre e feewd
Ry 7 o) et ) e &
() TasTst (D) gyt
X156
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60.

61.

62.

63.

64.

65.

66.

67.

68.

X15

India has ratified which among the

following International Conventions On

corruption and bribery ? )

(A) 8 1cag?_C0r§\6%%tion against

orruption

§B§ UN Convention against Corruption 2003

C) New Delhi Convention against
Corruption 1998

(D) Geneva Convention

The exaggerated response of the immune

system to certain antigens present in the
environment is called

(A) Auto Immunity (B) Synergy

(C) Syllogism Allergy

How many odd numbers are there in
the sequence which are immediately
preceded and also immediately followed

by an even number ?

(A) 3 (B) 2
©) 4 D) 1

While measuring inflation, we take into
account a number of goods and
services used by the people of a country.

(A) Large (B) Zero
(C) Infinity (D) Small

What is the maximum number of pieces
into which a cube can be cut by 16 cuts?

(A) 222 (B) 256

(C) 252 (D) 216

National Dairy Research Institute
(NDRI) is established in OF40)
(A) 1966 (B) 1988 i
(C) 1960 (D) 1987

Who was the author of Devichandra
Guptam ?

(A) Vishakadatta (B) Rajashekara
(C) Shanku (D) Dandi

If 15 men can build a wall 108 m long in
6 days, what length of similar wall can

be built by 25 men in 3 days ?
(A) 88 m (B).85 m
(C) 95 m ) 90 m
Golden Crescent of opium production

refers to

(A) Nepal-Pak-Afghan
(B) Iran-Pak-Afghan
(C) Bangla-Pak-Afghan
(D) Iraq-Pak-Afghan

60.

61.

62.

63.

64.

65.

66.

67.

68.

CMMS - §3

gmgﬁm#ﬁg%? i
() sy 3 f R = 200

B) yreerem 3 Flael 0 F=TH 2003

(C) wreeram % g 7 Ffl FH 199

) suferd %o dfdsHl & faeg afam

qataon # T TIdSHl & Td%

5 1 arfasfafET FEATd 2| .
Rret (D) werst

@/ 2E
Wi

4) 3 ® 2z =
(C) 4 D) 1

wETeIf 1 AT W, §H T 291 F A A
e 1 TS At i garet #

e R e 2| >

@A) ==t @B =

(C) ¥Fd D) B

TS U H! 16 H1E g Awan s gwe §
FRT T HFATS 7 -
(A) 222 (B) 256 .
(C) 252 @) 216 |, (Y¥°
NDRI o1 €101 el §3 7 2

3 g oG FIE @ wE@ATE

(A) 1966 (B) 1988

(C) 1960 B 1987

SIS e % SEd AT 7

(A) foemraeq (B) TSISIER

C) % (D) <&t |
afd 15 e¥ 108 Hiet st far 6 &= 5 7
A @, a1 25 [N gr A feAt § g
&Y et ag s SEad1 2 7

(A) 88 m (B) 85 m

(C) 95 m (D) 90 m

AW I w1 @il afag ¥
wafod 2|

(A) TSI -UTa - HAHTTH

(B) $UH-9T&H - HABTH

(C) ST - IAHT
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69.

70.
@EE

71.

72.

73.

74,

If. ‘may august march’ is written as
‘hig lyym cao’ and ‘december july march’
as 'sow 1y¥m skz’ and ‘may april december’
/2;%3 b{g sow’, then ‘april’ is written as
kgx (B) skz
(C) sow (D) hig

Consider the following statements about
socialist society or economy.

I. Distribution under socialism is
supposed to be based on what
people need and not on what they
can afford to purchase.

In a socialist society the
government decides what goods are
to be produced in accordance with
the needs of society.

Choose the right option given below :
(A) Both the statements [ and 11 are correct
(B) The statement II is correct
(C) Both the statements [ and II are

incorrect
(D) The statement [ is correct

I1.

Abus that connects to all three components

(CPU, memory, I/O diys called a
System bus

(A) Public bus
(C) Private bus (D) None of these

The government may spend an amo N
equal to the revenue it collects, t s
known as ’

(A) Balanced budget QN

(B) Surplus budget N
(C) Fiscal budget

(D) Deficit budget

A system of dual control at the district

level is introduced under Section

of the Police Act, 1861. )
CIELH

@) 5 ® 4 i

Chess Grandmaster from India after

CMMS - S3

7f2 ‘may august march’ @! ‘hig lwm cao’
3t ‘december july march’ ! ‘sow lwm
skz 3 ‘may april december’ &1 'kqgx hig
sow’ forar s 2, @t ‘april’ feman s 2
(A) kgx (B) skz
(C) sow (D) hig
ST gt a1 Adeaen # = 1 Frefataa
et o femm o) o
1. HATsTaTE % ded e A 1 = T
et BT ST R 3 39 9 A A
@iiE ahd 8
I1. GuTsETd) JeTs § HHT T8 T3
Feft 2 &6 g A A F
argan foRa At = gee
fpan ST 21 .
fyefafiga § @ @ fGwes H =g7 =)

(A) Bt e 1 3t (152
(By Fem 11 @1 2
(C) e I 3R 11 3F &1 721 2
(D) e 181 R
71. Q%ﬁ (&3, T, VO feams )= wes
Giret =g ) e B

69.

70.

who crossed the ELO Rating of 2500,
in Vezerkepzo Grandmaster Chess
Tournament at Budapest, Hungary is
(A) R. Raja Rithvik

(B) Raj Rothak

(C) Pankaj Rothak

(D) Abhimanyu Mishra

07 () afees = ®B) foemwa
O (C) WA T (D) T | F T
72. TR $Heh G THIAG (U T TS F FE
Tl 1 =9 & g1 2, FEd Bl
Wﬁgﬂw
B) ESr
(OREELIRESH
(D) HTe & S
73. atfafaw, 1861Fam_ F¥ae
TR W BT qone IR
TS R
(A) 5 B) 4
) 6 D) 3
74, TR & IS TSR SEs I TR
s wfreut gemie, @1 2500 FELO
e =Y ar R foran @
(A) 3T, T HKicH
(B) TS U3
() uahst U

A7k

(D) arfr=y fs
X15
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Which of the following symbols must an | 75, U 30 ma 1 freferfiad o 9 F1-8 Tha B
e-mail address haye ? =ifeu 7
) & ® A) & 12) E—
©) @ (D) none of these ‘,_/Gf‘?j' (@) ”)2 Ll A 18
Sita is the niece of Ashok, Ashok's 76. i I &) qeftsfl 21 'ﬂmﬁmﬂﬁfﬂh
mother is Lakshmi. Kalyani is Lakshmi's earof] ereft ) qren 21 oAt qfﬁlTTtrr@
mother. Kalyani's husband is Gopal. 3| qrdet e # w2 e moE 3 B
Parvathi is the mother-in-law of Gopal. e et B 7
How is Sita relatIed to Gopal ? A T e o 2
(A) Sita is Gopal's great. granddaughter =y S ~_ 8
(B) Gopal is Sita’s father (B) ivren e =1 Foer &
(C) Grandniece (®) m‘_ﬁ_ﬁjﬂ
(D) Great grandson’s daughter — (D) et it gt
100 J of heat is produced each w4 77. U 4Q wfaia F ufd dFE 100 J T I H
second in a 4 Q resistance. Find &% stret # | wfertere o farar 3@ w0
the potential difference across iR
the resistor. |/
A) 15V (B) 10V A) 15V (B) 10V
(€) 20V D) 5V | ©) 20V D) 5V
IPC has total Sections. 78. 7 % w2
(A) 515 (B) 511 W) 515 4B 511
(©) 516 (D) 510 \37 (C) 516 D) 510
——_is a device that moves in all | 399 _ T g R S wf famedt # w2
distribution and controls the movement 0 3N e & fd = FatE w2
of the cursor. > B S p
(A) Joystick (B) Keyboa * (A) Siafes (B) #rs

ouse (D) None@@ese (C) uT3d (D) T 8 FE 79
Thet's trgnsftﬁn&ation of wat@fmur into 80. oA W1 ol § Ifads FEeTar
water is called as
(A) Sublimation N @) ﬁwm ko 8
(B) Condensation (B) 4

vaporation (C) Aot
(D) None of the above (D) 3T § & F¢ T

On a journey across Kolkata, a taxi
averages 50 km per hour for 50% of the
distance. 40 km per hour for 40% of it
and 20 km per hour for the remaining.
The average speed in km/hour, for the
whole journey is

(A) 35 (B) 40

(C) 45 (D) 42

Tiny bodies that consist of mainly genetic
material and a long tail that helps them
to move towards the female germ-cell is

(A) Thrombocytes  (B) Qocytes

(C) Neutrophils My Sperms
" ¢ )2, "
W

81.

IR ) AT W, 50% T & fag o 3t =
aivea fdr 50 foreft ofdy w21 B 40% W F T
40 et wfd w21 o o 0 20 R sl T +
T 2| O A 7 i vy (et mer R @

(A) 35 (B) 40

(C) 45 (D) 42

B1e fenra fomd srfirrer. sy gam -
sl 4 & 3 213 ¥ ot 3R wiEy I PR
3N e ¥ wEra E 2GR

(\) Wwarge (B) g
() M (D) BT
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90.

(D) None of the above

If the third day of a month is Tuesday,
which of the following would be the 4"

day before the 27" gwat month ?
(A) Wednesday ) Monday
(D) Tuesday

(C) Sunday

In which of the modes of cross pollination
the pollination is brought about by wind ?
(A) Zoophily

(B) Hydrophily

(C) Entomophily

(D) Anemophily

89.

3. InIndex numt T . o
3 price is assur;l)eer_{ t(c_.f \Geh‘]%{ﬁ_,‘“*“' II 83. fo ad Fh e T e 100 s B e 7
l(_r\) (I}ase year : | (A) 3ATHE
(B) Current year (B) =I7e] 94
(C) Selection of priceg ((-:}) ;;:%1 1A
(D) None of these (1) Tt @ e
84. e — trai:i ?Jset of rules that enables 84. {1 us wHeE 2 1 U ST
to another. siet Hlles fromx oneayetem i 1 O 2 A gat # wget EEa #3 o
| HefH &hldi w |
(©) 'l;"ZlI:met ) ety , | (A) ¥FTP (B) http
. B op (D) None of these (C) 2 (D) =78 8 = 7
. How man A o ‘ . i
Ay o yeeccaysar erein 400days? | - g5, 400 firft # fope o foa #
©) 3 k) 4 (A) 2 ®) 4
(D) None of these ©) 3 (D) =8 & = =
. At bkt i v v | s, e g
by friction in 1OSOCT11?e’zr?ftﬁglso g-?ﬁ?t'om:;ec} [ 5 @, 54 6 il Ao A R s B, ﬁ‘ -
: -efficie 8 '
friction is nto %ﬁ; T 10 g 3 o ST 2 | S O B
(A) 0.06 (B) 0.03 (A) 0.06 (B) 0.03
(C) 0.01 (D) 0.02 (©) 0.01 (D) 0.02
87. The layer of the atmosphere in which &g = Yfte e o
di j > in which | g7 e e W fEH 7 :
e Hered Bde e s o el R AR
/@ﬁj}lﬁfnosphere _(vﬁesnsphere (A) 3TEA Hed B) ﬂmﬁm
(C) Troposphere (D) Stratosphere (C) &1 Hed (D) &HA™ HSA
88. Which of the following Portal has bee.n ‘If 88, F=fafgd § @ &W- s TSR 3FAGET
developed by the Central Government in TS aTs AT ) HE § T =R
order to provide a platform for senior crt:gens e
in India seeking employment opportusiities ? '
(A) CPGRAMS Portal &7 CPGRAMS W
(B) COWIN Portal (B) whifa qréa
(C) SACRED Portal (C) Tghe U

(D) I | | 1S 7=

I Rreft T &1 drew R FeER 7, 39
TR ¥ 273 R @ O A e R R e -

e gm ?
(A) FHaER (B) §WaR
(D) "TEER

(C) Taaw

90. o o S e Rty 3 o A gRr g R 7

(A) S{fSett
(B) ETggiehet

() wefe!
_¢hy vt ftee

AN X1
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Fill in the blank with appropriate
r‘y.OF a creature from the

(B) warble
(D) gibber

Give one wor( Substitute for the
followmg :

Torn and iy Poor condition
(A) Tattereq (B) Taboo
(®) Tedious (D) Tardy

Fill in the blank with suitable article
m the alternatives given below it.

———— Poor depend upon the rich.

(A) A
(B) The

0 article required
(D) An

In  the following  sentence 8
has been given in Active/ "
Passive vojce. Out of the four
alternatives Suggested, select .
the one which begt expresseé
the same sentence ip Pasgive/
Active voice, 3

Why did your aunt notigive me

Some money ?

(A) Why T am not
by your aunt ?

(B) Why is some money not given for
me by your aunt ?

(C) Why were some money not given
for you by my aunt ?

(D) Why was some money not given to
me by your aunt ?

given some money

Fill in the blank with appropriate
phrasal verbs from the alternativeg
given below it,

How much will the auction o ?
(A) Bring forth (B) Bring in

(C) Bring ahout (D) Bring out

N

CMMg S3
Tt v
96. &l fRell @e @ W RARLO RiE o T
o1 g %}.W T B A,
(A) sttt
(B) 3=t
~ (E}fg‘iﬁﬁ
(D) &8 | FI3 T
97, maﬂ}____%l(ﬁﬁﬁ‘?ﬁ'rﬁm
ey e
(B) femfesral
(C) sehmal
(D) 399 & 13
98> w: + fagm = wfar o %
' I B |
(A) g
(B) ¥R
AC) Tt
(D) 578 @ ¥ 7
99. T=TF fhan e d 7
(A) =R
(B)
(Okici
(D) 11 @ ¥ 7
100. ‘wryemehiod 3
(A)

L (B) gad
."“ur,,-l‘ .
Jere'rls'l‘ (e }E{

(D) 50§ Q) )d 4

D
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Haryana Police Constable 1 Nov 2021 Morning (4th Paper)/"/-

1.

- of India has developed a technology

. X10

The Tiger Reserve in West Bengal which is
seriously threatened by ongoing dolomite
mining

(A) Jaldapara
(C) Sunderban

(B) Buxa
(D) Gorumara

Among Anil, Bibek, Charu, Debu and Eswar,
Eswar is taller than Debu but not as fat as
Debu. Charu is taller than Anil but shorter
than Bibek. Anil is fatter than Debu but not
as fat as Bibek. Eswar is thinner than Charu,
who is thinner than Debu. Eswar is shorter
than Anil. Who is the thinnest person ?

(A) Debu (B) Bibek

(C) Charu (D) Eswar

Automotive Research Association

innovation platform for sustainable
mobility called
(A) Sparrow
(C) Sponge

(B) SanRachna
(D) TechNovuus

Insert the missing character.

E| M| H

N|O| A

I ? D
@ C B) M
©J D W
The average of the first 100 positive integers is
(A) 50.5 (B) 100
(C) 51 (D) 49.50
Polyadelphous form of Androecium seen in
which plant ?
(A) Malvaceae (B) Lemon

(C) Compositae (D) Colocasia

The area of a square is
(49x* + 28x + 4). Its side is

W7 +2) ®) (7x+3)
0 0x-3) © Gx+7)
ArmY-tO-'army

India and'UKiablennial exercise between

(A) Akash :
(C) Anant Warrior ((]];3); il]f:‘]:axarrior

i9

CMMS -S3

k‘;\/

1. ufem @me # 99 ®@ SR @ 8 wHE-a

TR fed s A TR A @ 7
(A) SR (B) st
(C) getad - (D) TR

2. i, forde, ams, 3 oM e A TR g A T
2 AfF 3 o v 76 ) T P ATR R
A s A B 21 e 39 A e @ Afe
foraren Foreren e Tl R $¥at =16 @ wae @, 1 39
¥ Yool 21 ST e | Sier 81 g8 gaen A
A7

(A) ¥, B) foe
(C) W& (D) 3w
3. W HiTETEd ITEUH TEfieEE 3 gy
TTersfieraT B U qahiieh TaI-IS0] RIHH faentied
fe g, s ETGICIE
A) T (By §TI
(C) wtst (D) FAETE
4. Q@ I&H FAY
E|(M|H
N|[o]| a
1|2 ]|D
@A) C B) M
©)J D) W
5 Y& 100 U= qUrienl =1 fea R
(A) 50.5 (B) 100 .
(©) 51 (D)*49.50 g%
6, TR 1 SR T o o &
ST e ?
(A) ATeraE ® i
(C) T @) AR
q/@aﬁmm@gxuzs:cm)%ﬁﬁw
&) (Tx+2) B) (7x :3; Shae
©) (7x-2) @) (Gx+ '
g T S gl e & e R T
(A) TR - ® SLERIY
(C) 3Fa |

._@:ﬂ&ﬂ
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pirection—9 and 10 : On the basis of the information
n below, answer the following questions :

give
L.

IL.
1L

IV.

=

VIL
VIIL

10.

11.

12,

13.

R b

P,Q R, S, T and U are six members of a group
of which three are males and three are females,
There are two engineers, two lawyers, one
teacher and one doctor in the group. -

Q T, P and R are two married

couples and no person in this group

has the same profession.

T, a teacher with blue dress,

married a male lawyer with brown

dress.

Colour of the dresses of both the husbands
and that of both the wives is the same.

Two persons have blue dress, two have
brown and the remaining one each has black
and green.

P is a male engineer whose sister S is also an
engineer.

Q is a doctor.

Which of the following is a group of female
members ?

(A) QSU (B) QSR
(C) QST D) QTU
Who is the wife of P ?

A S ®B) Q
©OR M) T

If + means X, X means +, + means.<
— means X, then what will be the value
of 50— 10%x20+5+27

Join Telggram Group "Hary nsP;J{obs.

ms

1 Fi
NP Q. R, 8, T 3tk U v wnge 3 6 wee & Rt i

(A) 490 (B) 500
(C) 520 (D) None
Who were the pioneers of Mesopotamian 12.
civilization ? )
(A) Assyrians (B) Akkadians
(C) Amorites (D) Sumerians
L, M, N, O, P, Q and R are seven points | 18.
on a field. O is 220m to the north of P,
L is 180m to the north of M, which is 19m
to the west of N. P is 40m to the north of R
and 30m to the east of M. Q is 220m to the
south of L. How far and in which direction is
Lfrom N?
(A) 181m, South East
(B) 180m, North East
(C) 181m, North West
(D) 180m, South West
: 220 — P
Jipa 2 1) 5
: (s}
"'T D =
M- '3 '{‘:

M

,’n" CMMS - S3

o:w%mmﬁmﬁf@ﬁaﬁiaﬁ

I
Teq 3R o Afeand 8

I = @ Sehf, @ ahid, T e AR
gt gl -

I11. Q,T,Paﬂtnaﬁar%agna%aﬁxwﬁﬁwﬁ
ofY safei &1 reE gaH e 2

IV. T,us sreams & 5t Aid Rrama d 21 o feramd
aTet et @ forarg o 21

V. 2 gfdi ol 3 ofe % Rram @ @ @ 2

VI <) saff & forara o a1 Hen 2, 2 1 @ 3
= gu i & el % e TR

VI P gor s 3 o) sie S oft T ol 1

VIIL Q& faféheaa 21 :

9. Pioffes # & &-w alken we=dl F
e 7
(A) QSU (B) QSR
(C)-QsT (D) QTU

10. P T AR 7
(A) S B) Q
© R Oy T

R o+ @ oAt x, x @ o+ + @ o
—F 3 X, A 50 — 10 X 20 + 5 + 2 o WH <41 2ATI ?

¢ (A) 490 (B) 500
(C) 520 (D)% el
HHreIET it Wl & 9 yewie B 9 ?
(A) TR (B): aerifeas
(C) I (D) gt

LM, N, O, P, Q 3R R @ & W & fig R
O, P % 3w # 220m ?1 L, M % I # 180m 2, -
S NF UM H 19m 81 P,R F 3w H 40m sk M >

T H 30m R Q, L ¥ 2R 220m 2
L, N & forerft gz of e Rem i @ ¢
(A) 18130, =fdur g '

®) 180, I g

(C) 18131, ST ufdm

(D) 180, zfor afim

AL |

i
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17.

18.
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Indian agricultural 'economy is shifting from
(A) Primary to agm':ulture _

(B) Secondary to primary 3g1‘flculture

(C) Primary to secondary agl'{culture

(D) Tertiary to secondary agriculture

The following question is based on the series

ABCDEFGHIJKLM
NOPQRSTUVWXY?Z

Which letter should be ninth letter to the
left of the ninth letter from the right, if the
first half of the given alphabet is reversed ?
A P B) D

© E D) I

Abraham Accord was signed between
(A) UAE and Israel
(B) UAE and Pakistan
(C) Pakistan and Israel
(D) Egypt and Israel

Select the correct mirror image of the given
figure when the mirror is placed at line AB.

A ;
E 4]
B )

by i0|

4) ®)

©) D)

A house was sold for Rs y_by giving a
discount of x%, then the list price was

100y 100y
@ 3> o
100x 100y
G5 ®
100

The blood vascular system in cockroach is of
(A) both (B) and (C) (B) closed type
(C) open type (D) none

14.

16.

16.

T Y
(A) STIfien

(B) T
C Tt 4§ gfadias
B s & e

fFrfefad ¥e 36 SFEaT TR

ABCDEFGHIJKLM

VWXY?Z
NOPQRSTUYWXYY

qqauﬁaﬁﬁﬁmazﬁaﬁaazﬁmma,
aﬁﬁqﬁm%mﬁaﬁwaﬁq-mamaﬁq?
A) F B) D
©) E- M) 1

(B) IR 3R wif&™
(C) uiferEa™ 3R FSRIEA
(D) i 3R 5

17~ @ ah 1 we wdor wfferm give e o S

A

Q

18.

19.

%mABq;t@TAaraTél

®

()

T Wl x% G2 IR y T99 7 =1 > o1, R
SHHT T g 1 ot ?
@A) 100y

1-x

100x

100 -y

Hichire 1 T ATRHI o BT &
(A) B)MM(C)IF ' (B) &€ WFR
(C) T FFRFH (D) =g et

100y .
100-x

100
s

100

B)

©
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90. 'The conference which established
International Monetary Fund

(A) Paris (B) Sanfrancisco
(C) Philadelphia (D) Bretton Woods
, {

91. Testosterone is secreted by
(A) Ovary (B) Pituitary gland
(C) Testes (D) Adrenal gland

99. Satish remembers that his brother’s birthday
is after fiftcenth but before eighteenth of
February whereas his sister Kajal remembers
that her brother’s birthday is after sixteenth
but below nineteenth of February. On which
day in February is Satish’s brother’s birthday ?
(A) 18® (B) 16
(€) 17* (D) 19*

238. Following are the types of modem :
1. Internal modem
2. External modem
(A) Both 1 and 2 (B) Only 1
(C) Only 2 (D) Neither 1 nor 2

24. The Architect of Indian Planning
(A) Jawaharlal Nehru
(B) Dr. Manmohan Singh

E4ds; (C) P.C. Mahalanobis

S8 (D) Dr. Ambedkar

925. Which of the following is/are the UNESCO
world heritage sites in India ?

(A) Agra Fort

(B) Buddhist Monuments at Sanchi
(C) Ajanta Caves

(D) All the above

26. 18 a program that adds functions
to the webbrowser such as an audio player
or a compression utility,

(A) Helper Programs
(B) Plug-ins

(C) Native Support
(D) None of the above

27. The largest phylum o in i
Q) Anfionis Tr A
(C) Chordata (D) Pisces

28. The asthenosphere is i
(A) The lower portion of the mantle
(B) The portion of earth beyond the crust
(C) The upper portion of the mantle
(D) The inner portion of the earth core

b~

G

W7 cMMS - 83

20, 7% e frail stdwia g i A T g

(A) Af - @) AR
(C) frermfetwan Wéza q5H
21, TR g wifara gl 3l
(A) @ (B) i ufa
(©) Fuu (D) Jofga 5

00, wdlte A T } FF 3wk W w Sl 15 FEd
¥ wre AfFT 18 FEl @ TEd & TAfE TR 95
e ) A2 2 FoF 3G Té @ Sfed 16 FEt
are ARR 19 e A w0 31wl | fre o wdn
FudF AR ?

(A) 18 (B) 16
(©). 17" (D) 19

03, Freferfaa & @ 772w & YR &

1. mﬁ:ﬁqrr‘r%ﬂ
2. 9T8g

(A) 1 3 2 31 +
(€) Fae 2

24, WGl AV 3 ST B
(A) SR TT&

(B) o1, wieA e
.o, meeEifedE |
) €. JeTH

25, frmffad @ @ BF-a1 wia 1 Zren! % fawa e
WA R/E 7
(A) =T = fehen
(B) T ¥ g T
(C) 3ria <6 THIE
@):mﬂzmmﬁ .

26, _ TS R S Aerereon d G shed
R, 90 U ATTed T 41wk wdtEd wa)
(A) TETEH Wy
(B) <I-TH ;
(C) H&1 qEral
(D) I 7 A g Tl

(B) &ad 1
D) AT 1982 -

27, ofifrn @ we ag e

(A), duter
(C) wiga

28, Rl
A) e = feeram v
(B) F2 A T gt w1 vt

LY

(B) JnyTdrgT ...
(D) fram

m (C) et = Tt wm

(D) gt SR 1 3rateEn W
X10
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Thoso are the oxamples of email-client
(A) Pegnaua Mail

(B) Eudora .

() Microsoft outlook express

(D) All the nbove

I'rom the given answer figures, select the
one in which the question figure is hidden/
embedded.

Problem Figure

, £[5]

Answer Figures

BV
2 3 4
@A 1 (B) 38
©) 4 D) 2
37% of 150 — 0.05% of 1000 = ?
(A) 65.56 (B) 50
(C) 55 (D) 55.55

For short day plants which period is critical
and must be continuous ? '

(A) Semi dark period
(B) Light period

(C) Full light period
(D) Dark period

The change in total utility due to consumption
of one additional unit of a commodity is
known as ¥

(A) Average utility
(C) Initial utility

(B) Total utility .
(D) Marginal utility

Which of the following cities has been
declared as India’s first water plus city
under the Swachh Survekshan 2021 ?

(A) Chandigarh (B) Indore
(C) Gurugram (D) None of the above

Which one of the following is not present in
the compose mail page of Yahoo ?

(A) Content (B) To
(C) Cc (D) Subject

29.

80,

31.

32.

38.

34,

85,

CMMS - §

A $-T1ct TTEF o IaTET 8
(A) YA A
(B)

( %aﬂzﬁm@aﬁa
) SR

178 3 ampfrt A R, 78 gy g Rrad yy
arpfa gt 8/=wfed 21 "
T AP

VAN

& B A

(A) 1 B) 3

(C) 47 (D) 2

150 5T 37% — 1000 T 0.05% = ?

(A) 55.5 B) 50

(C) 55 D) 55.55 *

i 2 ey & R -t srafyr weagt @ ik
a8 e =nfea 7 :
(A)-31 378 37afy

(B) W11 37afYY

(C) of wehrsT 37afyy

(D) 38y Efy

T g ! U i 3o ) @ua

BRI O R S g
(A) aa s, B) F TEI=TaT

(C) 3P W= (D) mifye et
Frafefes d @ fisg :
T 2021 B Sl T e o oSS
frrmae ? e

g - ®) ©r :

%W (D) 3% A AT T
P § ¥ 3 a1 g F w9
Iqfrd A€ gar 7

(A) &2 (Content)
(C) digt (Ce)

B) %(To) -
(D) ¥ (Subject) <
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The decomposition of vegetable matter into
compost is an example for

(A) reduction reaction

(B) endothermic reaction
(C) exothermic reaction
(D) decomposition reaction

What is the minimum number of cuts
required to cut a cube into 210 pieces ?

(A) 15 (B) 17
(C) 16 D) 13
World Health Organisation (WHO)
head-quartered at

(A) Delhi, India

(B) Geneva, Switzerland
(C) Rome, Italy

(D) None of the above

—___is a machine readable code in
the form of a pattern of parallel vertical lines
of varying widths.

(A) Optical Mark Reader (OMR)
(B) Optical Character Reader (OCR)

(C) Magnetic Ink Character Recognition
_ MICR)
(D) Bar code

Which farming is free from chemicals ?
(A) Terrace farming (B) Modern farming
(C) Inorganic farming (D) Organic farming

A grocer buys two kind of rice at
Rs. 1.80 and Rs. 1.20 per kg respectively. In
what proportion should these be mixed, so
that by selling the mixture at Rs, 1.75 per
kg., 25% may be gained ?

(A) 3:4 B) 2:1

© 3:2 @) 1:2

NBAGR stands for

(A) National Bureay of Animal Garland
Resource

() National Bureay of Animal Genetic
Resource

(C) National Bureau of Animal Gland
Resource

(D) National Bureau of Ammal Glue

_ Reqource
) cz{

—
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86, TEIRY waTd a1 wEERE H ITIE Ll
A5 T IETE B
%; (A) 3T Al
(B) Feqrawiet atffsea
(C) Fircasi arfifsran
(D) e
87. wF TR 210 gFe § e F forw Fifea =weH
e 6 T B
KA 16 Y\ B) 17
(C) 16 * D) 13

88. fiva wawed 9TeA (WHO)EEIE@WJ___.ﬁ%
(&) feeett, W@

Wﬂmﬁ%
(C) TW, ged!

m)wéaﬂﬁaﬁﬁﬂﬁf

ada <ers i Hia et e
¥ O 3 w0 3§ w Al g 9 Fe Bl

(A) Hif@wa 7k {et (OMR)
(B) e Tt T (OCR)
(C) Ao § et frpfyH (MICR)
D) FRFHE
40. aﬂn-mq:ﬁmmaaaé?ﬁ%?

®) B RFN “(B) 3y FiY
(©) ¥ P D) 3R FR

41. U foAT goFeR T, 1.80 iR %, 1.20 wfy fmm.
WA A IR F T Giea 21 R v sgum

# forerman s =nfRw, @rfes s s, 1.75 v fmm.
T S T 26% 1 AN U B 7

(A) 3:4 B)2:1
(C) 3:2N D) 1:2

42, TR (NBAGR) %1 firqa w9 &
(A) 3w =g i e s e
(B e =2 s W S R
(C) et o i e e R
(D) e g 311 e e feehe

39.

- X10
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In thin queation, two atntemoents are given
(ollowod Dy two conclusions, Choose the
conclusion () which beat fit(n) logically.

Statomoents !

1) Somo switeh Ia not koys,

9) Some koy are not light.
tonolusions ¢

1. Some light nre not key.

I1. Some switeh is light.

(A) Both conclusions I and 11 follows
(13) Only concluaion 11 follows

(C) Only conclusion | follows

(D) None of the conclusion follows

The organisms which can tolerate and thrive

in a wide rangoe of temperature are called as
(A) Eurythermal (B) Stenothermal
(C) Euryhaline (D) Stenohaline

A cubo is cut into two equal parts
along a plane parallel to one of its
faces, Ono picce is then coloured
red on the two larger faces and
green on the remaining while the
other is coloured green on two
smaller adjacent faces and red on
the remaining. Each is then cut into
32 cubes of the same size. The
64 cubes are then mixed up. How m
cubes have no coloured face atall ?

(A) 8 (B) 0
©) 4 D) 18
The smallest living cells known are
(A) Mycoplasma (B) Nostoc
~ (C) Eubacteria (D) Archaebacteria

The training centre of the National Defence

Academy is located at
(A) Chennai (B) Bombay
(C) Dehradun (D) Khadakvasla

Recently in the news, “Authorised Economic
Operators Programme” is related to

(A) Supply Chain and Global Trade
(B) Cryptocurrency

(C) Base Erosion and Profit Shifting
(D) Money Laundering

oo s, @ e Ry, R a2 e,

43, Wg,aﬁﬁggﬁmmﬁmmamw

1 W@a—aﬁvﬁwﬁﬁr @

e oyt
I.WWW_:@%I
[1,@3@39%731%1 '
(A) 21 Frerd 19 11 37380 1 8
(B)‘arraaﬁm‘uaaamwaﬂm%
(C)ﬁﬁaﬁwﬁﬂmﬁm% .
(D) B st foreered 7@ &l @i @
44, AR AT D GE TR & SR T -G T £
(A) Feeaml (B) whrofrdl
(C) Jegaavit (D) wehioleraft
45, UH O A QA GHA WO A IG% TF FAS &
GG QA & ST hIeT STt 2| Rt O g
F 3 7 gl W o 3R Y R @1 @ T
8| TaIfh TE & 31 DI AT YT W E AT W
AT T T Srar 81 o 9 ) aee R F

32 Ot & 1T ST 8 | 3G 18 Tt 64 T41 Y e
T s 31 fobem =il & 1S g T T 2 7

(A) 8 - B) 0

©) 4 D) 16
46. F B Shifera Fifire 2

mﬁm (B) Tt

(C), gifRta (D) rhRfRfar
47, T S o e e Ry
(A) 3= (B) aTmy

(C) TEuEm iz E
18, TATE A e e E
A S e i g 7 S
(&) 39 e i A saan
(B) Tt 8
(C) AT &7 AR w1 Terreivecoy 4
(D) wHft =g _ :
49. CICH,CH,SCH,CH,CI ® .
(A) e (B) Wit

CICH,CH,SCH,CH,Cl is
(A) mustard gas (B) phosgene
(C) tear gas (D) freon

© =t D) fta




Join Telegram Group "HaryanaJobs.in"

'-
o Bl
EAH&;

51,

(=]
1=
H

53.

54.

55.

56.

67.

58.

At what tame, bul\-\\'ﬂl\n 8 nnd 9 0' ul(‘(}k. iﬂ

the angle between the mi
m the minute hand and tl
hour hand 80° 9 =

x

3
(A) 8 hours 13 R minutes

, i Sl
(B) 8 hours 29 77 minutes

9
(C) 8 hours 581"1“ minutes

(D) Both (B) and (C)

\\"hi:ch of the following is a
certification mark for industrial
products in India developed by

the Bureau of Indian Standards ?

(A) SS1 (B) ISS

(C) -IS1 (D) None of the above

____is faster memory and volatile in nature.
(A) Both (B) and (C)

(B) Read Only Memory (ROM)

(C) Random Access Memory (RAM)

(D) Neither (B) nor (C)

Who is considered to be the most prominent
figure of Indian Renaissance ?

(A) Rajaram Mohan Roy

(B) Swami Dayanand Saraswathi

(C) Mahadev Govinda Ranade

(D) Swami Vivekananda

Which of the following scheme has béen
launched by central government to provide
enhanced Insurance cover and_reduce
premium for small exporters 7

(A) NASIK (B) NIRVIK

(C) NAVIK (D) None of the above
The method of embryo sac formation
from a single megaspore 18 termed
development.
(A) Monosporic : .
(C) Nonsporic (D) Multisporic

If in a certain code, ‘ORANGE' is written as
‘FRUIT’, then how will ‘POTATO’ be written

in that code ?
) VEGETABLE (B) ONION
(C) BRINJAL (D) MEAT

A rope makes 140 rounds of a pylinder w:vith
base radius 14cm. How many times can it go

round a Q:,‘rlinder with base radius 20 ¢ 2
(A) 200 (B) 98
©€) 17 (D) 120

' is the ratio of the width of the

ht.
screen to the hei Dot gitch
0

(D) Resolution

(B) Bisporic

display
gA)pAs ect ratio
(C) Colour depth

B0,

61.

62,

538.

CMMS - S8
e vl 11 8 ofie o 3 i e e ard w2 aref) 4t
aYe e el g B N 80" 1 w0 g Y
(A BB 40 ﬁ- firre
(13) 8 & 20 i!i fvre

(C) 8 WG 6B -{‘31- firre

() @) aht () A
Rr=frfrg 3 & @ v A s Feaai & fa
vl s = g el o aHiE fig e 7

(A) vgumaT (1) s
(C) g ) st 3 e 1l
it 3N site gara 81 areh A 21

) (B) 3l (C) 3

(B) {ts =it 4 (ROM)

(C). Yen w| A (RAM)

@ F7 B) 7 (C)

T ST o e g gt e e e @ 7
TR AYEH T

“(B) wrft e wwEd

64.

66.

66.

67,

58.

(C) werea iz TR

(D) Tt ey

Aeffag demet 3 & @F-, or Fafen &
fRu aftfa s e 3R 9 shftn Ioerey HTH &
Ru iz g@EREUER TEL?

(A) NASIK  (B) NIRVIK

(C) NAVIK (D) 3 & R %1 7l

Freat &y & fmion ) R
?______ﬁammw%i

(A) AAEATRE (B) s
(C) FiTefh (D) wedeNfEs

af @ ' H, ‘ORANGE' & ‘FRUIT fran St
3, ﬁ"[a'aiﬁz'h ‘POTATO’ 3 &4 feran smem ?

(A) VEGETABLE  (B) ONION-
(C) BRINJAL (D) MEAT

e Wl 14 W aTruTe v AR AT & 140 SRR
et 81 amam B zoath—ar_lﬁammqgﬁa-.ﬂ

98

ST SRR T b 8 7

(A) 200 ®f

(C) 17 ) 120
ﬁﬁ,aﬁﬂ?ﬁmméﬁﬁﬁﬂwil

(A) W& 3T B) sl fiw '

(C) T el D) feqy=

X1
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64.

65.

66.

67.

- (C) DGP

68.

69.

The term Subaltern was coined by 'Itaht?xn
Philosopher Antonio Gramsci related with the
concept of

(A) hegemony (B) power

(C) hermeneutic (D) none of the above

Th August will be celebrated as day.
(A) National Sports day

(B) Football day

(C) Javelin Throw day

(D) Hockey day

Example of brood parasitism

(A) Parrot and Peacock (B) Pigeon and Crow
(C) Fox and Tiger (D) Koel and Crow
What number come in the place of question mark ?
625, 625, 600, ?, 475, 875

(A) 645 B) 545
(C) 700 (D) 875

measures the inflation levels
at the level of the consumer expenditure.

(A) CPI-IW (B) WPI

(C) CPI (D) WPI-IW
A cylindrical conductor of length [ and uniform
areaofcrosssection A hasresistance R. Another
conductor of length 2/ and resistance R of the
same material has area of cross section

(A) 2A (B) A/2

(C) 3A/2 D) 3A

Amode ofreward or punishment that reinforce
socially expected forms of behaviour

(A) Conformity (B) Social order
(C) Social control (D) Sanctions

Anofficer of the rank of supervises
the work of Government Railway Police.

(A) SP (B) Additional DG
(D) Commissioney

Most Grammy Awards winner i rd
Grammy Awar}c’i is : el

(A) Beyonce (B) Eric Roth E§¥E

(C) Mank (D) Minari  #358

Six persons are sitting in a row, P ig tg ¢

left of?, but he is to the right of Y. Rliaattg :{:g

right of X, but he is to the left of Q, which

left of Z. Who are sitting in the midd]e 7 b
(B) PR :

24 is divided ik

18 divided into two parts such that 7 ¢;

the first part added to 6 times the 1:1:?33'

part make 146. The first i
@A) 16 | e first part is
(©) 13

(B) 11
®) 17

16 [ 4

sy

69.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69,

%
(B) e 3N Fyy
(D)Hﬁ'qaa\tﬂg

¥ T T - T 3} ?
625, 625, 600, ?, 475, 875

¥

(B) 545
(D) 875
IO S o TR R GERER i

(A) 645
(C)-700

% H19aT &
(A) CPI-IW
(C) CPI

(B) WPI
(D) WPLIW

REIERAR R T ANFAAT G
CREIEI e I C AT R 2| G 1 & &

21 weTg 3R 9faly R et =Teie & R
A6 B B

(A) 2A (B) A2
(©) 3A/2 D) 3A

I w9 § anifarg sqaan 3 w0l @

36 U ST W 1 S8 1 U i
(&) quTEE

(©) sl fraor (DY whyaw

.m_mm@aﬁwﬁmﬁﬁw
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78.

74.
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76.

(D) None of the above

77.

~ (C) Discrete
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is used to specify the addresses
of :311 the recipients who will also receive
copies of the same mail.

(A) dec. B) ace

(C) cc (D) none of these
One “_rho called the Preamble of the Indian
Constitution as a ‘Political Horoscope’

(A) Jawaharlal Nehru

(B) Dr.B.R.Ambedkar

(C) K.M. Munshi

(D) Dr. Babu Rajendra Prasad

Nilesh goes to school from his village and
returns at the speed of 4 km/hr and 2 km/hr
respectively. If he takes 6 hours in all, then

what is the distance between the village and
the school ?

(A) Cannot be determined
(B) 5 km

(C) 6 km

(D) None of these

Quad is the association of

(A) India, UK, Sri Lanka, Israel and
Australia

(B) India, Japan, USA and Australia
(C) India, Japan, Israel and Australia
(D) India, Sri Lanka, Israel and Australia

Rajesh walked 25m towards South. Then he
turned to his left and walked 20m. He_then turned
to his left and walked 26m. He again turned to
his right and walked 156m. At what distanceis he
from the starting point and in which direction ?
(A) 40m East (B) 60m East
(C) 35m East (D) 35m North
What is the proposed punishment for Cyber
Terrorism in IT Act ?
(B) 1 Crore rupees penalty %ﬁlﬁ
(C) 6 year imprisonment a0
(D) Life jmprisonment

2021 ? P
]a;a)y Patient safety : A global health priority
(B) Safe health workers, safe patient

(A) 10 year imprisonment
What is the theme of World Patient Safety
'(C) Safe maternal and newborn care

i form.
ﬁ{’)Uﬁ.l:;&;fﬁta g (B) Continuous

(D) None of the above
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st 1 wft il & aat
W?@@?ﬁ%wmﬁm
|

@ AP

<. <t IR, ST
’%%.m&?ﬁ
(D) . 9/ TS TR

v o e A s @ el
muﬁdﬂaﬂwﬁuﬁda@ﬂﬁﬂ?ﬁm
2| gf ar T 6 5 o R, At it I TRE A
fghwme?

(A) Fruft 7 fman s wehar
®) 5 fordt
(©) ¢ Tt
Dy 38 | =I5 &l
Quad___ﬂﬂt{{:ﬁﬁmﬁﬁgl
(AY T, T, i, go0aet iR Siieferan
(B)' ¥R, ST, Jua 3 e foman
(€) W, STIH, S5as iR areferan
(D) ¥IRE, fieieh1, ssrae 3R AR feran

wotw afeor iR 25 W Swer B fR g
TeHT 20 Hi. =erdn 81 o = gea 25 . =

1 Rt and e 15 1. = 31 b g A aw

frafmd s ?
(A) 407t gd @B) 60Tft. qd
(C)y357t. & D)y35H. IW

A (IT) Ifufem # gt sdear & R
yEiea asT R R 7

féA’) 10 91 I e

(B) 17U TIC JHIAT
(C) 69 h g

(D) A FE™E

fomar it gean oo 2021 Mg ymFm o 7

(A) Tt e : v e wrees mufiear
(B) guEr wreea =+t gifdra Tt -
(C) G ATt 3T eSSt

D) 3T A A HE 78

CPU _ & w9 # atferer s @ )

(A) Grehfoe B) frar
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78, The leading producer of °§> Brazil (o) 1 i & -1 TR e % g
(A) Columbia (:D) Cuba 5 ﬁmﬁ{@ﬁ 37 P
(©) India B e | T o @ el s T3 SRR ol oy 414
=q. Which of the following S-echf:mn . @A) ST eI = gfe e Y um 416
' Direction of Warrant for execu e Code B) T er ag ifean = amy 4]
Section 418 of Criminal Procedure U ( W CERERL . 7
Eg Section 416 of Criminal Procedure %ﬁ © Ui &8 i Gfedt 6t um 419
O ; (3]
(C) Section 417 ofCrianal "“’ﬂﬁﬁ . (D) Ao e Y A -
(D) Section 419 of Criminal Proo S mﬁ?ﬁﬁ et Iv9 dlFal I T, T 3
Hot, dry and oppressing winds blﬂ\"}}‘:g ;I:vith yial A gl e ST R
<y Nzrthern plains from Punjab to B(; I?atna is Lk B) 9,
higher intensity between Delhi an (A) @A (D)
called =
: B) Loo ﬁﬁ (©) T
(4) Lyme : o 3T -376T 38 3| e}
(€) Kuloo i d%;rfnt gl. T dM A &l gg,g‘gﬁgngﬁm o
We are three friends. All of us havfe :‘vill be o= Wil 18 §H e, mmmé &
e s. Three years from now two of us ety mgﬁﬁﬁw% TR 7
a sam e age as two of Er‘stareee?lgf}(llé &:;‘ti&)est and T B & o 34 &l ai?lT(B) s
; i gap betw
e e P 2 (B9 g}g (D) 129
(4) 9 years g () 6 3
(C) 6 years (D) 12 year . 5 APﬁaﬁqﬁ-@{nﬁ:'ﬁ{:ﬁﬂWG%
82. The three numbers in AP whose sum is 6 82, i _%’ g .
M peoRustiie— 2441 2,26 &) 1,3,5 = 7
@ 1,3,5 e ©-11,3 @) 1, 4"@
—-1,1.8 i i :
83. ](;)ch 1/O device in a computer system is first | g3, QEEF'IE'{ ﬁmg’?gﬂi /O g -
ith the controller, called the —_— e § firerd T
:;::1:1 contrzls the operation of the device. TN i & ui=res = Fafa st
(A) Random Access Memory A) Ten g A9 -
(B) Direct Memory Access Controller (B) SriEe ANt T @E‘(
(C) Discrete Memory Access Controller (C) fe=hie amr QE#HE?"'?R
(D) Cache Memory (D) 9 Iy @ ol
84. Who was the first person used the word 84, « S o 3@"113 FA e
2 ‘Non-Alignment ? 7 ; |
 (A) Tito (A) &=
@ Nehru (B) “ew
 (C) Boris Yeltsin (©) M A
(D) VXK Krishna Menon . D) . %, FET D anllzg
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“to arrest without warrant_and is competeit 85. m% %l'Q g\%r% 3ﬂ'{ I8 gﬁﬁgﬂﬁg
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86.

87.

88.

89.

-(©)

(S'Jonaider the following statements about
ARFAESI ACT, 2002.

I. The

SARFAESI  Act essentially
lf?mp?wel_‘s banks and other financial
Institutions to directly  auction

residential or commercial properties

that have been pledged with them to

recover loans from borrowers.

SARFAESI Act applicable -only for

scheduled commercial banks.

Choose the right option given below.

(A) Both the statements I and II are
correct

(B) The statement II is correct

(C) The statement I is correct

(D) None of the above

II.

14:9::26:?
(A) 15 B) 12
(C) 13 D) 31

In an examination there are three multiple
choice questions and each question has 4
choices. Number of ways in which a student
can fail to get all answers correct is

@) 27 ®) 11
© 12 D) 63

Which of the following correctlg{ desc:r]:.bes the

magnetic field near a long straight wire ?

(A) The field consists of rafhal lines

originating from the wire -

The field consists r;f str:alght lines
dicular to the wire -

%irepgigld consists of straight lines

allel to the wire s
) g‘?;a field consists of concentric circles
centred of the wire
:an Constitution according
The past i mber of members to be

. u
to which, Rt;tj;la gabhﬂ from each State has

®B

86.

wrel siffam, 2002 % @R i Pt o

T fEm &t |

1. GeR aftfrm w3t afve = ol
el ) st & o g R At
it Faftri e 3w i T e,
) o Freeht o R 2 )

11, wrd s e g e &5
& forgam 21

i & wd forepe F T R
A) I3 Fo e
(B) %o 11 6&t 3

(C) FuA I wE R

87,

HH ‘Eﬂ
88.

(D) IR & & I3 T8

14:9::26:?
(A) 15
(C) 13

®B) 12
(D) 31

o Then § @9 agfehedia T g § R vl
T 4 T 9 ¥ | o s ol Sl Bl a@ T

| } 3rawe B & alel 6l G&TT 8

89,

90.

-18-

(A) 27 ®) 11
(C) 12 (D) 63

fafifae # @ F-91 & «@d @9 ar & P
Y1 &7 1 S T} ?

(A) &7 R & Frehet & gaTeR YEsi | & R
(B) & OR W Saaa € {@neil &1 8
(C) &9 AR % wriat e Yarat & a7 @
(D) &7 an & &g § whagmidan R

VI W™ %1 98 W s SR | TS @
T4 99T & TG R T ATt wedl 1 et 6ed 7
E KR -

(A) 4ot =R '

(B) odlf rgesh

(C) &dff arggsh

(D) 7ot argeeh

X10
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English Language

Below is given idiom followed by four
alternative meanings, marked (A), (B), (C)
and (D). Mark the one which you think is the
most appropriate.

To plough the sands.

(A) to busy oneself in an unprofitable
proposition

(B) to be resourceful

(C) to be extremely accomplished

(D) to be dejected

Find the misspelt word in the following.
(A) Repeatation

(B) Recitation

(C) Recapitulation

(D) Renunciation

Fill in the blank with appropriate word from
the alternatives given below them.

We flew the clouds.

(A) of

(B) above

(C) at

(D) from

Give one word substitute for the following
from the alternatives given below them.

To make or become young again.
(A) Relative

(B) Regress

(C) Relegate

(D) Rejuvenate

Add suitable question tag to the following
from the alternatives given below them,

They were poor, ?
(A) weren't they

(B) were they

(C) are they

(D) won't they

14 R _ R R T g
LARIN
(A) 1948
B) 1046 | AR
SSp1910
(D) 1952
97, ‘OTe YA’ HETR H1 37
AT S
(B) Fu&@ T

(C) |EwI
AP AR

fefafes vt # S-w1 = s =
IR R ?

(& =St

B) it ar=st
8 a8 <ot

(D) T A = Tl

A=l

96.

98.

99. Wi T=®
A) =
(B) @
B W
(D) 37 A =18 T
|

100,

T wfEmTS
(A) WA
(B) @u
LG (|
(D) ¥l & i Tt
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ﬁ Haryana Police Constable 1 Nov 2021 Evenin

N a
1. Twocarsare moving with speedsVyV; towards

crossing along two roads. If their distances from
the crossing be 40 metres and 50 metres atan
instant of time, then they do not collide if their
speeds are such that
(A) vV, #5:4
(C) vV, = 25:16

(8) vl:u2$4:5
(D) v,: v1=16525

2. Find the missing number.

5 6 7
3 a 5
9 10 11
Li45 460 ?
(A) 461 (8) 350
(C) 577 (D) 346
3. In Microsoft Office are used

to insert effects between slides. They are
also used to indicate 3 new section of a
presentation or to emphasize a certain slide.
(A) Drawing toolbar (B) Logos

(C) Transition effects (D) None of these

4. Facing towards South, Ram started walking
and turned left after walking 30 m, he walked
25 m and turned left and walked further 30'm.
How far is he from his starting position and in

which direction ?
(A) Atthe starting point
(8) 30 m east o )
(C) 25 m west i
(D) 25 m east
5. The four arithmetic means between 3 and 23
are
(A) 5,9,11,13 () 7,11, 15, 19
(C) 5,11,15,22 (D) None of these
6. Which flowers are also called hilaterally
symmetrical ?
(A) Regular
(C) Asymmetrical

(B) z\(gornorphic
(D) Actinomorphic

7. How many triangles are there in the given figure ?

() 14

(A) 12
(D) 8

(C) 10
Y18
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i, —adODSLINT

v %smuarrﬁa’csuﬂ% mfi'f?ﬂﬂaﬂuasﬂﬁﬂ
ﬂpaqzﬁaﬁaotﬂaamsomﬁ,aﬁaaqﬁ
i 5@ 3 A
(A) v1:v2¢5:4 (B}'v1:v2;64 5
(C) vy v1=25:16 (D) v, v2=16 25
qaEe Tl

5 6 7__-
3 5
9 10 11 %

35 | 460 | ? i
(A) 461 () 350
(C)tr577 (D) 346

#ﬁamwﬁ%%ﬁﬁmmhﬁm
@w&@%%wmaﬂﬁaﬁ%m@ﬁﬁm

e T St 2 3 fere, foban e € |
(A) 331 T (B~
(€) it § (D) 3 & 78 7€

i 1 37 5 o g T 3 e o o7
:E’g ﬁojﬁM%m“ 25 1. = 3R
- 30 . e | 9% AR
& et 70 e form R 2 7 fetd

(A) iy fag w
(8) 3071, 7
(C) 25 tft. ufyem

(D) 25 +1. &

3 3% 23 % = W Sy ey 3
(A) 5,9,11,13
(C) 5,11, 15, 22

(B) 7,11,15,19
(D) T8 | g 3¢

) ‘f‘ﬁmw@‘ﬂmm%
(A) TR (8) ieife

(C) Uﬁ‘“ﬁﬁ (D) vfeeamifdas
faw e 0 favt fanger & 7

@ | | 'T
/ X . A\
u . | \\‘.

(A) 12

(c) 10 (B) 14

(D) 8
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10.

11.

12,

13.

is the act of signing a document

calls to the signer’s attention towards the legal

significance of the signer’s act and thereby
helps preventing inconsiderate engagements.
(A) Evidence

(B) Logistics

(C) Ceremony

(D) Approval

is a multi-disciplinary

organisation tasked with investing

and prosecuting cases under PMLA.

(A) Central Bureau of Investigation (CBI)
(B) Enforcement Directorate (ED)

(C) Crime Investigation Department (CID)
(D) None of these

Which pattern most closely resembles the
following pattern ?

1 2 3 4
9@©
(A) 3 (B) 2
© 1 (D) 4

The maximum speed of a particle executing
SHM is 10ms™ and maximum acceleration i
31.4 ms2. Its periodic time is

(A) 2s (B) 1s

(C) 4s (D) 6s

The most effectively used device for removing
particulate matter is

(A) Catalytic converter

(8) Smelters

(C) Scrubber
(D) Electrostatic precipitator

The Operating System that allows only on:
o run at a time s
(B) Multitasking

(D) Embedded

program t
(A) Batch processing
(C) Real time
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4. The summer gragsiEcp | dhsraipreCFTE"

of Himalaya is called as
(B) Terai

—(A) Chaurs
- (D) None of the above

(C) Bugyals

13, A can complete 1/3 of a work in 5 days and B,
2/5 of the work in 10 days. In how many days
both A and B together can complete the work ?

(A) 10 days (B) 7% days

4
() 9% days (D) 8 days

16. When was the Bandung conference held ?

(A) 1945 (B) 1955
(C) 1948 (D) 1954

The ratio between the ages of Kamal
and Savita is 6 : 5 and the sum of
their ages is 44 years. The ratio of
their ages after 8 years will be
(A) 5:6 (B) 14:13
(C) 8:7 (D) 7:8

Inlls

18. Indian-origin American who has become the
youngest-ever chess Grandmaster in the world-is
(A) Abhimanyu Mishra (B) Amit Pratab

(C) Suraj Patel (D) AbhinavRana

is used in perfumery:and in dye
industries.
(A) Acetaldehyde (B) Phthaldehyde
(C) Formaldehyde (D) Benzaldehyde
Find the missing term in the following series.
400, 441, 484, 529, 576,
(A) 676 (B) 636
(C) 625 (D) 598

If you want to put a copy of the file in a new
tion, create a new copy with a new name,

19.

20.

21.

g}rc?:hange the file type, then use
option. |
(B) Edit
((2; gaa::as (D) Open
he amendment of the Indian Constitut:ion
- Their:: inserted the list ofFundarlnentaI Duties
V(um 447 (B) 61:m
(C) 24" (D) 42

Y18

15.

16.

17.

18.

19.

20.

21.

22.

'Ha’r%/arj%%]%%@iﬁmﬁ dict 11 S & Her

(A) =g (B) W

(C), AT (D) 390 | & Fr
A%@ﬁwzfauawmsﬁzﬁﬁaﬂta,a
2/s¥m 10 A U aRare 1Asth g
mﬁmﬁﬁq‘fﬁwwm%?

A) 10f& B) 71 fm i
(A) (8) zﬁ? ﬁ%
(C)'ggﬁ? (D) sg-ﬁq
TG T & g7l o1 7

(A)-1945 (B) 1955

(C) 1948 (D) 1954

el 3 [fad il Y F A 6:53
37! TG 1 AT 447 2 | 8 T AR I
1 ATITG B

(A) 5:6 (B)+14:13

(C) 8:7 (D) 7:8
ﬂm@%mﬁﬂﬁa}ﬁwﬁwﬁmm
YIS UTSARt &4 &

(A) tfim=g fiysn (B) 37f¥a Tar=
(C) T 1 (D), STy Tom
IR mIEm g aa g |

(A) wHizfeeerss (B), utfreense

(C) winffeeers (D) Senfeearss
ettt saen & qu v # g |

400, 441, 484, 529, 576,

(A) 676 (B) 636

(C)e 625 (D) 598

afe 39 Fryet ) ww v ww ¢ sarey § @@
wTed &, @ U A F @iy v 7§ Wiy I

1 FI§S 1 W |gfere, g ®7
I Wi | |

(A) Save (B)® Edit

(C) Save as (D) Open

el wifam & farg @i # wfers

wdea) & g weh g 7 _

(A) aadl (B) 61a1

(C) 24@ (D)e 4271



23. ~ B means A is the daughtercnd fah-Qrpup Hergamad dassifl o & | A - 5w o 2

=me2ns A is the husband of B. AxB'means A is
__the brother of B.
~If £+ Q- R, which of the following is true ?
= (A Ris the mother of P
(8) Ris the mother-in-law of P
' 1) Ris the sister-in-law of P

“i

) Risthe aunt of P

# 1

26 £3l-Mediated Immunity (CMI) is mediated by

@agg (A) T-lymphocytes
. gg (C) B-lymphocytes

25.

(B) Mast cells
(D) Erythrocytes

The term used for ‘fintech firms’ with only a
digital presence and no physical branches is
(A) Neo-bank (B) Bank

(C) Geo-bank (D) Pseudo-bank

Witchweeds is a

(A) Parasitic

(B) Act as predator
(C) Symbiotic

(D) None of the above

26.

27. spread when users are convinced

to open or download a program because they
think it has come from a legitimate source.
(A) Worm (B) Trojan horse

(C) Logic bomb (D) Trapdoor

Mekong Ganga Cooperation is as per Indian
Policy of

(A) Act West
(C) Act North

(B) Act East
(D) Act South

29. Foreign Exchange Regulations Act, 1973 deals
with

(A) Foreign Contribution Manipulations

(B) Money Laundering

(C) Fraudulent Bankruptcy

(D) Racketeering in False Travel Documents

In a certain code, 'ADDITION’ is written as
‘ZWWRGRLM'. How Is ‘"HORRIBLE" written In

that code ?
(A) SLIRIYOV (B) SLIIROYV
(C) SLIIYROV (D) SLIIRYOV

24,

25.

26.
27,

28.

29,

30.

ABFI TR | AXBHT 31f 3 A BT aé 2 |
R P+ Q- R, Ferfefad i & fr-mam 2 7
(A) R, Pl wran 2

(B\ R, P ATH 2

(C) R, P TH2

(D) R, PHI T 2

Fifiw-arfed wfduwa (om) zm
Fifea Bt 2 |

(A) &-ferprarsz (B)* T Fiforard

(C) sft-fermmrez (D) uftsrrarsz

Fae fesflea sufeufaareh s P e frdim
Tes ol Ffom o ez 2

(A) Frn-a= (B) %

(C).For -3 (D) -
fererefem o= 2

(A) Tt

B) TRttt % w9 & = d =i

(C)eFresireft

(DY 39T | § 1 7

SR TF W™ F AE AT SRS ¥ v
s F1 iR w0 a7 e, w0 3 o

& 1% w8 us aduma wie @ s 2

(A) afd (B)« 2197 =i

(C) ATfSIF at= (D) ¥wzn
U1 wEdm wwa ) A ¥
FTARR |

(A) T FR (B). UF ¥

(C) uwe Alef (D) U W3y

foree fafoma faftem sifufem, 1973 @
gafea 2 |

(A) faRsft avmer u

CIRERUCE]

(C) utaE) fanfernya
(D) 3Teed ATH] EarE! 2 Y

U g2 1 ADDITION' &1 'ZWWRGRLM' féran
A1 R | 'HORRIBLE' &1 34 e # & feven
s 7

(A) SLIRIYOV
(C) SLIYROV

(8) SLIROYV
) (D) SUIRYOV

Y18
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31

33.

35.

36.

37.

38.

(@

oy 0k
gyTet (C) 227
e (C) 22™May

Y18
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i tfound in
h one of the following are nNO
whic
Kerala forests ? Mangoes
Coconuts i
(il} Snow |eopards (D) gleph
( e the same

which two months in a year hav
calendar ?

ber g -
(A) Juné Octo vj_?.
(8) October, December ,_ Iﬁ%

(C) April, November
(o) April, July

is shortcut key to cut the text.

(B) ctrl+C

—
(A) ctrl+Z
(D) ctrl+Y

(€) ctrl+ X
The ostensible purpose of the invasion of
uUs-led coalition on Iraq in 2003 was
(A) to prevent Iraq from attacking on Kuwait
(B) to prevent Iraq from developing
weapons of mass destruction
(C) to prevent Iraq from developing
hostilities with other countries
(D) to end the rule of Saddam Hussein

The following question is based on the series.
ABCDEFGHIJKLMNOPQRSTUVW!YZ
Which letter is the 7" to the right of the

13 |etter from your left ?

(A) 5 8) T

v (D) U

How many numbers can be made with the
digits 3, 4, 5, 6, 7, 8 lying between 3000 and
4000 which are divisible by 5 while repetition
of any digit is not allowed in any number ?

(A) 60 (B) 12
(C) 24 (D) 120

is a portion of a program in some
stage of execution.
(A) Quantum
(C) File

(B) Directory
(D) Process

Human Rights Day |

. y is observed b
International Community every year nnV e
(A) 10" December (B) 14" February

(D) None of the above

33.

34.

35.

36.

37.

38.

p, HagfafEfobs.in"
St ?

(B)QTW

(a) T (o) &

C fom g%

@a&a:ﬁaﬂmﬂﬁ

@,

L/t:}; ﬂ?@{’@q{)

() 3, T

(D) a}aa-ﬁ“

N ¥ R ergra $11 8 |

) arl+2 (B)ectrl *

(C) ctrl +X (D) ctrl +Y
ﬁzwsﬁmﬂﬂmmaﬁwi
—F UL
(A)mﬁﬁﬁ““mﬁﬁm
(B,maﬁq@am%zﬁmﬁﬁmﬁﬁﬁﬁ

g U

{_c)mmaﬁm%aﬁ%amasqmﬁa:ﬁmaﬁﬁ

@A
(D) wem g8 % wITEA Y AT FAT
Aoffea W ABCDEFGHIJKLMNOPQ
RSTUVW XY Z S@ei | ST & |
o ad & 139 7o & 2nd 7 &f avf PA-w1 €™ 7
(A) § (B) T |
(© v (O) U

;m.‘mm*“@“ 3,4,5,6,7, 8 3

mﬁ%@lﬂmmm%a’! sq fayrsw
ft g o et % & gg

FEfa T & 7 b

(A)* 60
(C) 24 (B) 12
- (D) 120
R | F1 e & g o §
(A) FETeR R
(£} 0} e

I
mmwmmmmwﬁanm

(A) 10fEaR

(€) 2278 (B) 149

lmmﬂﬁﬂﬂﬁﬁ_{m
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63. The emfof the

15V and intern

current drawn
2Q

15V—[ 26Q

E

0.50‘ )

8Q
(A) 1A
(C) 2A

Join Telegram Gr "H
o |63 R

battery € in the circuit shqwn is
al resistance 0.5Q. What is the
from the battery ?

7Q

1Q

10Q
(B) 4A
(D) 3A

64. Soil erosion are more in
(A) Hilly parts
(C) Plains

65. is a key tool for the spread
of ID theft, luring people into
disclosing sensitive information
such as credit card numbers or
passwords.

(A) E-mail bombing
(B) Spam

(C) Cyber terrorism
(D) Cyber stalking

(B) Desert
(D) Coastal line

66. When a change in one variable coincides with
a change in another variable, but does not
necessarily indicate causation it is called
(A) Evidence
(B) Degree of freedom
(C) Significance
(D) Correlation

What will replace the question mark ?

oyoxo;
3 3 4

(A) 18 (B) 19
(C) 20 (D) 21
68. Which of the following departments of the
Government of India will undertake the
Swachh Survekshan Grameen 20217
(A) Department of Drinking Water and
Sanitation

B) Department of Economic Affairs
{C)) De:artment of Health and Family Welfare

| (D) None of the above

67.

-10-

63.

67.

S ¢ @ emf 15V 3R i

q
ofyde 0.5Q & | &4 @ it Tt faga w e ?
2Q) 7Q2
15\L_E 10
0.5Q
8Q2 102 El E‘j
(A) 1A (B) 4A R
(C)72A (D) 3A
firgh 1 aTEA tfereh Eiar
(A) vETEt Wit | (B) woyfir 1
(C)+trerft wia o (D) Wt el W
R =it & fore v wewEl 39 2,
i it 8 3o e e e Sef e
ST 1 el 0 3 forg gman & |
(A) $oa sifesm
(B) &M
(C) |TER 3TaHaTE
(D) |TEEt wIfdHm
Se T 9 H qRadd qEt = H uftads ¥ 9y
iﬁﬁ'ﬁﬂﬁﬂ %,:i§<t=ﬁﬁ Eﬁﬁﬁiﬂvw éﬁwa,qi_ga
™ & IR |
(8) ?ﬁmaﬁ@m
(C) Wew
(D)-asHEYy
7 e & v W @ ?
24 1@;,- 1@5
3 3 ]
(A) 18 (8) 19
i) 20* (D) 21
fraferiea # & Wi @R & FH-3 v w=s
e mefior 2021 A 7
-(A)masﬂtﬁmmﬁqm
(B) aTfis wrTet
(CppTaTERd T YRET ey e
(D) 3 # & ¥ el



55. |f HEALTH is written U, then no
will NORTH be wriﬂegkﬁaﬁ@kgram

(A) OPSUI (B) GSQNM }’
(C) IUSPO (D) FRPML
= 3
56. In PM KISAN Scheme, Government will dhea
provide @xE

(A) Loans to farmers bank account

(B) Direct benefit transfer to farmers bank
account

(C) Insurance to farmers bank account

(D) Pension to farmers

57. How many days will be there from 22™ Oct. 2012
to 5™ March 2013 ? (Both days not included)

(A) 128 (B) 131
(C) 133 (D) 132
58. A adds up various file characteristics

to produce a hexadecimal number.
(A) Melissa (B) Network mail facility
(C) Happy 99 (D) Checksum

59. Section 2 inCr.P.C.defining “victim"’ as a person
who has suffered any loss or injury caused by
reason of the act or omission for which the
accused person has been charged includes
(A) victim’s guardian
(B) victim's close friend
(C) victim’s guardian or legal heir
(D) victim’s neighbor

§0. Who is the current speaker of Lok Sabha ?
(A) Meira Kumar
(B) Om Birla
(C) Sumitra Mahajan
(D) None of the above

61. What was the period in which the
industrial Revolution took place ?
(A) 1750-1917 (B) 1750 - 1850
(C) 1745 - 1845 (D) 1650~ 1750

ou

62. Three personsA, B and C are standing in a queue.

e e heatween A and Band eisht |

2.

pi EALTR T G aha U 1T TN o, GFINUR TR 99
D "Harrenais bR '

56.

57.

58.

59.

61.

62.

(A) OPSUI (B)» GSQNM
(C) IUSPO (D) FRPML

pM foram e |, En I9erey FHwt
(A) ForETt % 3 @i # F:m
(B)+FraT! 3 ¥ @Al § yeas @ S
() et % & @i &1 st

(D). foFam! %t 4v

22 1A 2012 & 5 HTH 2013 7 e
Radh ? (vl A Rm A E) Bk

-

(A) 128 (B) 131 OE 4]
(C) 133 (D 132

fafir wrge faemaanat 1 o
TR Fa 39F F & foTU SSATR |
(A) wferan (B)* ¥ U gfa
(C) #uft 99 (D) =FEW

ol ) ur 2 8 i’ FwE W ARE F
w3 ofonfa R T }, PR mFd @ 9F F
Fo 8 JHaE A = ot B, o fore s
Safeh = TR ST T R, S I & g

(A) HiT FHHAT

(B) 31w feren

(C)-gftrn wesH

(D) Iutiaa § | I T

;ﬁmﬁamm%mmm
off 7

(A)+1750 - 1917 (B) 1750 - 1850
(C) 1745 - 1845 (D) 1650~ 1750
drisafda A, B s cuwuf d @ ¥ | Asi gy
ofr ut sufaa 8 3l ¢ & e 38 =ufdq & | 40
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48. Theterm 'Geograph
(A) Humboldt
(C) immanuel Kant

In which Aestivation the members of 2 wh:r:
(sepals or petals) lie close tp each og e
without any overlapping of their ‘margms .

(A) Valvate (B) Veml'.lar\,f

(C) Twisted (D) Imbricate

y' was first coined by
(B) Eratosthenese
(D) Ptolemy

a9.

It refers to any significant alteration
over time in behaviour patterns
and cultural values and norms

(A) Orthogenetic change

(B) Social change

(C) Heterogenetic change

(D) All of the above

50.

51. Adipose tissue is a reservoir of stored

(A) Protein (B) Minerals
(C) Vitamin (D) Energy

52. Consider the following statements about

National Sample Survey Organisation (NSSO).
I. Itis an organisation under the =~
Ministry of Statistics and Programme

Implementation of the Government of
India.

II. It was established in 1970.
Choose the right option given below.
(A) The statement | is correct
(B) Both the statements | and Il arg incorrect
(C) The statement Il is correct
(D) Both the statements | and Il are correct

53. Find the missing number in the following

question.

an
N

(A) 127 (B) 238
(C) 31 (D) 217

A and B are standing at the same point.
They decide to move exactly in the opposite
direction to each other. Agoes 5 km East. Then
goes 7 km North, then goes 5 km West and
finally goes 7 km North. What is the shortest
distance between Aand B ?

(A) 48 km (B) 118 km

(C) 38 km (D) 28 km

54,

Join Telegram Gro

49.

50.

51.

52.

53.

54,

Up,s Hagsanadetfrin e = = 20

(A) TETE (Bl S_IT"flmdla
O mEEEe (01T

Wma@mwaﬂm*
?umﬁmmﬁﬁ;sﬁmﬁhmaﬁar&ﬁﬂm

| S f= 1 @ frae qufta wer R 7
(A)s I (8) @i
(c) faerfim (D) F=
T T GAE GEA (TATEUES) % AR o
frsfrRaa wat w famm =t |
. T8 WA T F wiferd i wrdwy
FAEEH YA F d8d UF T3 R |
I\, el TaTe 1970 | 78 off |
frafafta o @ w@ fawes &1 9973 &t |
(A) F9= | EE R

(B) F&= | 3 || 21wt 4 #
(C) ®eA 1|

(D e | 3 11 31w ¥
e e e 3 g s 1w |

an
NP,

(Ay 127
(C) 31

() Vi
LAY T
(8] (3]

(B) 238
(D) 217

A ST B U 8 il U ¥ | 3 s it
mmﬁmm%ﬁﬁilgﬁmﬁﬁ
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39, _The negative relation...ip between price of a
“° " "commodity and quantity demanded, which is
-  referred to as
= = (A) Law of supply
~ (B) Law of consumption
"1 (C) Law of demand
' (D) Law of diminishing marginal utility

4G, How much angle does a minute hand of a clock
*' coverin the same time in which the hour hand
of the clock covers an angle of 25° ?

(A) 300° (B) 150°

(C) 500 (D) 240°
41. Where was Garibaldi born ?

(A) Piedmont (B) Nice

(C) Sardinia (D) Genoa

42. Which of the following attribute/s are important
in determining the dominant status of a caste ?
(A) Numerical strength
(B) Political Power
(C) Economic power through ownership of
land
(D) All of the above

43, aba ba ab
(A) abbba (B) bbaba
(C) abbab (D) baabb

44,  Which one of the following country is not a
permanent member of UN Security Council ?

(A) France (B) Japan
(C) China (D) England

45. The difference between two numbers is
9 and the difference between their squares Is

8™ 207. The numbers are
Wi (A) 17,8 (8) 16,7

(C) 23,14 (D) 15,6

46. B-cells of Pancrease secrete _
(A) Glucagon (B) Vasopressin
(C) Insulin (D) ADH

47. What is the total term of non-permanent
members elected for the United Nations

Security Council ?
(A) Two years (B) Three years

(C) Ten years (D) One year

s.in
CMES - 54

39, T G F e SR i A 1w & o
i ammm____wg,
BT (o) srofd 1 frem

(B}-Tqd &1 f3a9

(C) |in =1 figw

(D) et ATfSieT Y= &1 figm

40. & 9! F G AT GZ 250 FIV TG R, A T
g3l #t e areft ¢ foraan v a4t @ 7
(A) 300° (B)- 150°
(C) 50° (D) 240°

41. TIETCS! I FH FEl gIAT ¢
(A) FeHiE (B) 7$®
(C) TEfefmn (EEEIEL

42, f=fRed 4 @ w=-1 7o/ ferereamd
STt & v feufy =1 fufor s@
H el & 7
(A) TEITCHSF qThd
(B). el &=
(C) vIffy % w@fires & mrem & s wf
(D) I9TiEa |t |

43. aba ba h ab
(A) abbba (B) bbaba
(C). abbab (D) baabb

44. Frafafaa § @ S¥-g1 29 Gg9a T g gieg
F1 YTt geR TE R 7
(A) i@ (B) ST
(C) &= (DJ-'E‘E-‘?E

45. T @Ml 1 AR 9 2 IR I ANl F T @
3R 207 R, gEAmd enfl

(A) 17,8 /) 16,7
(C) 23,14 (D) 15,6
46, oTHE & BRI arfea Fdl @ |
(A) T[T (B) WM
(C) =gfer (D) ADH
a7. e g e wftes & Rvg g e st et
1 el TR fre1 R 7
(A)o @1 T (B) et ad
(C) zu ay (D) w
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(A) Hgiferam
(B)ewTfa a1 ferega
orq  (C) FFET

D Fil
(D) 9T 5,

70. TF FR 95 § 540 forrht A gt 7@ Al R | T
& &t fd e At i @ A R, 9 2 forerd fa
w75 oht TR o AR @ | =15 9T 52 | Frt 8

& Fm ?
(Ayeaso T (8) 500 el
(C) 360 farrft (D) 400 feh
71, fism wTeed €A A 9T H ad
difera) e ifvd foraT @ |
(A) 2001 (B)2014
(C) 2020 (D) 3% F A FH

72, TSR W wiie @ T 1959 § e &
fras gram @ H o ? '
”7(A) ¥ (B) STIH
(C)SFEH (D) ST

73, i sl Ao gegiel w1 e FH 4 el
gEn ¥ 1/3 @ 12 s e | i § Hfow g@n

e
(A) 15
(B)e ST T4 T 2
(C) 17
(D) 19
o, ) aufea vem (qfére) ) e At & 7
(A) T@ (B)e2i
(c) %@ ()
. guia A1 80, 75, 70, .. F 20 W31 &1 3 R
(A) 550 (8) 700
(C) 600 ()" 650
. go1o-11ﬁmunﬁanmqﬁaimmm
f
(A) 2.25 B (8) 2.75 ¥
(C)s2 (D) 2.50 ¥R

Y18




Index is used to) Risel elsignan

ges in scheduled Employments.

) CPIHIW (B) WPI-IW f?:ﬁa,
) CPI (D) WP e
atements about basic

snsider the following st

nctions of the Reserve Bank of India.

|. Regulate the issue of Bank notes and
keeping of reserves with a view to
securing monetary stability in India.

Il. To have a modern monetary policy
framework to meet the challenge of
an increasingly complex economy, to
maintain price stability while keeping in
mind the objective of growth.

“hoose the right option given below.

(A) The statement | is correct

() Both the statements | and |l are correct

(C) The statement Il is correct

(D) None of the above

Which word will come in the place of question
mark ?

Presume : Assume : : Assign : ?

(A) Request (B) Allot
(C) Replace (D) Proud

In Deacon’s process for the prepa ration of

chlorine is used as catalyst.
(A) AlCI, (B) CuCl,
(C) ZnCl, (D) PbCl,

Election is held only for one constituency to fill
the vacancy caused by death or resignation of

a member is known as 3
(A) By-election (B) Post-election
(C) Sub-election (D) None of the above

An Economy in which there is both the Private
sector and the Government is known as

(A) Capitalist Economy
(B) Mixed Economy
(C) Developed Economy

(D) Underdeveloped Economy
maller pieces have exactly two

How many S

pai fgzes when a cube 15 painted an cu

into 729 smaller pieces put identical by making
‘the minimum possible numl:;er of cuts

79.

80.

81.

82.

83.

-12-

ﬂﬁﬁa:ﬁﬁaﬁm%mmamfamaaﬁ
o 1 TEd gu oA ferdn ST T |
ﬁmﬁﬁiﬁﬂﬁﬁaﬁﬁﬁqmwﬁ |
(A) e | FE 2
(B), e | 3T || 2T TE &

(C) FUF || GEt 8
(D) 3o H & FIE T

g g % T W HH-F 9 AT 7
ST : YT : W : ?

(A) 370 (B) A
(C) mﬁﬂ (D) 11&

e & fmfo 6t feard= i 4 Ea
win I A ARME L
(A) AlCI, (B)» CuCl,

(€) zndl, (D) PbCl
ﬁg%@gﬁm%ﬁaﬁm%mgmaﬁ
M T AR & 3 forg g BT
() - (D) ST A A T
e stsfoareen Rl froh & i T A1 €1
T wwediR|

(Ay arefegaTen

(B) ™HI%d

(c) Termfera srefeyareen

(D) Hfarenfle ayefegaean

7 e 5 1 e & AR e e
729@%mmgwﬁﬁmwtia}w
gﬁig&‘ﬁmtﬁﬂa’twm?

(A) 72 (8) 84
(C) 66 (D)” 64

[B';..'-...""
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91.

ing.
Find out the misspelt word inthe following

(A). Aerial
(8) Aircraft
(C) Airoplane
(D) Aerodrome

Fill in the blank with appropriate phrasal verb
from the alternatives given below.
The solicitors will your claim to the
property.

(A)esee through

(B) see into

(C) see off

(D) seeup

92.

93. Give the meaning of the underlined idiomatic
expression from the alternatives given below
it. (understanding the context from the’ '

sentence)

He moved heaven and earth to.seé’his son
married to the industrialist’s daughter.

(A) to do all that can be done '

(B). bad and good days

(C) to accomplish 2 tasks in one attempt

(D) to be doing too many things at one time

Complete the sentence using appropriate tense
form from the alternatives given below it.

_!:___,_.tha baby cry, she

When Mrs. Smith
ran to pick him up.
(A) heard

(C) had hear

(B)* was heard
rd (D) hears

96.

97.

98.

100.

LA LR / -l .uuuus.in"

T 1 IAE 2 | i
(A) B =
(B) fif3rd

(C) &g
(D) ¥ & I§ T

‘ﬁaﬁﬁmélﬁéaﬂﬁﬁﬂwﬁﬁﬁﬂﬁi
f{?’
b
¥

‘g&d’ 1 agud I1ea
(A) Breft
(B) Tl
(C)-'1™
(D) T8 & =id e

(,) 3@ fom e Y
(A) 3req fam

(8) qUi farem
(C)-ad fam

(D) ¥ @ =d et

S ¥R W & AW W wge feg @ E
wea ® |

(A) fadram

(8) wdam

(€) farmn

(D) w1 & w§ ey

I

REDMI NOTE 6 PRO
MI DUAL CAMERA

90

.14
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g T promote domestic cultivation of oil palm in
the next five years, new centrally sponsored
scheme is approved. It is
(A) National Mission on Edible Oils-0il Palm
(NMEO-OP)

(B) Oil Palm Mission (OPM)

(C) National Palm Oil Scheme
(NPOS)

(D) National Mission on Enriched
Oils (NMOE)

gs. Read the data given below and based on it
answer the following question :
500 students of a college, 49% like watching
football, 53% like watching hockey and
62% " like watching basketball. 27% like
watching football and hockey both, 29% like
watching basketball and hockey both and 28%
like watching football and basketball both.
5% liked watching none of the games.
How many students liked watching all the
three games ?

(A) 15 (B) 225
(C) 75 (D) 200
86. The information added in the is not
visible while working with the presentation,
but will be available when itis printed.
(A) Notes master (B) Slide master
(C) Handout master (D) None of the above
87. Under the 7% Schedule of the ~Indian

Constitution, Police is under the ‘
(A) Union List (B) Concur.rent list
(C) Central List (D) State List

88. The operation of railways in india began In

07
Uwm (A) 1853 (B) 19
%% (C) 1859 (D) None of the above
.. cleis decreased by

" nce of a Cir "
If the circumfere of decrease in its

50%, then the percentageé
areais

(A) 25 (B) 73
(C) 50 (D) 6

in PowerPoint 2003 Norm;:ev‘p
to see various aspects of '
simultaneously in tabs nam: \;h "
(A) Outline tab (8) Onher A
(C) Slides tab (D) Ne

ew enables
resentaﬂon

) and (C)
nor (€)

-13-
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v T -

M UUA

- .'-'_ ...'j‘.“\_ ‘ A ™

Join Telegram Group "HaryanadJobs.in"

~3

CIVIED = 54

84. I e ) e Wl 35 3Tt e o e
35 T o s e g -
(A) FvHa figm S et sHigeE- aifyet o
(NMEO-0P)
(B) 3173cT umm fawm (OPM)
(C)eATet T 35t whm (NPOS)
(D) Fvre fig 37 Ttz ifEe@ (NMOE)

85. fre fiu mu grer # svemm w3l IEh smm W

mﬂw%mé :
falt et o 500 BTHI H, 49% Feater a1 T
FA §, 53% TR 2@ THE W € 3

62% ATl 3G TER Fd 8, 27%
3N g AT 21 T R §, 29% AR
i g 2H1 3@ TR Fd € 3R 28% Fedtet
iR ATekeETe 21 ST THE A §, 5% i of

C i g Tl wE e E
Wﬁqﬁﬁ@?ﬂwﬁfﬁzﬂﬁ%mﬁaﬁtl
(A) TeH HEX (B) TITES AKX

(Cp ¥z ax (D) Iq0a § @ Hi§ @
g g@faum 7:2_11;3@%%

s gfed _F FR

(A) &9 g=h (B) Tl gt

() kv w (Op T F

Ik EGCEIREISE] a9 %y |
(A)e 1853 (B) 1907

(C) 1859 () I H A H T

aﬁ%@ﬁqaﬁq&fﬁﬁso%ﬁwﬁiﬁmg,
At Fah Ayt 3 a1 e @

(B) 75
(D) 60

86.

87.

88.

89.

(A) 25
(C) 50
qaarge 2003 3 A i
g el @& fafis vee| 3@ d REH w R |
(A) STIEEATE & «(8) (A)3M (C) 3}
(C) Ty 2 (0) AW (A) A (C)

90.
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10. p"L‘ftH(‘.l'lll.ll spending on facilities for

disadvantaged communities Is an
example of

(A) {qgr.'ahty of opportunity

{I}} Affirmative action

_{( ) Equal rights

(D) None of the above
Larva of Cole.
(A) Grub
(€) Mrub

The smallest ¢

divisible by o
(A) 10224
(C) 10080

gompute the heat Eenerated while transferring
6000 Foulomb of charge in one hour through
Potential difference of 50 V.

(A) 3.8x 10 (B) 4.8 x 10°)
(C) 4.8x 10, (D) 3.8x 10°)

The ratio of milk and water in 66 litres of

adulterated milk is 5 : 1. Water is added to it
to make the ratio 5 : 3, The quantity of water
added is

11,
Obtera is known as
(8) Crub
(D) Puppa
digi which s
12, 18 and 31 -.snumber
(B) 30256
(D) 50321

12,

13,

14,

Join Telegram Group "HaryanadJobs.in"

CMES - g4
10, At ”;ii:l'li # foru ”.i'“““i o :
w1 e -
T AR IR G
::: grrees wrtarg
() AT v
“;} iqg'f"pl li i q:f‘* #fl
\ - 7 ;?, r'"ﬂ"“i Hl 3 ¥ By I'If CLE] ,
11, .‘Jkﬂ{lﬁ".’ ”‘,] ¥ AT 11)1
23 e (D) =
12 e }‘F_fm:i 4:' ‘{{ar'[‘;l ifa"‘!l i Al 12, 18 iy N
Y;Jq]ﬂ gn Eﬂ,’ t ' S
10224 (B) 30256
‘{2; 10080 (D) 50321
3 Faarert § U 52 4 96000 B
13. soV . 3 drd
i sy & wEaiE w0 w0
e 1 ) T L |
(A) 3.8x 107°) (B) 4.8 x 10%)
(C) 4.8x 10°°) (D) 3.8 x 10°}
10, g et firerad g9 H 39 ST w1 s
o 5 1 T Y S £ 3% SR 5 3 forg

. fapaht ot <1 w2 redi s 7

(A) 16.500 litres (B) 24.750 litres :‘JQBQ tA) 16.500 ¥t (8], 24.750 TR
(C) 22 litres (D) 20 litres W (@ 225 (D) 20 =it
15. The code name of nuclear bomb droppe @:5 15.  s@fteRt g ArTETER 9T ﬁﬂquw‘ﬂ o5 FI
America on Nagasaki was \%‘ g AT #4191 ?
(A) Fat Man (B) Little Boy $$ (A) Tz B (8) ferest ata
(C) Little Baby (D) None of the above () fores a=h (D) 39U H & 1 7
16. Which number will come in the place of 16. ¥ £ I ~dft g st ?
guestion mark ? 3 '4%??353237 E?E,
3,4,13,38,87,? " = QR
(A) 166 (B) 164 (A) 166 (B) 164
(C) 168 (D) 162 (C) 168 (D) 162
17. I Excel, referring to cells by their columnand | 17. UHie § %o 3 Ssreg T A 1w
row labels is called FEATT R |
(A) Mixed referencing (A T g
(B) Relative referencing |m (B) W& e
(C) Absolute referencing - (C) \ﬁ Hayf
(D) None of the above (D’Wﬁﬁ%wﬂim
18. Which number will come in the place of 18. W o :
question mark ? g —31'3.?"“ e i e ¢
——— B
- = (A) 40 25
A) 40 B) 45 C) § (BY
idl & 8] 3 8 (0) 35
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e Joinw"l;te;ﬁle,@%raam.Glep ';klauygggnﬂ'gla's;’i'n;m'?
Ela‘ it 2 0 et B 1 5t 2 g oty 4 T 15 ey
19 ":"‘::h, w.-f;m:l '“, ,,H.u::pn'irfom his :;lur;li:: H%%1 15 m 'I"’l?nf Yl ;’T:F T % | f ™
m'l':"m iow far W* KL ' Wﬁ?‘aaﬁ*ﬁ'ﬁ?{ﬁ_
..r,lt’r-- “” sm ‘A) 60 m i
A) 60 M (p) None of these (©) 70m (D: :ﬁm
v Tom q -
I. I muhlflf}“' fo”"cntrates (EC) Is 20, g.q;‘:ﬁ’m = 8 mqﬁ
s0. Dample m,r; sers (8) Endosuphan (A) e (3.41.) % g 3
A) Tanquali>ee . HTAR T <a
l;l L'.JI'D.H'Y4 (D) Cv‘permEthrm (C) ?’!ililih.a :g; WW
A o finish 3 piece of workin | 21 S
1. X number of men €2 6 men more, the work o Uﬁﬁmﬁaﬁxw BOﬁnmmmg oy
30 days. If there Wers The origi Y 699 I EM, @ 7 w4 10 : ;
could be finished in 10 days less: rlginal |\, S | gt ) R 9IRS T 3
ber of men IS 0 OF340}
) 6 (8) 10 ¢ 7, A6 B) 10 5
(€) 15 (0) 12|PC e by W e (D) 12
Which among the following ection is b freafafas § 3 s
- reialt{ed ?o Offences Relating to Elections ? 97:‘;{ afig gy @a::f‘i 3T?I'§_1;ﬁ.¥ﬁ. RUUR Cich
(A) 354 (B) 50? b (A) 354 (B) 509
(C) 498 (D) 17 (C) 498 (D) 171
23, International Day of Non-Violence is observed ZB.Qgﬁl'a'ﬁf FATEE sifewn feag w2 wmy
every year on 30 ST % ?
(A) 1% October (B) 2 October O {A) 1 HER (B) 2
(C) 12" October (D) None of the abovfbc%’b (C) 12 37t D) 37 Eﬁl :ﬁ#{qﬁf
24. The magnetic field insi i .
i jcawm inside a long, Stralgh's\.z\ 24, ﬁrg’a aEF T G, @ vt & e
g current & quh &7 8
(A) i ,
e B
(C) decreases as we move towards i 8 & ;
0 Mol ot ot Wards its end 0! (C) 8-S 79 37 A A, W weard
2 i %‘ﬁg (D) 3T H | FIE T ¥
100x 10 - 100 + 2000 a N:}gﬁq i >
(A) 780 +100=7? 25. 100 X'10-100+2000+100=?
(C) 29 (B) 920 (A) 780 (8) 920
%, D) 979 (C) 29 (D) 979
tol “om :
;0?;';1 from where a:: opens a palette of |  26. S T ) T e e R ;ﬁﬁ?{
cell w:h'it % 3 backg “an selact a colour maﬁ@w&mﬁwm
Selecto p:r;‘gf ﬂ;e in 3: shading to the e s fig a1 gred ¥ fonel T W W
(A) 5 the Point or to an : 1
&) a:;‘ding Color table, y amﬁrcr_aﬂ%_gqmﬂﬂ'a‘ '
(€) Dy e Color (A) BT T
(0) OUt: table (B) w1 T
Yo de borge (c) Im@d
(D) @ ¥
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'Ilk
%’ 441 H9A fau o B, T a2 fad fao

tatements are given 27, gy, f?frnﬁvi gfau = o= = @ watan wha

27. In this question, two § iy i
followed by two conclusiﬂi‘r-gﬁgtl’;’s" the :;:ji| =
. I 2 . 5 (9] . ] :
;Z"‘:'US'UHISJ which best fit( il .y
atements : 1 ot STEEIZI B )
%- ﬂ” ice-creams are Irons. 5 gt
. ro are i« 5 ‘ . . . 8 4 a
-t Cluslo:: pballhiics e ford b enbn gt |
: o e #
I, All iCQ~Cream5 are isotopes. I:. fg 3!13“1’!111 ﬂrfl-T;T[I 5| |
Il. Some isotopes are jce-creams. gy V|1 211 S e
(A) Both Conclusions | and Il follow (A) mfaf;ﬁ'ﬁ | SAET0] A B
(B) Only Conclusion | follows (B) 7 e | S # 1 E F 2
(C) Neither Conclusion | nor Il follows ((E; Fad e 11 stegET e 3
(D) Only Conclusio llows N9 4 a3 SEete
n 1l foll ﬂﬂﬁg@fﬁm W a e 9 e g

28. From the given answer figures, select the 28. i B | (S ) 3w w3
one in which the question figure is hidden/ mﬁﬁ‘ﬂ%/ ’ % Y
ey embedded. (Rotation is not allowed) [—_i:

X (A) E iB)

w ([ ) | (XX 28] :
o || o |[BE tq@ ) E\

al'éaﬂna'aa%

29. EDI stands for 29 LS o
(A) Electronic Data on Internet @B (A) geERIHS BT M 7 e
(B) Electronic Data Interchange QY (B) Foagi T AR
(C) Electronic Data Introduction g o (C) Eﬁ?ﬁﬁiﬁ E{ 3@'335171
(D) Electronic Data Information \2\(0' (D) FeERIT 121 FFHIIH
30. Which of the following countries is no $ : 30. frfefias o | Fw-a1 2w H'?fﬁl %, {iad
;he pgtrmgnent"n;ember of United Ngéns uftez = warft wew =d R 7
ecurity Counci TATeee ey
(A) United Kingdom (A) 19
(B) China (8)
(C) India (C) Wit
(D) United States of America (D) 'nga =g it

31. Cancers which spread to other parts of the | 31, %S wrfj & =1 syt 7 Yeren & o wATE

body and proliferating are called as FEA B
(A) Inactive tumors (A) ﬁ;@?ﬂ |
(B) Benign tumors (B)
(C) Malignant tumors (€)
(D) None of the above
(D) I
32.  Atrain, 240 m long crosses a man walking along 32. 240 et = qﬁﬁiﬂ/ el 1 i
the line in opposite direction at the rate of famm ﬁt@; Qa%?;ﬁ% aw e i 10 =
3 kmph in 10 seconds. The speed of the train is U et § ?-g?ﬁ nfa 2 R vy
(A) 86.4 kmph (8) 75 kmph § () Safmgmae O Shame |
(C) 83.4 kmph (D) 63 kmph m 4C) 33:4&#1:@ = (0 RS 7—£
. o P4,
i auf é? | AT
e i B
ol el
sl ¢ S X
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33. InHaryana, G.D. Goenka University located at 33, wheron o of ) vt Beadaemen wil (o b
(A) Karnal (B) Gurugram (A) wtaTet (B) fpwerm
(C) Jind (D) Hisar (€) ifa : (D) fean
34.  With Rs. 1,000, one can buy 4 pairs of trousers 34, %, 1,000 8w 4 Sl werep an 8 0l el g g
0r8'shirtsl What is the amount required to buy 3 -\-,ﬂg] ereA s 3 ud ) dhyme wan ey 7
3 pairs of trousers and 3 shirts ? 3. 750 (B) . 562,50
(A) Rs. 750 (B) Rs.562.50 (A) ®. d
(C) Rs. 375 (D) Rs. 1,125 (C) %. 375 (D) ¥. 1,125
35.  Political Rights include 35, vrrftfoen sifvenrd i wnfiver 8
(A) The right to contest in the election (A) HATE erge w1 st
(B) Right to vote (B) @z i sl
(C) Right to elect representatives () wfefafirat ay s i
(D) All the above (D) Fuliaa wsf) |
36. If in a certain code, ‘CHANNEL is written as | 36. U ffged %z #f #f& ‘CHANNEL % XSZMMV(y
‘XSZMMVO’, then how will ‘COMPUTER’ be feran stran &, @ 3w g 'COMPUTER 1 i)
written in that code ? e smom ?
(A) XLNKGFVI (B) XLNKFGVI (A) XLNKGFVI (B) XLNKFGVI
(C) XLKNFGVI (D) XLNFKGVI i (C) XLKNFGVI (D) XLNFKGVI
37. When phenol is heated with 'ﬂ' 37. st fOpatet @l o g vk fpay s
benzene is obtained. 2, i sisfie s el 2
(A) Zinc dust (B) H,S0, (A) st gof (B) H,S0,
(C) Nickel- (D) Na,Cr,0, 0,,(, [ECTE] (D) Na,Cr0,
38. The book titled “The India Story” authored by 380‘0 e =) e yeas & ol §
(A) Y.V.Reddy (B) BimalJalan o> (A) . . I,
(C) Raghuram Rajan (D) None of the above bﬁ\ (C) T TS (D) 350 & @ 618
39. Who carved the Sphinx in Egypt ?

(A) Amorites (B) Assyrians
(C) Papyrus (D) None o@se
40. Everybody in a room shakes f&ds with

everybody else. The total number of hand
shakes is 66. The total number of persons in

the room is 9
(A) 13 (B) 12 A
(C) 14 (D) 11

41.  Which of these is not 2 Primary producer ?

(A) Phytoplankton (B) Ascaris
(C) Trees (D) Grass
42. By default Microsoft Powerpgi
.' p
Presentation file is saved with v m.:gzzmion
(A) .doc (B) itx |
(C) JpeG (D) 'pptT
43, Complet, i .
Fad %1}: iy ;:t:he following analogy,
4 A 9729
5 (C) 8: 445 (o] 41029
% | 1216
. 6-
Abs B gl
A% I

\2@@» 39, P firw #f ke ) o on 7

40.

41.

42.

43.

L
YOT SV G Y b w

(A) THiteH (B) srefiig

(C) urdm (D) g & whid =l
T R A R ek gt A e firerar b (o
ﬁmﬁgﬁ@aé@rss%lmﬁwﬁaﬂﬂ@a
He

(A) 13 (B) 12
(C) 14 (D) 11
frrforiaa o & - va serfive geares @ 8 7
(A) STefta qi9 (B) uwkfr
(C) g& (D) ®rE
feiee g, AT W (2003) S
FTEe o 3 ar @ g € |
(A) .doc (B) .txt
(C) JPEG (0) -PPT
ﬁwf’e‘gﬂwm‘l"fm' -
1142 H :

: (8) 7:1029
{‘é} 3 448 (D) 6:216

5 %
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i
a4 Typhoid is caused by clm_ N B0 e & |

(A) Anabella typh! (A) gardeet! érﬂ?

(8) Shiegella v (B) sﬂ"f?ﬁ’ra" i

(€) Plosmodium flCPaTtT G R

(0) Salmonella typhi | (D) @redATEl eTs)

world's largest vaccine manu{acn_"er i 45. fyyg ot T8 T AT Fragher; 2

4s. a0 115 (B) Russia (A) PRLAS (8) ®q

(C) Brazil (D) India (c) & (D) wa
46. In India census is carried out once in 46. W ASAE O ) w3
(A) 01 year {B)i310 yedrs (a) 01 (8) 10
(C) 02 years (D} 55 years (C) 02 (0) 5 a
; i ts about 47, ey SEE A (i) ¥ ey i
47. Consider the following statement: uii
pradhan Mantri Vaya Vandana Yojana ﬁurﬁ'ff?ﬂ?‘aﬁﬁmﬁwm,
(scheme). e |, 78 T Sftet aff fom (w3 ) g
| This is a scheme offered by the Life ﬁmﬁﬁ@m%?ﬁmaﬁ%%qm
Insurance Corporation (LIC) of India gives =y P
f pension at a fafdee WA e qa d o
a guaranteed payout of p
specified rate for 10 years. Il ﬂﬁﬁﬂﬁﬂﬁﬁm#wa u
Il. It also offers a death benefitin the form of g & dfiedqr |
return of purchase price to the nominee. &gﬂ | 3 1) A T
(A) Both the statements | and Il are correct ‘Q%] et o | T
(B) Only the statement | is correct @)
(C) Only the statement Il is correct QQ>5 (C) ket ?5?1“ wed B
(D) None of the above \(b. (D) I9UEd | | I3 T8 .

48. A theoretical perspective based on the. n;g’qé\ ) 48, mmﬁle‘hmaﬁ ﬁ-m & fadacan W 39eh g fae
that social events can best be explained in T A o e W TN ®9 Y GHEEI S Hehdl
terms of the contribution they ma@ the % g g v sRE T dgifien ghe 2
continuity of a society is 4 .

(A) Functionalism (B) Relativism (A) Sﬁﬂﬂiﬂi{ (B) fetfefersw
(C) Culturalism (D) Socialism (C) wEFftaTs (D) wHTSEmR
49, If you want to type in capitals, activate the 49, 3fe 3 %ﬁ'&?l 31&R H 2feha iﬂi-'ﬁ, l
key by pressing it once. sl o1 U ST ZaTeR 30 i |
(A) Caps lock (B) Ctrl (A) Caps lock (B) Ctrl
(C) Alt (D) Shift (C) Alt (D) Shift

S0. Three different positions of the same dice are | 50. T TR =t <7 fafvr=r fedrferat awifd 2| ﬂ

o shown. Select the number that will be on the 'q'aaﬁﬁ T Bl F gy wes T @

1%} 132 ODPOsite to the one showing ‘4" & g |

PEP | OHD
(A) 3 ( (A) 3 (8) 2
B} 2 c) 6
' D) 1
Y
e
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' -..56'3' in Cui-ing CMES
31 <2 o 51, HTE T - . . “54
ot ) Gold _ﬁji Eﬁ!tr:;nqm TE10, 2 feretig
N o= (D) Silver (A) tefireg "F**‘m{m_h
e arch report Biven b, 1C) Yheh (2’, IE,
vt " D R 4 s
A ‘:}t‘-;‘c Monito ng Indial COnomv (A) y&h A fr b 5
N 0 B B
Nl State Bank of dia
< e < ms-\q:séme for mwestigating and ADF SRR w2 b
™ g e of WS iy | %V s St
‘,:‘q- t.: :;S.a ::-'\h: Ce. E REE L . A3
n _ A) @3 #,
i :“.:-:;5 Eraud Investigahion Office (B; ﬁﬁwm FaTea
{C) CBI (C) Ht.1.31713,
(D) Police (D) gfera
S4. PowerPoint allows you to determine the size 54. YigUER JUSH! ﬂ?ﬂ T =z 3
of the slide by choosing STTeRT 1 Pt e |
(A) Banner (8) On-screen show )a:r{ a?ﬂ%(sl, W—Eﬁ?-sﬁ
(C) 3Smmslides (D) All of these % ) 35 mmTEEE (D) A Wt
55. iizsidec;thef{:r:lowg;g‘dstatements about One 5539 E%@mm%ﬁﬁﬁﬂmm‘%m
Nation One Ration . Qo3 feem R |
I. The scheme is airr?ed at e-mabling migra tjp l. ﬂ'ﬂ{ﬁ'ﬁﬂﬂ@ﬂ@mg{m Ffufm, 2013
workers and their family members,¢ & Havia ou ° el o foret 3fa gea
::ps:bscd:sed r.atltt;n from any faj price Sﬁ?ﬁ o Wgﬂ?ﬁﬁ %ﬁﬂﬁ
P anywhere in the country upder the FHTHI TiET & Tl i 5am
l;‘smaiFOC_JdSeFurityAct,ZQ; i S <l 3R e 2 |
system lden?ﬁesa beneficiary Il. & WoTTedt 3fed ge = gl W A
#hrough biometric authentication on el W ST Qe F e E @
() :;fs*“CESﬂfair price shops. aTeff i IEEE FA B |
. o “Oththe statements | and || are correct (A) e | I 1| 2 e & o
m dare
0 O"W!e statement | is correct BEESERCIKRES iR
'?:eh statement Il is correct PEESECAE: R
) one of o e (D) i i 4 4 7
o | a
Mestion: o ment below and answer the | 56. ﬁﬂ%@ﬁﬂﬁﬂgﬁ?ﬂﬁmmml
oo héfﬁ?:t'ﬁif?' she will yin. a-:&ﬁ:ia%ma;; TH-Fma e |
(A Shedigngy | .o O8ically consistent. <l
(B Shewan s g (n) el e,
' | (B) 98 :
o) “!gilgn"::r'"‘ she did noy |ose (C) & e S, 3 T Tl
mm e Ose, she won ‘ (D) ﬂ!‘l’!’fﬁfﬂs 'ﬂ'ﬁﬁnﬂﬂ
a
(A) Ali agif Shah Is "agadluﬂl Badshah ? 57. wmmmwa‘;ﬁmﬁa e |
(C) Ibrah (8) Ap adil Shah Il (A) orcht MRS A | (B) STy
(D) None of these (C) TR e Il (D)

-8-
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58.

59.

60.

61.

62.

A painted cube which is cut Into an identy
¥ " ' > " (
pieces of 729 smaller with minimum Nimb v
1]
of cuts. Now how many smaller Plece ¥

no painted face ? * have
(A) 434 (B) 376
(C) 343 (D) a8a

Which one of the following place s known fq
‘Chintzes’ cloth ?
(A) Burhanpur
(C) Calicut

(B) Masulipatnam
(D) Dhaka

Which of the following Committee has been
constituted to make suggestions on regulation
of Primary Urban Co-operative Banks (UCBs) ?
(A) Shashi Tharoor Committee

(8) Bimal Jalan Committee

(C) N.S. Vishwanathan Committee gﬁ
(D) None of the above '

It refers to the marriage practice in which the
members of a group marry from within the
group members
(A) Exogamy
(C) Endogamy

(B) Hypergamy
(D) Homogamy

Read the data given below and based on it
answer the following question. Q)

Six teachers namely, Abhijit, Binod, Chan%?,
Dinesh, Emraan and Farhan have_ybeen
scheduled to take Mathematics ;@es on
Monday to Saturday for only week.
Each teacher takes classes on different days.

Number of classes they are allowed to take

are 2,3,4,5,6and 7 but not necessarily in the
same order.

Binod takes S classes but he is scheduled to
take class neither on Monday nor on Saturday.
Abhijit takes classes on Wednesday but not

classes. The teacher who takes 7 classes is
nem-.:‘ed 10 take class on Tuesday but he is
hugﬁ';ghdaz"daﬂ nor Dinesh. The teachers who
con c""egna‘re sched:i:lec: t: ta I::nlaalzsc;r;

Saturd . The one who takes

?s",ch,du,'*' ‘t take 6 classes. Chandan
Fa n's d':’::‘hkc classes or; thetgetxetacé:v ::
Tuesday o Frlt’.-".El'nralan prefers

‘Ne total number of classes attended
o Dinesh and Emraan ?

‘A] Ten
(B) Four
(€) six (D) Seven

Join Telegram Group "HaryanaJobs.in"

gl

==

r S CMES - g4

S, TP AR IET BN g ——
735 it "."v" LR UETRRTTTITIR 1%na wy .'-lld
Uiy 5 i'lf-l‘1 SO o o, oy
(A) 404 (W) 376 O
(C) gad (D) ana mfﬁ
59, BITRILCL (LA TR "’ werk >
foyu prert et LN ‘
(A) &lﬂl-ll_il_ (1) l"l""“?‘“l
(() 4}'(““‘1::", “” a1
60wy iy ﬂigtl‘ HEWI Nl (o oy ) ¥ farfraeea
i '{t&”ﬂ ?‘-‘ i It-ll!‘ [tll-ﬂ.-l,ilqﬂ i i 1,“‘ utita -
et fanern T Y ‘
(A) i et afuky
(B) fawret srer afify
() uet, ud. feweaa ufufy
(D) Fudaa e a
61. g 3w favare wert v wiefila s ® foret v vy
vl'\mm ae & e & wew W faarg wi g
60"?&) wifefdare (8) wrgehely
,05 () wria faae (D) wrsiriedy
beGZ. A R o geen ) afed i gud st w
D Ferferfaa wea & o s |

©: Fieren et = arffSra, farse, wiea, o,
A S WEE ) a8 wifgan as v
HYTE e T @1 aerrE @ & fou fwifa 2
weeh e @) faf=r R # aemg @ @ | 3@
2,3, 4,5, 63 7 ) ww § qermy o 6 sl
R At we snava Al & b gl gy i @) o
foriYe 5 aretr eV & wig 37 4 ) wygam ) w@w
AR MA@ wlvar @ | syl quan @
HA 1 R A 3 e @ | o faes W
7 % R € ¥, 3 wireran @) aaw oA b
S o 1 it & ol ) fowr & 1 A0 e,
6 3l 2 ¥ QA1 Pwffeg R, @ @ &
R A ¥ | A A, ) il @) @ o &,
T8 O & | et g o fuifa
BT & wpetra & spret fia & | e sireran
UHAT ) ey e @ | ,

_ ?hmtmmvmmﬂwm
(A) g
(C) ®;

3

i1

=

iz

(B) ¥R
(D) |ra
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- CMES - 54
155\2
: 63. ISl Fftrara €10
63. S as are mostly srEnfig
(il;n:i;ﬂa: (8) AsymMmetrical (A) fogeh (6) R
(€) Polar (D) SymMetrical (c) g A ﬁ:i?;m <
/mgg iy s
; hich of the following countries/ 64. A 4 ﬁ-::rﬁ'qﬁaﬁ Fefia
% gg:p|r:~é;|c india launched @ bilateral ﬁq&ﬁ:‘,‘ it TR g e s
agreement “Partnership to Advance Clean il W“ﬁ’m ?
Energy (PACE)” ? ] (A) ELEE
(A) United States of America (B) g g &
(B) European Union (C) ST §
((S% Austral (D) i
ustralia
65. A clock uniformly gains two minutes per hour. 65. @ﬁwmagﬁ@amaﬁméﬁ% i
It is set correctly at 12 o'clock in the noon. 12 59t 9T H & fopan T ® | I ﬁgmaa g8
What is the actual time (approximately) St o () =R 7
when the clock shows 6 o'clock in the 6 i (
evening on the same day ? (A) 5 :20 p.m. (8) 5:48 p.m.
(A) 5:20 p.m. (B) 5:48 p.m. :
(C) 6:18 p.m. (D) 5:52p.m. (C) 6218 p-r0; (O
66. The point ex-ante aggregate demand is equal 66. o fre @ | ferfore T 3 {! F TR,
to ex-ante aggregate supply will be ﬁg ul
(A) Excess supply (B) Disequilibrium (a) afeen Sfd  (B) TGS
(C) Equilibrium (D) Excess demand {QN@?""' (D) Hftreh B
67. Inflation can also be seen as Gﬁoﬂﬂgﬂﬁ Th iR & w9 H el W
(A) a reciprocal phenomenon (b Al 2 |
(B) a non-recurring phenomenon (‘§\ ((:; g
(C) a no-reciprocal phenomenon \2\(0& (€) Eg,“&mt%a
(D) a recurring phenomenon N (D) g«
68. Which are membrane bou@vesicular 68. Ticsit REAEUE AR E fafifa et
structures formed by the proces packaging T bl s g
in the golgi apparatus ? aeft g Sfteper A - § 2
(A) Lysosomes (B) Filosomes (A) SEEE™ (8) freirma
(C) Lysons (D) Lysokines (C) s=ERg (D) eTEEfHg
69. Wh :
at should replace the question mark ? 69. W fu % T IR fer@n S ?
A 7 M
11 H 20 A 7 M| 11 H 20
SRR el ai] N NN
1 G 13 K 8 ? 1/ G - 13! K g P
(A) O (B) | A 0
T (B) I
oL P © T (D) P
70.  What is the movement of free g Wt 7
Segaritans In réhorie chem?g;n?s/ S 70. < wfifie & e o /Sfta it w8 7
(A) Phototaxis (B) Thepmotaxis (A) B fFRm (B) wwiefaRmE
(C) Chemotaxis (D) Nastic () Frdfem (D) =i

Y9
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71.

72.

74.

75.

76.

77.

78,
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if LIGHT can be coded as 1297820, then DARK

can be coded as
(A) 4111676
(C) 412376

If 5™ January 2001 was a Friday, then
265" December 2001 was a

(A) Wednesday (B) Thursday
(C) Tuesday (D) Monday

Read the given statements and identify the
type of soil related to all of ther.n.

i. Itis also known as Regur soil.

ii. It is generally clayey, deep and

impermeable. _
iii. It retains moisture for long time.

(A) Alluvial soil (8) Black soil

(C) Mountain soil (D) Red soil

Inflation in the price index excluding food, fuel
and other volatile components is called as

(A) Tightinflation (B) No inflation
(C) Core inflation (D) None of these

(8) 411811
(D) 412346

It describes how “‘any action that is repeated
frequently becomes cast into a pattern, which
can then be performed again in the future
in the same manner and with the same

economical effort” 0&\(§
(A) Habitualization (B) Amalgamati X
(D) Coalesci

(C) Consolidation
What will be last digit of the 3" numb&rfrom top
when the numbers given below are arranged in
descending order after reversing the position
of the digits within each number ? FEEE
517, 325, 639, 841, 792 e
(A) 5 (B) 7 2

(©) 3 (D) 2

refers to the operating system
that is self-contained in the device and
resident in the ROM.
(A) Embedded Operating System
B) Multiprocessor Operating System
([? Batch Processing Operating System
(0) Multiuser Operating System

o Which of the following fruits, the
Uminous seeds are present ?
Mango (B) Apple
(©) (D) Pear

)
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72.

73,

74,

75.
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@B

x>

77.

78.
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e 1297820 ? i DARK "-f.l'g
l{ "5

(®) 411811

ﬂv: HUHI' o
il wynt
(A) 4112676

]
(€) 422376 _ (D) 412346 }%
J_|f,: 5 '-1'["“‘“ 20071 Kl HET 1, M 25 ﬁ’ﬂ.i'ﬂ( “ :
200y ! —— 4y vl
(A) gerer (B) "Ham
(€) srreram (D) Hream

30w 9 DG ST vy A it fo 3
;;;ulgﬁ qEET i | oI P %
;_ﬁiﬂ"ﬁqgﬁ%qmﬁ\ﬁmﬂm?‘
i, 278 ST el e stve s
a2 |

i, 8 S HOR ek Y e v @ |
(A (B) =reft
(czmﬁﬁ@ lblmg‘g
e, 39 N 31 aitadefie e R P
YA gERE TR wwem )
(A) & GRERI (B) wgrehfe e
(c) s FaTERIfd (D) T B g
S o 2 P 3 g o B S

St 2, o Yed d wew Wl B, W v
5 & 3t a3 | 3 3 snfele wam & ary

s asar g’
(A) ITETH () firsmor
(C) | (D) AT
SV el wen w1 ifawq a7 a g S e 4l
TR TR ) T 37 & i o7 < feufa &
I o a1e R H 1 sgafed famar sar g 7
517, 325, 639, 841, 792
(A)'5 (8) 7
(€) 3 (D) 2

&1 g 39 afer Rrem & & W
fearsy ¥ el 2ar 8 3t RoM H AT § |
(A)-ZHeRE R Rreew
(8) Hicesirat safén faeen
(C) % sirfi smfen freen
(0) Wivegar symifen fireen
frerfoiftae & 2 fe wet # wrgfiie ot g o € 7
(A) My
(C) Teftery
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= CMES - s4
%ﬁi aehter Of B A _ ¢ - 5 o
& means A s the da_u!;th 8 mm:«s ml-j-, 79. A+BHI AR A BR G | A-pay A
79. A s Ais the husband 01 ABHITAR I AxBH Sd R A, BTy
the brother of B. e following is e pxa+ r, @ Frefofin 4 3 §g‘n-m
P x @+ R, then which oft a7 A I
true ? A) P, R T firar & -
(A) P is the father of :B; P, R 1 =T @
() P is the uncle of R 3 '
(c)PisthesonofR s (€) F’.RWE?%
(D) Pis the brother of R ' (D) P, R wrd &
g0. The use of the Internet or other electronic | 8o, fiufl aafad, =saffd & wqg @ vk da )
means to harass an individual, 3 group of R HE & foru fetie @ st et we
individuals, or an organisation is termed ¥ 35 &) e s R |
(A) Pornography (B) Cyberspace (A) At (B) WREEH
(C) Cyberstalking (D) None of these (C) wrgsrreetfam (D) &H W 1d e
81. Consider the following statements about [ 81. w1 & fasiy anfdfe &= (ww.d.9e.) Fan i
Special Economic Zone (SEZ) of the country. Frafafaa sual w et )|
\. They are industrial zones being set up by 1. % oftenfs @ ¥, R 2w &
the Central and State Governments in \Q faftr won # g ot =T gl
different parts of the country to attract & Tl worTfue foma T 2 arfer Wi
foreign companies to invest in India. §§ ﬁﬁ%ﬂm%mﬁﬁﬁw
Il. Companies who set up production unitsin |2 el Hrehfva o s |
these zones are exempted from taxes for2} . & Qﬂ\'{ﬂ IEATEA FHIRAT T A el
an initial period of three years. \ St ot off et o wre et &
Choose the right option given below : X fresmdgedme
(A) Both the statements | and Il are &®rrect frefofaa § @ vt ey e R
(B) The statement Il is correct K\ (A) e | T 11 1wl &
(C) Both the statements | and |l are (B) <o 11 9El &
incorrect (C) e | 3 1) T w7 ®
(D) The statement | is correct (D) *eH | el 8
82. The average weight of 12 crewmen in a boatis | 82, T A1 i T U 55 F a5 Tt ARG H @
g 1 1
er:::d b: 3 k8 When one of the i ﬁ g ﬁmlﬁgm%, ?h;:; -: lm |
nw - it & aivad v L
a new man, s\jﬁ:{eilght is 5 kg is replaced by i ki Foicn ,
el S the weight of that new 34 U =f s w1 7 ﬁ%
i, (8 (A) 59 feram (8) 60 fem  ©
(C) 57 kg ) 60kg -
e (D) 58 kg (c) 57 fomm (0) rirg
programs that tosethe: ction of system 8 ) T aN mﬂamt l
OPErHion of a compype -0l the fepeem o wRETer HI
(A) Memory unit g Syster, (A) aard qf-’ﬂ!
(8) Application softyy, ; (8) Tl A
(C) Operating s c) srqifdn fereed
(D) None of the ahqye (D) Il A A L] A
Y9 ' ‘
12-
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The report on children under nutrition is given
by NFHS. NFHS means

(A) National Fixed Health Survey
(B) National Family Home Statistics
(C) National Family Healing Stage
(D) National Family Health Survey

“Logistic growth model is considered a more

realistic one”” because

(A) population become limiting sooner or
later

(B) resources become unlimiting sooner or
later

(C) population become unlimiting sooner or
later

(D) resources become limiting sooner or
later

86. The Equation of GDP,, is
(A) C+1+G+X-M
(B) GDP,,,— Dep.
(C) GDP,,,=R+W+i+T
(D) GDP,,,—NIT

85.

87. The United Nations Secretary General is
(A) Antony Glamark (B) Antony Carnad

(C) Antonio Guterres (D) None of the

Which of the following is an impﬁ steel
city of the United States of America™

(A) Ohio

(B) Lorain

(C) Colorado

(D) Pittsburgh

88.

EZE
Mool 4
42220

89. is a self-replicating program,
which is self-contained and does not require a
host program.

(A) Virus
(C) Malicious code

(B) Worm
(D) Torjan horse

Who among the following won Ostrava Open
WTA Doubles Title in 2021 ?

(A) Sania Mirza and Kaitlyn Christian

(B) Zhang Shuai and Kaitlyn Christian

(C) Erin Routliffe and Kaitlyn Christian
(D) Sania Mirza and Zhang Shuai

-13-
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84. arery # U0 HI FATE NFHS 21 R | NFHS 31
Tnjzmﬂﬁﬁmm‘ﬁ
(8) W?ﬁfﬂ?ﬁi’méﬁf@m
(C)Wﬁﬁ?ﬁﬁ%ﬂ@ﬁ
(D)W’?ﬁﬁ?ﬁ%?ﬂﬂﬁ
mﬁﬁqaﬁﬁﬁaﬁmmﬁmm
ST 8,
(A) SEEE ¥ 1 R Hfeaehn 8 §
(C)qqﬁ@nsﬁum%tﬁmﬁfirmﬁﬂm%i
(D) Ge YT A1 & H Hhferaehn 8+ §
86. GDP,,, % WHIFTI §

(A) C+1+G+X-M

(B) GDP,,,— Dep.

@N?DPMP=R+WH+1:

85.

) GDP,,,— NIT

Hope U, o HEErad ¢
(A) T2 TR (B) T2 FHTS
(C) G e (D) I9dEd o | 1 T

frefrfiaa 3 & -8 g Ud FAREH H TH
e e et R ?

(A) snfE

(B) S

(C) Fianter

(D) Torgant

e - e s 8, S STt
2 3l v o= i T i AEEEF AR ¢ |

(A) FrIEE (B) =
(€) wifefeas Fg (D) 3 erd

2021 % Frferfis 4 & et sivgran 3w o,
AL T g sfan & 7

(A) Efvn firsrf i efer fefeaa

(B) FM ¥ afkt Fefem frfea

(C) T Tefers iR drefer frfRam

(D) Ffa fors s g

88.

89.

90.
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nee |l1.|r; flw:lrn given
e Qut O the four

In the question: € foee .

in .1(!1\!:‘/11-"_'“"&‘ select f FRal e

given ulu.fllln_ ',-|m|--acﬂl'f”“ g M

T 1 LT o

exXpresses

volce. |

When Rakesh arrive

(A) When Rakesh ‘rlr rtl‘v
arrested by police:
\ - arrived hom

(8) When Rakesh arrive

rested by pl’)”l’:l'.‘. ) =
C) \a(::::en Rakesh arrived home, he was

\ing arrested by police.
t\ﬂ:egn Rakesh arrived home, he had

o been arrested by police. ‘
Fill in the blank with appropriate word from
the alternatives given below.

. a sente

d home, police arrested him,
ed home, he was

e, he is

| found him standing the crowd.
(A) in (B) among
(C) besides (D) between

Write the word denoting sounds made by the
noun subjects, from the alternatives given
below.

Hoofs
(A) clatter (B) chatter
(C) crack (D) crackle

1
The following sentence contains grammati
error or idiomatic error in it. You have t
out that part of the sentence and cho&gp. he
alphabet of that part as the answer. §
The angry at being left out of the boaginza
is palpable among employees of the
organisation.
(A) is palpable among
(B) left out of the bonanza
(C) employees of the organisation.

The angry at being

l&.the following question, there i a statement

owed by three starters which are denoted

V2 bandc g3 :
t few worg, starter is a group of the
mﬂhﬁ:‘;f ?: :pr:-"entence. Each on proper

Meany osed to co the same
Mn‘?‘;s&rtﬁcgﬂfl““ Staterw;?\vt. Find out
Haence (5) g co1 O'M Brammatically correct
°"1:lnal Satemer,’ € Sime meaning as
min :mnl his best to
Success, ¢ Mpaign, (0 g:mgadetpegp}e
8. He 4 not attain
b. Howeyel Nt attain

ev LN
0 E

A) Either 3 5T YINg..,
C‘ Either b orri

b

)

CMES - 54

(LR IL |

96, WA, wm, N, war a2 sgmo @
(A) st faga
(B) syquitepanye fagmo
(C) yurtesayes fardmo
(D) %19 @ 1§ 71e
97. Weraryl, Javia s Iavraey g i]}*'m
(1%

& afepier a1 & 7
(A) ey

(B) @i

(C) &A™

(RYCEFTH @ et el
6’

9336Q‘in'vram’ yfcei vieg 8, I wHfer w9 8
& (A) Free

(B) wrf

() gt

(D) gH A hI§ el

99. ‘arma’ w1 faey veE B

(C) T
(D) g7 & g el

100, e e ol e & 7
(A) mmﬁmﬂmmmwﬁmm

51 e el & |
q‘@ qﬁmﬂ%ﬁtﬂmﬁ%m%ﬁﬁ“ﬁ
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Haryana Police Constable 1 Nov 2021

Indian Const

rovisions In
" m?cﬁ"!ﬁain;fmd by anslnucn! AsS
withaut virtually any debate -
(A) Intraduction of Universal Su r.‘ghu
(B) Introduchon of rundamental Ihg:, i
(C) Introduction of Parliamentary Sys

(D) Introduction of Directive principles

2. Find the next letter in the following series.
71, y3, x5, w5, w7, ?
(A) V@ (8) v9
(C) ov (D) 9V
; wooden block is dropped from the top of
& :dlﬂ 100 m high and simultaneously a bullet

of mass 10 g is fired from the foot of the cliff
o t luthﬂfIﬂU ms~%. The bullet

upwards withave
“and wooden block will meet each other after a

jrution
embly

(B) 10s
.
first Indian Governor of Reserve

ﬁ' r ﬁ__}._Sir C. D. Deshmukh

cing each other.
bench. There are
e group and no

to the second right
e facing south.

1-

CMES - 54
Evening (3rd Paper)

i @I 5 T O v Rl i
g s B 08 30 3 e o e o
A) et ek Tt £y gpmam

( 'l A AAfuzmt 6 g
:B syt T #1 vz

¢ i

sl 3T 72w w7
ﬂn'fi, ﬁsr WS' W?,?

—
(B) vo

(c) (D) 9v

o 10071, I <A 8 0 v 7 g v

g 2 31T 10 T Zo0H areft v mel @iy @

arg 9 F 9 A 100 H. /3 F A F wa Iw

£ 3 3 S e | el 3 FFD 7 gE

_ wwA R U g E fae |

(A) 0.55 (B) 10s

(C) 1s (D) 7s

e e 3 o qeet 9T TaR F i g 7
(A) S, ST 8) W2, E

@ d.°. e (D) 39U H § FIE T8
I YA G TSTET A T HiE A g
T R 7

(A) 32 (8) 30 _

(C) 31 (D) 39 T § FI$ el

few e e ST 4 sin SR IW W S
ﬁ'ﬂﬁ‘ﬂ%ﬁ'{a:

:
:
4
3
2

:
3
!
P
/
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i

7. Indian Pepg) Code has total '_______.chapters.
(C) 25 (©) 26

8. Which of the following s the pattern " which
placenta is arranged IE Lsn ovary 7 _
(A) Stylopodium ovulation

(C) Aestivation (0) PIacentaHon
9. Indo-Sri Lanka Free Trade Mreemﬂm was
came into force
(@200 () 2018
10. What is the missing character that should
- replace the question mark ?
C F |
? I
] M
(B)
(D) M

The system of Gavernment adopted in France is
Presidential (B) Parliamentary
eral (D) Semi Presidential

is the husband of B. A x B means IS
er of B.

+Q x R, which of the following is true ?
) Pis the niece of R

(B) Pisthe daughter of R

{ the cousin of R

(D) P is the daughter-in-law of R

‘Climate Change Conference of the
copr26) was held from November
D21 at

(B) Hague

(D) Glasgow

n of the Code of Criminal
)73 deals with when Police may

ode of Criminal
‘;js_f'Crimlnal
of Criminal

‘means A is the daughter of B.A—B {ﬁz

R

-3-

CMES -S54
(A) 23 (8) 24
(C) 25 (D) 26

8. it @ ada-an N fodl @iz afEmm |
=rafiia a7

(A) Terrifem (n) S
() ufedm (D) G\EEH
9, wWd-teE Hﬁﬁmmaﬁ q
ERET R i BN . :
(A) 2021 (B) 2000 g%l
/1C) 2010 (D) 2018 (gl
10. Fuomy ww fre & v v -1 02 AW 7
A c F
D, 2 I
H J M
A F (8) J
(€) C (D) M

11. mig‘fmnimﬂwreﬁw%?

S&Aawﬁf (B) wdE

003 (C) |¥ig

A+ adEA BRI THRIA-BF I4R
ABFUHE I AxBF G R A, BT WHER |
I p+Q xR, FefafEa i @ aA-maa e ?
(A) P, R il 2

(8) PRI T 2
(C) p, R ==
(D) P, R @G 2

13. 2691 TYF T Tl &1 HHTH (COP26) 1-12,
Faa 2021 H B |
() HiER (8) &
(dRUEN (D) TEE

14, smafus wiEn wfgan, 1973 6 FE-d aw
gfem ane & famn fingerd & w=fim 2 7

(A) smrufua Wik wfea, 1973 € ur 47
(8) 3w Wik wfen, 1973 Wi 41
(c) smyufir wiwan wfean, 1973 1 wm 42
(D) 3nufirF whFn wftar, 1973 41 um 46

Y1

AT B

19¢, _{.”H 15




15I

IE'

17.

18.

21,
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‘rGH right
ABCD l{m comes three o the e left of
What 1;? |t comes hnmudlﬂti‘hl’l e right of the
or 1he s to th
iy ¢ that comes three  the letter B ?

the lette _ il
!cne; imnwdlate!v to e
0 6 o A

i ulture
i : ting anather €
tice of evalua ouhue?
I?for%rri:: to the standards of ones 0
::lir:ure is calle :
(A) xenocentrism
(C) Ethnncentrism

(8) Multiculturalism
(D) None of the above

e imtt
Select the correct mirror image of the gIVe

figure when the mirror is placed at line AB.
B
(A) («g') (8) é)
[OfAD
BRE
@ -E

Which type of insect pests are responsible for
yellowing and drying of foliage ?

(A) Bitting mites (B) Roaring mites
(C) Sucking mites (D) Sleeping mites

0.000033+0.11=7
(A) 0.003 (B) 0.03
(C) 0.0003 (D) 0.3

In Microsoft Office slide show button has

whi .
Whgpan” " usedtoadd information

(A) Last viewed
B) Hel
i ( p
1‘.’a:":h‘::msl‘h:h". (D) Pointer options
rémembers that her ¢ 's bi
rf ather's birthday

Is between 13th
and 16" of jyne. Whereas

memb :
Irthday i between 1:{,?;:Et their Father's

ch day is th d 18" of
(A) 14‘“JUnEEIrFathE'J5 ?g)th;'a - une, On
lune

(€} 15" jyne
(D) 16t June

15.

16.

17.

131

19,

20,

21,

't EFGH
%ﬁﬁnpﬂ&“*’*m..
2, A SCF Tty

o3 8% 1 Mg M0,
(A) F g g b
(€) G g "oy
mﬁﬁ;&ﬁﬂ“ R ::ﬂ %$ g
(A SEIGIAR "E'ﬁﬁvgﬁ;?’fﬁ §
@
ﬁiﬂ'gwﬁ?ﬂ%m“ %Eq*ﬁqﬁ
Whﬂm?%h g,

2]
3

(A) (8

o g o
w1 o @ o e & i
R e é 7 o s 2
(A) FIATHTE  (3) THTER
(C) T (D) €7 7 T
0.000033+0.11=?
(A) 0.003 () 0.03
(C) 0.0003 (0) 0.3

PP S
ARFEW s mas?
e e i QA ¢
vt p) &
A) TRTE (5 st
o AT
?:::E Fafat) dﬂ;ﬁmi |5
g A F 5 e
ﬁmﬂﬂﬁﬂﬂ (6) 18%
(A) U (p) 16%
() BF

-f{}r
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22, hmm. particutar form of ife 18 sulted | 22, yrw wwrerw B Fy, fysrq ot v Fird = 30 i
m or to mr in {‘I'i\.ll'ﬂl‘ln'll"l'lt-'ll Iﬂqmwlr'ﬂ' i1 fra lf'! i -’;{F:-r_‘* f“"l" m’.
(TR AIEHE: UEE RS
m WWI‘“‘" 0y Maw SECERE
m Plation (C) smmfaa wqgera
(D) Both (B) and (C) (D) (B) 3% () 214
23. At what tir 45 ocock are | 23, Frmamm 4 she g aa w s, freer oft 02 o
"!? ho,ur hand ﬂf a t]ﬂtk mn ‘T{ ﬁﬂﬂﬂ fm._u‘,l {i ﬁrn 2
- (A) 4 w7 54.151 fir
- minutes
= - (B) asa%T 53_ firaz
: 1 ~
minutes (C) 4751 551-1- faaz .
Butes (D) 4 TwF 51% firz
esearchinstitute (NORI) | 24, F fam fod o ovrd wfh o am -1 2w
district of Haryana. &mm Heaa (vA, Aam.ard) ﬁiﬁl R?
(B) Rohtak 50 (A) e 3 (B) TFas |
(D) Delhi (\ (C) wa | (D) feechrd
0\ 25, UATERE Y 7
2 Internode of (A) T il & Frer ol wren & i A
the cal-,rxand a wm;ﬁmﬁm a
G S (8) F Nl & difarm af i F i
pecium JEAIS -
e Internode between {C}-jﬁ': ;mﬁ o aTer 7 i T F i
Internode between (D) F2 i 3 yafeal aft vgifirm F e
HEACIE
he second in |  26. nmtﬁra%nﬂm UF ¥3 FEA T OIH
Feamn ¢ |
Constable (A) 'é'm (8) 31
(C) AT4= (D) Tﬂ?ﬁl’ﬂ
n below. | 27. va watF A 2 Tl @) 9 qnim nm ¥ |
ber will we N9 g, @ A= wen e ?
(57) A%
(A) 2 (8) 1
m (C) 4 0) 5

CMES - Sa

Y1



»® the later half
% letter J ? would b

Y1

28.

29,

30.

31.

32.

331

ontered
Weber's analysis of modern society ©

on the concept of

(A) Regression
(C) Repression

(B) Compensation
(D) Rationalization

What is the maximum nt

ymber of pieces into
which a cube can be cut by 18 cuts

(C) 282 (D) 343

Consider the following statements about
Meghdoot mobile app.

1. It provides crop advisories to the_farmers
based on the weather information.

2. It is a joint initiative of India
Meteorological Department (IMD),
Indian Institute of Tropical Meteorology
(IITM) and Indian Council of Agricultural
Research (ICAR).

Choose the right option given below :

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct

(D) None of the above

A can complete a piece of work in 18 days,
B in 20 days and Cin 30 days, B and C together
start the work and are forced to leave after
2 days. The time taken by A alone to complete
the remaining work is

(A) 12 days
(C) 15 days

(B) 10 days
(D) 16.days

helps in creating a
presentation by leading you through some
basic steps.

(A) Notes pane

(B) AutaContent wizard
(C) Auto save

(D) Slide master

Want-s.?tjsfying{:apadtynfa commodity or service
(A) Utility ' (B) Demand
(C) Consumption (D) Investment

The following question is based on the series ;

ABCDEFGH
TUVwxyz S KLMNOPQRS

Ifthe above alphabets are di '
edividedint

halves from A to M and Nto 2z, whichﬂgtggru?r:

€ corresponding to the

(B) X
(D) w

(A) Q
(C) v

30.

31.

32.

33,

34.

EESELRETT

(B) T 2 3

(€) T 13K 23 gy 8

(D) 3% 7 & 37§

A TH IR 18 5 :

¢, 30 & o w8, uﬁinincmﬁ
mﬁ%ﬁ]?ﬁﬁfﬁzﬁmzmzﬁmﬁ cE

; 9 T F o & S
Am%mrrmmT i
(A) 12 A

(c) 15f& 8) 108

(D) 16f&
— e w3 s
(A)

(B) aaFdz fammd

(C) 3l

(b) wmgEWRA
T U Al g & win —I{ﬂﬁqmu; Bl

(A) wat (8)

(C) (0) A
ArRft@eAA B CDEFGHIIKLMND
pQRSTUVWXY 2 s ot R |
e 3 vl @ & W ad, AR Mot N
3 afer se dl e am et o aof y & wnd

- aof g ¥

(M Q
(Vv

(B) X
(D) W
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L}'éii;?aﬁ,f ::ti :;llln'ﬂring is not an example of a | 35, freaferfiaa :1 A Wy s 3 Wa w e
Y sou ' . U
(A) Wood te? my ;
(C) Nuclear (B) Gobar-gas 1rntﬁ (A) &%) (1) “\_‘m-ﬁ“
eNerRy  (p) coal (c) =nfirfn 3 (D) e
%. ﬂ‘;’fﬂn”“'a”a Day is celoprated every 36. Frza wafen frar welr ad ) A
(A) 25 August 30 Wil
: (8) 30 March (A) 25 MY (D)
(C} 25 Apri (D) none of the above (cf 25 3@ (D) 3 o A el
37. Anil reached a place o et v e E R UBEC R G )
n Friday. He came to 37, ST UF T T '-‘JJ:IT.H L
:::?;:T? 2 € was three days earlier than the fir ag Fwtha wug @ da R g ada o | If3
Jled day. If he had reached there on the @ 311 Al WrEn @) e MEIALGERES
fl:l"ﬂWlng Sunda h I L4
he would have bEEn':;,w many days late/early o forera v 7
(A) One day earlier lier (A) & fea gl (8) @ faA 7
() T (B) Two days eariie il
wo days late (D) One day late (c) @A ar (D) T[4 ATE
38. The amplitude of the electric field of a plane 38. I ﬂﬂﬂﬂﬁﬁﬂﬂﬂ;ﬁ“w%ﬁﬁqﬂ &3
E|ECt!’DmaEnEﬁc wave in air is 6 x lﬂ-dl vm-L. amam 6 x 1077 e ¥ izt € | %ﬁm &?ﬁl &l
The amplitude of the magnetic field will be T B =
(A) 1.8 x 10°T (8) 5x107°T (A) 1.8x 10°T (8) Sx 107 T
(C) 2x107°T (D) 2x 10T () 2x107'T (D) 2x107°T
2. Is a shortcut key to startanew | 39. T 74 S W TN F
word processor file. ¥ fore o e el R |
(A) Alt+N (B) Shift+N (A) Alt+N (B) Shift+N
(C) Ctrl+N (D) Alt+Ctrl+N (C) Ctrl+N (P) Alt+Ctri+N
4. Which of the following will be the third digit|" 40- Frafafiaa demsll @1 U F W wafedd
from your right end of the fourth number 0 ¥ a2 e wEm % 2 o B AW 3
after the numbers are arranged in descending Fa-mem ?
order ? 102 7518 6305 5942 4697 6989 5392 7518 6215 5942
9 539
':i??d 6989 5 i (A 4 (8) 5
(C) 2 (D) 9 (C) 2 (D) 9
4l Theft of intellectual property is prohibited as per 41, =fEw ‘-Eiq;?ﬁ v ford s R R 7
(A) Arms Act, 1959 (A) T muﬁﬂﬂ. Tgsgm
(B) Criminal Procedure Code (B) MU ﬁﬂi%u H
(C) Copyright Act, 1957 (c) sz srfufvm, 1957
(D) Companies Act, 1956 (D) et e, 1956
8. Who is the Current Chief Minister of theState | 42, wifiqu Ty & adam qEmeh #A E 7
of Manipur ? (A) 1 @Tg,
(A) Pema Khandu o (8) sitmeiream it fée
(8) Nongthombam Biren SIng () Frem FRA
(C) Biplab Kumar Deb (0) i i @
(D) None of the above
7 Y1
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acy
43, According to 2011 census the female lirer
rate of India is
(A) 69.4% (B) 82.4%
(€) 75% (D) 64.6%
f
a. Which number will come in the place 0
question mark ?
9:80::100:7 .
A) 901 (8) 100
c) 9889 (D) 9999

~__ensures that information IS
y to those persons who are
ed to access it.
fi (B) Integrity

(D) None of the above

(B) 67,67C, 67D
(D) None of the above

tudents, Rakesh is 12" from the

L (

hi interchange their pOSiﬁﬂ"Lsf._:
27" from the right. How many
e between Kashi and Rakesh'?
(B) 10 s
(D) 12
nancial sector in India is regulated by
ance Minister
3ank of India (RBI)
¢ of India (SBI)
Ainister
artain code, 'PICTURE' is written as
then how will ‘TELECOM' be written

(B) GVVOXLN

(D) GVOVXLN
)

states of India are defined
of Constitution of India.

(B) Article 203
(D) Article 14

 above the baseline s

is 17" from the right. When | ¢

43.

45.

45:

49,

50.

51.

. Mes..,
ot AT e o
:nm'cﬂﬂt e
A%
IAI 32% [Bl 32.4%
(©) - (D) 64 gy
fad ™~ T A
S;'qsﬂ::io'j"? mmWM?
{,ﬂ- 90;9 IB} 1009
(C) 98 (D) 9999
(c) ST :

: (D) 37 &1 335 =
ATgAT TR ¥ : '
yrod FE-H 8 7 fmmm’gf’ Wi

(A) 66, B6A, 6B (B) 67,67C, 670
(C) 67A, 678 (D) I & & =378 =7
feren e ot v ifi &, ey e 2

A JTFEN AN R 12312,
Frafl e F 17 a7 3 | 519 T3 o w0 e

¥ A G 72 o f, @ wmh e g 00
m%lma\tmaﬁﬁaﬁﬁﬁ%z

(A) 9 (B) 10

(€) 7 (D) 12

Wi | s éy 0 Fafm a2
(A) fom A

(8) ﬁ\;rﬂm AT 3 (s Asn)
(C) ¥ 4% 3w 3fvgan (vm .31,
(D) Ty

gfe W Fz # 'PICTURE’ &1 'KRXGFIV' o =1

2, di 3u g2 ‘TELECOM' 1 ¥4 foran wmem

(A) GVOVLXN (B) GWOXIN ...

(C) GOVVXLN (D) GVOVXLN

T % Tl 0 3 WA ERR E ___

¥ st qroAITed 8 | -

(A) 3TF=0% 292 (8) ¥

() 3329 (D) ¥ 14
S RATE T

Feama e | e

e (8)
E‘éi =, (p) S
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L.
:‘;d;:u:&h Jargest in energy
(A) 6* W "
(C) s ) a®
53. "'"Et!nuty, - Compressed
Natural Gas tc:mh".: “h:';'n"pfm transport
SYSteM has significanty, youered air pollution

in an examination. In
nm alv followed by P
: as ahead of Q
s T. Who scored

-------
b L L

in 10 days,

uired to bind-
&

CMES - 54
g2, s favadt i g sl o
aren An A
A) 6" (m) #
{IC: i 40) 4"
g3, 111 A WD AT A, ar! arhfea argfrs fn

RS IRRERL S b s e b afas afae
mﬂf‘l i A ay ardy wn owe fam By

(A) ettt () rad

() wut (D) freeh

3 g pftan & gent fam g afrmm s
= :1%;:;2‘: Lr}:'r? arq p ¥ vz ard A Y R.Q
# am & uig 1 faed a5 il en | aut s
aqu walfirE 3k el Aret R
(8) P
o) R o) 7
g5, “mAis fow HE aaré 2021
g feran |
(A) FhEAE
(B) A T3S
(C) 7 ,
(o) sfirfém 2m i

<6, aft 183§ 900 TEH 10 ft & =hrd £, 7

660 qETH1 12 At § e 3 feo, e wmesdt

(A) 55 | (B) 14

i) 13 (D) 11 _’
57. Fite g am R T H R 7

(A) I T (B) 99

(C) IAUTEE (D) TRTEAH

. @ify e @ sl 9 km e #, fEoAw
” ggﬁ?kmaafﬁ%.ﬁﬁmgsm%uh
8 Km el 2, R amw geaR 11 Km =
R 2d g 7 Km i) & | @ s F @
R gL ?
(A) 3 Km (8) 9Km
(C) 7Km (D) 6Km

59, uﬁtﬁﬂﬁatﬁmﬂ‘lmuﬁnﬁtﬂtﬁk.?ﬁﬂt
(A) tnfa 1w whifd
(8) v Al
[qwmﬁvﬂf&
(0) T

Y1
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60. Baking Soda is
(A) NaHCO, (B) N2,C0,
. (C) Na,c0,.104,0 (D) Na,3C%
61. Find out the missing term.
240, 120, 60, 7, 15
(A) 20 (B) 25
I () 30 (D) 10
62. Pollination by Pseudocopulation is seen In
| (A) CAM plants (8) Orchid
- y (C) Papaya (D) Coconut
| : > 4 63. One ago, the ratio between Laxmi's and
L e Gopl'ze:;hry was 3 : 4. The ratios of their

individual salaries between last year's and this
year's salaries are 4 : 5 and 2 : 3 respectively. At
present the total of their salary s Rs. 4,160. The
‘salary of Laxmi now, is
(A) Rs. 1,040 (B) Rs. 1,600
(D) Rs. 3,120

, Excel sorts all the data in
_order.

of the above

e following statﬁeﬁts about
ployment in {ndia.
m et

P

60.

61.

62.

CMEs .
afn @ E Sy
(A) NaHCUJmH (8) "

() N, €% 0 oy gt
g 7 ™=

240, 120, 60: %, 15

(A) 20 (8) 25

(c) 30 (0) 10

o HTE Wmm%% :

3 4“'“%%“@%@%:;

émﬂwgqmwsaﬁu:atrﬁnn

3 o F ¥ 41608, AR 3 5w b

(A) ¥ 1,040 (8) %. 1,600

(C) % 2,560 () 3. 3,120

L Rpfee T9E, we 5

el OE HiFgi =

(AY ST

(B) IIH

(C) WM

(D) 39 | =7 7

WA At S F st

o fmm | |

1. e Tl 7w G R S A A 3
%ﬁa;e‘mﬁ(m-tﬂm%ﬂwm?é

|

2. FARREm s wm TR S
A FARA FAE |
refefEnid wd e mam &
(A) oA 19812
(B) &R 2W& 2
() T 132 m’iaﬁi
(D) e 13 LIk HECE

T 1 e i ¥ R G A
FEde !

(A) tgE

(8} =T

(c) st
[D_: mﬁﬁﬁqﬁ
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MWI"‘ rt‘n

~ them can be

Humin

two
Whies ONclusions. Choose the
Statemens , &th‘ﬂﬁttsl logically

m} BW‘I ' wu’bﬂlnt:rll follows
Ml v land | follow

tapii————_ button on the
%ﬂﬂﬂi inserts the SUM

are 10 famps in a hall, Each one of

4, switched on independ
g e Lot pendently.
3 ;f Ways in which the hall can be

13
B W
’_ rrt.'_d.-- e et
F 1o}
1
i [
i
)

statements are given

(B) AVERAGE
(D) PROPER

(8) 1023 - ‘2
(D) 10! i

32l0)
sion
(B) Equanil

(D) Dimetane

,(}C\

CMES - 54

67. tawva @ frooam 3 Faaw sz o fad
fan mo & 13 Bt s A mfia =8 b
uf Az 8
Li L

1. T A uufi #
2. %1% waft wEEarh TE R
e -
| FB st A # |
I nachuikich

(a) = Fraed || sgmon @wm @

(B) Faa fan | sgmom wm @

(c) 7 fad 13 & 0 sgEm F R

(D) fwd 1 3t ) 21 s 7@ §

68. SUM ¥FT aF wfus T¥e @91 F fo ueEa
BsE@maw 73 WAt
FIA R, 7 EHA § SUM WFTE ST |

(A) AutoSum (8) AVERAGE
(C). EDIT (D) PROPER

Q)
69. vF7iad 109§ | 37 A wArE A S EI B
Q}(\(bmqﬁ?mmm%lﬂam’!ﬁmmﬁ:aﬂﬁ

Eaficef
(a) 210 (8) 1023
(c) 107 (D) 10!
70. _ FIWEM HEER 3N I NN
Fafmsmdame
(8) EFTETE T (B) THAS
(€) F1EH (B) TR

71. UF W F IER, I Fzaum Jn s
Feadm & & 71wl =1 wiowra o £

(A) 40,10 (B) 60, 20
(C) 40,1 (D) 20,1

72. UF TEEER G4 0 11 =T F1 3@ 50 @
e, FraT mf i wa m? A am g
sam i F A 220 m*Em @m R | v A
Fai 8
(A) 14HTZT (B) 15 H=X
(€) 1657 (D) 201

Y1
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BC stands fo
'A} Belfore Compute imterface

‘B] Bra:y Comput® rvtier AL LR )

(C) Before Computer Inienk thn ::i[;
(D) Brain Computer Interface Pty

(SAAL
This

Based 0on characteratics all hiying Orgat!
can be classifed into different taxd

process of classifricatron is called
(A) Taxonomy (R Algorthm
(C) Claxigomy (0) None of these

If the 6™ termof an AR s 121, then the sum

of its first 11 terms is

(A) 1210 (B) 1331

(C) 1330 (D) 1333

The UEFA - Football European Championship
Final of 2020 was won by .

(A) South Korea (B) Indonesia

(C) ttaly (D) England

When did Vardhamana Mahavir attained Ninana 7
(A) 526 BCE (8) 748 BCE

(C) 599 BCE (D) 527 BCE

Manish invests Rs. 3,818, which is 20% 6f his
monthly income, in insurance policies, What is
his monthly income ?
(A) Rs. 19,090
(C) Rs.19,590

(B) Rs.19,009
(D) Rs. 19,200

means taking backup of dataona
remote computer over the Internet.
(A) Mirror backup
(B) Full backup method
(C) Online backup
(D) Incremental backup

80. World Immunization Week is celebrated every

year on

(A} 24 to 30 September
(B) 3 to 9 March

(C) 24to 30 April

(D) None of the above

B1. Cyelical changes during reproduction In deer

Y1

are called
(A) Oestrus cycle (B) Menstrual cycle
(C) Sexual cycle (D} Asexual cycle

.1 1-

73

tE D

75.

76.

77

78.

79.

80.
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pet ™ o rerd
(A iU ALEL A G 74 US9
1 o1 I.'-; v
ey aeEr Ay

Frs.
B ) *-‘."‘

T
- T B Ifnl
l!li g4 ! q i

1"]‘."".] ! ul 4w ' ty 'flqu

frﬁ} " rl.;r” ,|;_,.l‘ J'F LA AT ‘_i Ii

VPR o afrm 9 1,

A1 & e
e Tleit |
(A) 2R s (A). neitirzm
) AR gt P
‘ (0) ¢4 a 518 38

aft Rl W s o

X we 121 9, oy
q-!r,‘_} 11 1l i :”:-l } l ik

(A) 1210 (B) 1331

(c) 1330 (D) 1333
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wER HuEiGIRc |

(A) ZFEm Fifey (8) §eRfTm

(C) T (D) ¥z
aﬁnﬁﬂtﬁfnmﬁahﬁgmm?

(A) 5253_‘@;@5 (B) 748w qd

(c) 593 dm (D) 527w

AT A Sl 4§ 5, 3,818 71 Friw v g,
%@mﬁammmm | I gifis g
(A) 519,090
(C) . 19,990

(B) %.19,009

W e MU N dE W
BRI AFIT AR |
(A) fimt 3am

"
-
-

(B) i wam fafy
(C) HTET AhHaY
(D) 3faizel Awam

WAE)
o3t -
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faga darwm aaw @ a -
WA AE R |

(A) 24 8 30 fdm

(B) 38 97

(C) 248 3030

(D) i H & Tl
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() Vgl W (D)
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g

@ Alain ryny;
Crosses P::’d::m of 90 km per hour

mWhm double Its length in

the langth of the platorm ?

e b i
cards havin re $ma) .
g I, portable pocket size
(A) &Edftc:;ta “"'lulﬂmw.
(C) Debltcary  'B) smart card
None of the above

. it ﬂ*md *Prometheus Bound® ?
' (B) Sophocles
[D) Aeschylus

nent in which the rulers are

(8) Communism
(D) None of the above

of the ¢rop sceds, some
Or guar are grown and
g them into the soil.

Jom reegr gra" m Group "HaryanéJobs.in"

CMES - 54

ﬁrzmiﬁ AT o WS

B Farmy 321 sz |

(A) Fifse wTd () I T8

(c) 2z ard EGER KR

oo fF.h, '.:fr‘nié'-ﬁnﬁ‘rﬁaaiareﬁmzzl

36043 wr-n'gtmi%:z’ruﬁ!'éz!ﬂdﬁmm

tlém‘rﬁiﬁmﬁwt?
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gy, azmad wfFmadgid?
(A) 1775 (B) 1778
(C) 1779 (D) 1782
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S1.

English Language

In the following question, a sentence has bee!
given in Active/Passive voice, Out of the four
alternatives suggested, select the one which
best expresses the same sentence in Passive
Active Voice.

Garima has written a newspaper report on the

inauguration of a new Corporate Office.

(&) A newspaper report on the inauguration
of a new Corporate Office have been

_-written by Garima.
(B) A newspaper report on the inauguration
- of a new Corporate Office had been

7 written by Garima.

(C) A newspaper report on the inauguration
of a new Corporate Office is written by
Garima.

(D) A newspaper report on the inauguration
of a new Corporate Office has been
written by Garima.

The following sentence contains grammatical
error or idiomatic error in it, You have to find
out that part of the sentence and choose the
i alphabet of that part as answer.

He has been causing trouble since a day he
came.

(A) He has been (B causing trouble
(C) sinceaday (D) he came

In the following question, part of th
sentence is underlined. Below are § .

N
?
&

ven alternatives to the underlined part at (A),
B) and (C) which may improve: the sentence.
Choose the correct alternative. In case no

JImprovement is needed, your answer is (D),
- Ananya told me that she was married four

(B) Fouryears ago
(D) Noimprovement

RTT
Eo]

CMES ~ 54
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g6, A fwar , feimen if st
a8, R ey,
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TR0 Tz § o o o vz 2
97. = F AN
———t it “

98, ST, S, T s g sk it
— L

)]
4¢f vma

'[Ehmﬂiﬁﬁﬁ

99. T W=l 1 wam ey A R A F fag
AR, A e v FEen |
(A) 3T
(B) wom
(C) ¥
(D) 378 & #1§ ¥

100. ‘STE =7 @1 99 fH FEFR
g 2 |
INEr
B .
h‘ﬁ J RG]
ORO!
(C) ¥7%
(D) §H HF
£
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Haryana Police Constable 1 Nov Evening (4th Paper)

Starting from point P Satish walked 20 metres
towards South. He turned left and walked
30 metres. He then turned left and walked
20 metres. He again turned left and walked
40 metres and reached at point Q. How far
and in which direction is the point Q from the
point P ?

(A) 20 m West
{C) 10 m East

{B) 10 m North
(D) 10 m West

isa 32-bitnumber, normally
expressed as four octets between

the periods.
(A) IP address  (B) Domain name
(C) Port (D) None of these

in India Right to Property is a
(A) Constitutional Right

(B) Both (A) and (C)

(C) Fundamental Right

(D) None of the above

Who among the following belongs to level Il in

the police hierarchy ? -
iﬂ%’ =

(A) Constabulary
(B) Director General of Police (DGP)

(C) Deputy Superintendent of Police (DySP) -
(D) Sub Inspector

If == =0.2689, then the value of

1
3.118 \b

—— g :
0.0003718 \$$
(A) 0.2689 (B) 2689 \

(C) 2.689 (D) 26890

Who wrote “Asthangasangraha” ?

(A) Vishnusharma
(C) Vaghbhata

(B) Varahamihira
(D) Vararuchi

In this question, two statements are given
followed by two conclusions, Choose the
conclusion(s) which best fit(s) logically,
Statements :

1, SomeAareT.

2. AllTisB.
Conclusions :

I. Some B is not A,

Il. No Ais B.
(A) None of the conclusion follows
(B) Only conclusion Il follows
(C) Only conclusion | follows
(D) Both conclusions | and Il follow

CMES - 54

1. fi p & v w0 weftm 20 4. 2fon i A =@ |
a;mgswmzommuﬁ(miga&?ﬂzoﬁ.
wer | 4% g At gz s 40 . = 3 fig
qa% wdan | fag p @ fig a e g 3 Frm
feen s @ ?

(A) 20, afvas (8) 1073, 3T
(c) 107t gd (0) 107+, 9fesm
2. u# 32-faz v 3, amrae. FaEfug &
e 9n 3eF % =0 4wy o A 2
(A) T8 At e (8) 2184 F19™
(C) a¥é (D) 34 4 #13 78
3. wna ¥ gufe &1 Afwn 2
(A) HauT At
(B) (A) 3K (C) 3 -3
(C) Hiter AferwR g%
(D) 39t ¥ & HIE 72 &

4. Fefafes 4 @ 95 ofoa e 5 1= d
MRANY

(A) GH1
ﬁémsmm gferg ()
) QU= 3T gfers (Zhuad)
(\ro(D) qF
X4 1 1
\\\5. e ——=0.2689, qft —— =15 =
o 3.718 0.0003718
(A) 0.2689 (B) 2689
(C) 2.689 (D) 26890
6. ‘orermEue’’ frma i ?
(A) fareoperi (B) =rEfER
(C) anye (D) Twf=
7 ga bC ﬁ%;; rm% ﬁgw g 3;
forsad | 3 frey
LR SRR AL
Shd § |
1. FSA, T
2 %?ﬁ T,B% |
| % B, ATE ¥ |
II, Y5 A, BIEI & |
(A) a1 | IS freend REETG
(B) haet || STET T B
(C) | T &
(D) | 3T 11 ST 1| & &
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8.

10.

11,

12.
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Which of the following ;
o g is

(A) Antivirus TN tYpe of Viryg 3

(B) File-infecting virus |

(C) Polymorphic virus

(D) Stealth virus

In which year India be

United Nations ?

(A) 1965 (B) 1945

(C) 1991 (D) None of the aboye

‘Inequality Report, 2021" : Ingia‘s e

Healthcare Story was releaseq by "

{A) Ministry of Home (B) NIT) Ayog

(C) UT Madras

came a Member of

(D) Oxfam Ingia,

Which of the following is an example
for day neutral plants ?

(A) Cucumber (B) Onion
(C) Carrot (D) Radish
What comes next ?

AN A D 2

(A) (B)

d
D

(C) (D)

Find the missing number. N\
gy
39 81
1 il
A) — Bl
W 6561 (E) 6461
1 1
e D) —
(C) (D) T

the memory manager places
ss in the largest block of unallocated
ilable.

(B) First Fit *

(D) WorstFit

s A E
_al
@A
P
(A)WW
(8)%‘6““
Q) S @ et 51 1
9. wa ¥ (8) 194° : 3 o A
(A} 1965 (D)gqﬁﬁ“ﬁ
(c) 1991 s 2021':@“‘“@3'75
g
(A) 'Iﬂmgﬂ (D) Wm%?
e T
11. ﬁqﬁ;f:; (B)m
‘(gw (D) T =T
O
12. sy for 1 &1
W D ?
=
S G (8)
O
>
() D (D)
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15. World No Tobacco Day is celebrated every 15. fovg darg Py Remafaad sy,
year on ST R |
(A) 2™ June (A) 2™ 3[4
(B) 3 April (B) 3" 3r¥e
(C) 31%May () 31" 7§
(D) None of the above (D) 390 H & FI3 TE
16. When IT Act, 2000 came into effect ? 16. am$d srfufiaw, 2000 F& ar] e ?
(A) October 17, 2000 (A) 17 AT, 2000
(B) November 11, 2001 (B) 11°19siT, 2001 -
(C) October 17, 2001 (C) 17 3ragaw, 2001 g@;
(D) November 11, 2000 (D) 117dsR, 2000 2310
17.  Marked price of an article is Rs. 275. Shopkeeper 17. T& &g &l HAfra qed %, 275 2 gHMHN 3Fﬁ
allows a discount of 5% and he gets a profit of 5% i BT 2a1 & 3N 3 4.5% =19 e 2, @
4.5%. The actual cost of the article is g = AT @ 1R 7
(A) 250 (B) 210 (A) 250 (8) 210
(C) 225 (D) 215 e (C) 225 (D) 215
18. How many odd days are there from Akl 18. 1 SHa{t 2011 ¥ 31 fe@a 2015 7% a4 faun
1* January 2011 to 31* December 2015 o ¥ g ) ?
(both day included) ? L . (st F 8 3
(A) Six (B) Five (AL (8) U
(C) Four (D) Zero 6@ =R (D) A
19. scheduling employs a technique 1&&5 : ‘:fl'{q[{‘*riﬂ T dh-l® @an & 99 2en
called time slicing. AR FEd # |
(A) Shortest Job First (SJF) Q@ (A) YR ITE H& (SIF)
(B) Round Robin e (B) TS e
(C) First Come First Served (FCFS) $$ ’ (C) B& +H B gae (FCFS)
(D) None of the above $ (D) 3 ¥ @ IS 7
20.  Amixture of 20 kg of spirit and water contains | 20, feifte 3 Tt ¥ 20 kg 3 frsror F 10% T 2 |
10% water. How much water must be added to ' e firerrn =i
this mixture to raise the percentage of water o A ar it e
to 25% ? foRTa 25% B ST ?
(A) 4kg (B) 30kg (A) 4 kg (B) 30 kg
(C) Ske (D) 8keg (C) 5keg (D) 8kg
21.  Who called architecture of Aihole as “Cradle 21, TR R ) A Y BRLGIRR e el
of Indian temple architecture” ? HIIFH A FEl 2?
(A) Huan-Tsang (B) Sulaiman (A) BCH-TGMT (B) gowmM
() iisrcy;lﬁrown (D) Max Muller (C) weff 539, (D) ¥ ewrt

X
22, ME@ 22. AZBYDWGT??
, /hat a Xt'two letters that shoyq ST et § s firvg & o qU -2 3

replace the question marks ?

(A) LP B)im e i
() kP (Blk@: 8 22; »L<i:> fg; :2'3
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What was the rank of |,
Hunger Index, 2020 ?
(A) 94!h
(c) 38"

2 n the Glgpy,

(B) 102ne

(D) None of the g,
0\'(\

24.

What is the number of pn;
DIG “ 2
cube can be cut by five cutsc?: (l;',“lo Which »
S g .

even cuts | : . One
and s in another dlrec_hOn . Irection

L} s (B) 35
S (D) 12

25, In Microsoft Excel to drag the selected cq|
‘ $ to

way' a different sheet, hold down the -
- Y and
%ﬁ% drag the selected area onto the sheet labe|

(A) Enter (B) Alt
(C) Shift (D) Ctrl

Military exercise of JIMEX is associateq
between India and

(A) Bangladesh
(C) China

26.

(B) US
(D) Japan-

27. Which of the following is true about KYC ?
i. The Reserve Bank of India advises banks
to make it mandatory for opening
accounts.

ii. Its full form is Know Your Customer.

iii. Low income group customers are O

A

exempted from submitting KYC. ¢
(A) Only i and iii (B) Only ii andii
(C) Onlyi (D) Allth ee

If 18 pumps can raise 2170 tonnes of water in
10 days, working 7 hours a day, in how many
days will 16 pumps raise 1736 tonnes, working
9 hours aday ?

(B) 6

(A) 9
(C) 7 (D) 8

The following become meaningful words, if
two letters interchange their places

I. LETRET Il. MIDELD
IV. PERDOI

28.

29,

lil. VISNOI

Join Telegram Group "Haryanadobs.in"

23,

24,

25,

26.

27.

\

il

28.

29.
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@t |
(A) Enter
(c) shift

xwﬂﬂm‘"‘"’“mﬁ':ﬂ‘)n'""""am:‘;I

JIME
(B) ITH
(D) A9

]  SrfrRa 3 & 1 9 & 7
iﬁﬁ%aﬁ,aﬁﬁm@aﬁm
\O mmﬁm%m%%l

7 =9 Al HEHL ' |

i ot ot o e o 3 &

AT |
(A) et § 3 i (B) Fa ii ST i
(C) ¥ i (D) wfi i
e 1899 Wfafed 7 & s e 10 T ° 2170 H
UMl e §hd &, al 16 U9 feq o 9 HE wH &
e ot 1736 < Ser@ ?
(A) 9 (B) 6
(C) 7 (D) 8

Feferiea o wnetes &% & 14T ®, e Q) 318w
ST TA JT0T oae o
. LETRET

: I,
Ui, ViNG MIDELD

IV. PERDOI
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30.

31.

32.

33.

35.

36.

37.
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Y
# afte # Fe forgg
i . @ \ 3 5%
In a galvanometer 5% of the total current C"; 30 e T 2 Aeaardiet &1 gl o N
the circuit passes through it if the res!s:a;:ce Ao foregd ST Wiy cs 3
of the galvanometer is G, the shunt resista HreaAmiet ¥ 95 (8] 1
S connected to the ga!vaﬂl:"‘“!?:;!(sr i3 (A) 206G 9G
(A) 206 bdiy G () G
&/ 6/ (€ AQ _ A/20
{0 Haq ©) Y50 syt 1 wT 304 foroa gafim 3
| 31, ‘
Section 304 of Cr.P.C. deals with (A) ﬁg{ﬁ <l AR
(A) Order of release (8) st &1 G
{(B) Protection of accused - © qrirq AT é}:ﬂ o
(C) Withdrawal of accusation b (D) fafeaa qrHAl H # Tt & ey 3 By
(D) Legal aid to accused at Stat€ RPHIES S A1 @]
certain cases X % B c 3 .
: i t . A B ﬁ a-g:" ' ) T:T Lot
A is twice as fast as Band BIS 'thqf/er?;:?ssw?lsl 3z ot Ly e & #1778 T Az R
C is. The journey covered by Cinln el ? "
be covered by Ain o . 15 firzs
: 15 minutes (A) 1920 (B) 15T
(A) 1 hour (8) . () 30%m
(C) 20 minutes (D) 30 minutes () 20 iil.IZ e
Critical angle of glass is 6, and that of water 33, M & §5|ﬁ| a;” I 91% . —'.W' Tié
is 8. The critical angle for water and glass GR;@‘(ETH W:Fl ST 17 2T
surfacewouldbe(pg=32,llw=%) §9g=32,uw=é)
(A) less than 8, (B) between 6,and 6, (b> (A) ezimw (B) 6, ﬁ’ 0,5%
(C) greaterthan ®, (D) lessthan 8, &‘0 (C) 6,8 Afer (D) 6,8
N § v
Who was the flag bearer at the opening 9 34. I ﬁl’l‘%ﬁﬂ, 2021 % JqHIE HHNR 7
ceremony of the Tokyo Paralympics, 2021 AU A 9 ?
(A) Bharatbhushan  (B) BhavinabesiPatel- (A) ST (B) wifeEA @
(C) Sumit Antil (D) Tek Chand . (C) gfta <ifaet (D) I&F =
Water logging in soil is avoided by use of 35. ﬁ%ﬁm Jammsfom_ 77
(A) Potash (B) Manure (A) ﬁﬁ;mm% I (8) W
(C) Zinc (D) Calcium (c) o= (D) ¥
The ratio of the amounts of A . ‘ L 2lE
the sum of their amount isa?ga%g' \3Nahr;c: i ?rf;?( B 3 TR BT 4 2 iﬁv/
amoulnt in rupees should A give B.to méke the 1A E. 700 21AB = el T
ratio1:17? TSt
: &l : ?
(A) 50 &) T 1 : 1 8 WY
() 200 150 (A) 50 (B) 150
(D) 100 (C) 200 (D) 100
Which of the followi , : A
Vatsalya” in order to help wgal &0 “Mission e vy Frafafag o @ #9-9 e ?
tl;etr husbands to COVID-1g7 1 Who lost T fdty e ‘e g’ el
(A) Maharashtra. (g) Haryang (A)
(C) Kerala D) None (BRI (8) sltﬂla' ﬁl A7
~ "'ihe apove (€) e (D) 3%

38.

39.

40.

41.

42.

43.

Scanned with CamScanner



Damaging Stage of '0
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(A) Larvae c(‘;ts is sS4
() Egg Caterpy)
- e (D) Nymphsars m.i& fagh oy wifrares FIE %(e) N
a |finacertain code - Wasm s Fzifie
39’ s, hen hos\', \SiH“')GE’ IS wrig s, @E’; oy (0y Fr i T
in that code ? LESSON 0N ag SR B
(A) OSLNES  Writte 39  #b Bra g2 |, ‘BRIDGE’ ! ‘GBDERY ferman
(B) o n . ufy o PR RS iy .
{C) OLSENS ( LSNEgg e & 230 42 3 ‘LESSON” 1 &8 foret smam ?
D) OLNSES (A) O‘S.LNES“ (B) OLSNES
10. By default, Microsoft word (200 (C) OLSENS (D) OLNSES
are saved with exten )3) d Umeny . :
(A) .doc VIO, | 40, urgpreia @€ (2003) TR IS
: (B) txt forrron 3 v el €19 2 |
(C) Xs (D) Ppt (A) .doc o}
4. The number of diagonals in a oct (C) xlIs (D) .ppt
380N will be ; £\ g it
(A) 16 (B) 28 41, @Wﬁﬁiﬁ“ﬁ 51 AT B
e 20 (D) 10 (A) 16 (8) 28
ch one of the foll (22 et
§2. Which one of the following is not an
of lgneous rock ? ample | 4, ffufd § @ FHA-E1 TF FEE TZH H
?
(A) Basalt (B) Granite e & (B) 3
; A) SEIE PRIES
{C) Gabbro (D) Limestone ((5?0% (D) < T
3. Who s the Vice-Chancellor of Lala Lajpat Raj a3 ®§WO # o SATel dea UF q@ﬁqu( =
University of Veterinary and Animal Sciences ‘ 5 39
E situated in Haryana ? \\\(00 mﬁaﬂﬁﬁ.[éﬂlau % IY-FAId B @ 7
(A) Harbajan Singh.  (B) Gurdial Singh ) p" (A) T T (8) T
(C) Ranapratap Singh (D) Arbindo SI@\ (c) Tromsay & (D) e e
4. The volume of the cylinder whose he@ht is 44, 3E S T TG Torehl 13 14 i TR =R
14 cm and diameter of base 4 cm is &1 =4 4 9t ®
(A) 352 cm? (B) 176 cm? (A) 352 G (B) 176dH®
(€} 196 cm? (D) 276 cm? (C) 196§t (D) 276THE
5. In 2 certain language, PYRAMID is coded as | 4 Ly ﬁf\’?ﬁ T ﬁ%::mwgﬁ 162;811;291:
- 16251811394, DEAR is coded as 45118, then Ll STl ®, DEAR .
EG will be coded as Fea, fohan ST 8, @ KING =i ER
t7 e, feran s |
1 (B) 119417 (A) 191147 (B) 119417
(D) 111947 (C) 119147 (D) 111947
46. TEYTHTH, (WML) F1 Haers 8
5 ‘pmgua A (A) aTters Ardharg e
| ‘ (B Wﬂ ﬁ ga
‘Language )
L () i S
(D) 9 wrhary S
7 | Y20
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47. Uruguay Round negotiations aré related to

(A) UNCLOS (8) WTO
(C) BRICS (D) SAFTA

48. Cyclical changes during reproduction in COWS
are called

(B) Oestrus cycle
(D) Sexual cycle

(A) Asexual cycle
(C) Menstrual cycle

A number exceeds its one-seventh by 84. The

number is
(A) 14
(C) 196

49.

(B) 12
(D) 98

50. The Great Depression began in

(A) 1920 (B) 1926 -
{C) 1945 (D) 1929

Neena returned house after 3 days earllf’er than
the time she had told her mother. Neena’s sister
Veena reached five days later than the day Neena
was supposed to return. If Neena retu;ned on
Thursday, on what day did Veena’return :

(A) Sunday (B) Friday

(C) Saturday (D) Wednesday

51.

52. Which of the following is the water

conducting tissue in plants ?
(A) Collenchyma (B) Xylem
(C) Phloem (D) Parenchyma \2\,8

53. Complete the following analogy :
20:11::102:7? :
1 (Af 49 * 2

(C) 52

(B) 98
(D) 61

54. sends the appropriate funds for the

transaction to the Credit Card Network which
passes the funds to the Merchant’s Bank.

(A) International Standard Organization
(B) National Merchants Association

(C) Indian Customer Association

(D) None of the above

35.  National Bank for Agriculture and Ryr|
Development (NABARD) is fully owna
(A) Reserve Bank of India y Med by
(B) State Bank of India
(C) Government of India
(D) None of the above
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(8) ‘;‘:;7;'"1‘”%:;’;_

(D) 55

) AT

(c) foree
rdt & g9 F

47.

m —a‘l:;? 7::’4’3: ,-;;3

(B) T4
o 1 H 84 =

s gA Aﬁa &
(42

(A) 14 e ;
(€) 196 a

D
49. .

qgr:m‘ﬁ____.___qu’:_’f
(A) 1920
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() CFCand SO, (D) CO,and 0, () CEG 3RS0, (D) co, 30,
AO)
5 The world’s second largest producer of fruits | 75, %ﬂ?@nmw Hed 3R sl 3RS 2
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Identify the true statements about Speaker of

Lok Sabha.

(A) He maintains the dignity and decorum of
the house. ;

(B) He cast his deciding vote when a bill
gets equal number votes in favour and
against of it,

(C) He is elected by the members of the
Lok Sabha.

(D) All the above

O
‘The Darwin of the 20™ century’ was E*J‘%%
(A) Dan Brown (B) Ernst Mayr.
(C) Robert Coch (D) Albert Ainstein

Who among the following is appointed as the
first Chief Scientist of World Health Organization
(WHO) ?

(A) Neelam Kler

(B} Kamini A. Rao*

(C) Soumya Swaminathan

(D) None of the above

The total number of members appointed by
President to Rajya Sabha is

(A) 12 (B) 06

(C) 05 (D) 01

1-12-91 is the first Sunday. Which is the fourth
Tuesday of December 91 ?

i ) vEaH it
i e AR A G |
(8) 8 3N Foria Ate T ST § 5 fieh
ﬁﬁﬁmqaaﬂtﬁwﬁmmﬁ
are faara 8 |

(©) na}ﬂm%mmﬁe‘m% l

(D) F7irR @it
go, ‘2071 wrared ¥ wifa’ FR S &

79.

A) &7 F13A (8) WW
iC) Jad Fra (D) e AR
% & ford forga Tameed 9734 (WHO) 3
= mmﬁmmw%?
(A) HreH
(B) A T TS
(C) dren WHHTIA
(D) 3a § A 13 &
82. qgdfd g UsaEdl & forg e we=t 1 3w
TR
(A‘ﬁ (B) 06
05 (D) 01

8 BQ-12-913ﬁqsalrﬁaT(m | o=t 91 =1 <ty
QY HTeER e g ?

(A) 31-12-91 (8) 17-12-91 £ () 311201 (B) 17-12-91
(C) 24-12-91 (D) 26-12-91 ot (C) 24-12-91 (D) 26-12-91
The percentage of animals species are $ . 84. 3Infl =& INeiRaq sfig Sttt ht wiasraan

recorded so for
(A) More than 10% $
(B) More than 50% -

(C) More than 70%

(D) More than 30%

Consider the following statements about
“Notifiable disease”,
I. A notifiable disease is any disease that
is required by law to be reported to
m ,gzvernrt?entla:thorities.
- International Health Regulati
of WHO requires diseasi repgpt?ﬂﬁgg
the WHO in order to help with its u(0pal
surveillance and advisory roe, f
Choose the right option given b,ela"w
(A) Both the statements | and‘,u:a-'f’ '
(B) Only statement | s COﬂ'&ﬁ b e grone
(C) Only statement I is corre
(D) Both the statements léﬁ I

(A) 10% & Aftrn
(B) 50% & ftrn E
(C) 70% & 3ftrn %—%‘3‘
(D) 30% & e e
85. ‘gErfta I ko FrfeiRae wer w =R Rt |
|. T g O g @ Wl g wn
wiftrerTiEt Y gferd e s |
Il. WHO & sieieda wameen fafmm, 1969
aﬁéfﬁmﬁfmﬁaﬂtwms@mgﬁa
gﬂmﬁgm%%ﬁwmaﬁmm
|
ﬁqwﬁmﬁéwmgﬁm
(A) e | 31K 1| 1 srgey §
(B) hael A | Heq &
(C) o FU || 5eg B
(D) ¥ | 3R || St Ty &

2
r\{/\ 13 N
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86. People who come togety %q@ﬂ‘”
scheduled event are ¢ er for 5 regulan M%
(A) Crowd A ed o e a &
Sourcing 86. ffyasdd @mg
(B) Acting crowds o it B F
(C) Conventional Crowds A 1ft§:ﬁ
(D) Casual (8) I
crowds (©) nmﬁ;{,‘ﬂg a ?ﬁiﬂ"“ﬂ
) !
87. V:hen the price elasticity of demang (D) SR &3 ot
than ' ~end s o :
* Pon‘e,‘ Marginal Revenye has a IS more 87. wa utn A M% W i
ositive value (B) Negative Sitg -0 qﬂ/ (8) ﬁ'dﬂﬂﬂ
(C) Decreasing value (D) Constant valye ,L (A) HATHS (0 ﬁﬂ‘w
e () e T 3 % fa
Direction Q. No. 88 - 90 : Study the following vy . 88 -9 el #
information carefully and answer the questions w 'ﬁﬂﬁﬂm
given below : 1 I AH el ﬁagsﬁﬁﬁ'ﬁﬁ N
PQR,S TV, Wand Z are eight friends studyi V, Wamz:mz
: : ) ylng P; QI Rr SI TI ’ aqu W’
in three different engineering colleges — A B 3 d > # i ¢ 12 ®
: k) _ »Band C | g p, B ARC g A
in three disciplines — Mechanical, Electrical and ’

a A 8
Electronics with not less than two and not more SSEAIE ’ﬁﬁﬁa aﬁ?ﬂqa Fﬁﬂqﬁﬁ

than three in any college. Not more than three | % I?ﬁzﬁﬁﬁ@,ﬂm m%aﬁﬁ T%ﬁm.&h
of them study in any of the three disciplines. RE \Bﬁm

5 qga AN
W studies Electrical in college B with only T who £ A ‘TW% | p 3R A ISR c# 7
studies Mechanical. P and Z do not study in college C > {ﬁﬁ\@m | IR, -caccol
and study in same discipline but not Electrical. Wﬁwq@aéé"a”

2
R studies Mechanical in college C with V who studies_ [y siast CH W%’ vﬂam'ﬁﬁﬁ"ﬁm‘jﬁn
Electrical. S studies Mechanical and does not stl@\ u JRUS W%aﬂt:ﬂ?ﬁﬁmﬁﬁmm R gl

in the same college where R studies. Q does:not

study Electronics. ’ 3 | Q3o e el |
88. In which discipline does Q study ? 88. QW:WWW% ?
[E#ME (A) Datainadequate (A) TR AT &
@é} (B) Electrical (B) Foifdeeher
(C) Mechanical (C) Hehfaret
(D) Electrical and Mechanical (0) RfREw otk A freper
89. In which of the colleges at least one student 89. 2'7-@ Ficro § wy 1 T Reeff
studies in Mechanical discipline ? (A;l?g‘:m% ? : Herfranet
dC d A
(A) Aonly (B) AllA,Ban B (8) A, B
(©) Bonly (0) Conly (© ¥ g 3wy

o0, Fein (D) Ha ¢
~ T =

(B) CR ¥Ry
O) 8wy

90. Which of the following combinations of
college-student—speciaIisation is correct ?.
(A) B-W-Electrical (B) C-R-Electromfs
(C) A-Z-Electrical (D) B-W-Electronics

P 13-
o

S
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% CMES -5
2=t ardl
English Language o> g %ot e e S
_ S & 79T, 3IU291, IEER AT Fl 9y
91. Choose the right synonym of the given word, 9%. o 3l
DECORUM g
(A) Demise (B) Forgery (A) dvTEATd
(C) Conclusion (D) Decency agp—
92. Fill in the blank with right form of the word (C) Geerd
given in bracket from the alternatives given (D) ma‘ﬂﬁ =
below it.
Healthy young women of great beauty and 97. Tt FEa YFTF S |
tastes are honoured everywhere ’ ° e
(delight). (A) 919 o d
(A) delightedly (B) delight (B) A LoeiE
(C) delighted (D) delightful (©) d
93. The given idiom followed by four alternative (D) IR
meanings. Mark the one which you think is
the most appropriate. s ﬁ(\ , e T I L |
Put one’s foot down ‘?
(A) to do something stupid Ofa) w¢
(B) to be firm in opposing something @Q(b (B) ANTEG
(C) todemand .
C) R
(D) to take rest "b<§ 2 i3
94. The following sentence contains gramn&g&l (D) ¥ I3 Tl

error or idiomatic error in it. You ha find SR
99. 3 firm-firs =ivql % wew A =
out that part of the sentence and ose the _—

alphabet of that part as the answer. SASH FEd § |

India needs win the battle of minds within the (A) fe

country before trying to justify itself in the (B) STeqyoy

eyes of the world. X

(A) No error (C) wgF

(B) India needs win the battle of minds (D) ™R HIE T

(C) within the country before trying

(D) to justify itself in the eyes of the world 100. o 3 ) fifey femas w

95. Fill up the blank in the following sentence FEd E |
using the verb forms of the worg given in (A) 318y
bracket from the alternatives given below it. (8) St
Dew _ (moist) the grass at night ?%\'% ,

(A) moistish (B) moist i (C) e

(C) moistness (D) moistens (D) $T8 & d 7

44,
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